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#� -�� �	� ��
��	� ������ 	� �� ���	��& .	�� �����������& ��� �����	�� �� � ������& .�	�� 	�
���� �� ��� ����� �� ���������& 	� ����� �� ���	��� � ����	%���	��� /� ����	�
��� ���� ��� �������	0�� ��� ���������	0�� ������� .	�� ����	�� 	�������	�� ��
��� "!
� -�� ����	%���	��� �� .��� �� ��� ����������	�	�� �������	��� ��� ���
�����������  �������������� �� ������ ������& �����	� �������# ��� ���������
.	�� � ���	����� ��$	� * ��� ����� µ���������� -�� ����	�� 	�������	�� �� ���
�����	��� �� ��� "!
 	� ������� .	�� �� ������	�� �� ��	� ��$	� .�	�� ���
��. �� ������� ��� ����� ���	�� �� ������������ ������ ��� 	��	��	�$�	������
������� /� ���. ���� ����� ������	��� ��� ���	����� �� .��� �� ��� �������
�	0�� �������� /� ����� ���� ��� ���������	0�� ������� .	�� ������������ ��
	��	��	�$�	������ ������ 	� �����	������ /� ���	�	� �.� ����	����� ����� ��
���������	0�� ������� ���� ��� ���	�����  �����	��	�� �� ��� ����	%���	��� ��
�� ��� ������	���	���#� 1	�����& .� ���. ���� ��� ������	��� �� ��� �����
µ��������� ���� ����	� �� ������� ������������ �� 	��	��	�$�	������ �����	���
��� �����	����� ��$	���
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����� ����� 
��	������(���D� 2� ������� ������
�� C	� �	������D ��� ��	��
�� �	��7�����(�� 
�� �	��	�������� 
!�� �,� 
�
�
� ��� �� �	��������
*�
 �����
�� �!	�������� 
� �����
�� ���������� �	������(���� "	��� 
���
F0J>��G$ �� ������� ������
�� ��� 
�
 
� �
 �	��� �� ��	
�
� 
� 
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��

�����	�
� %& &� �	
� P = 〈A, Λ, S, s0, e, λ〉 �� P ′ = 〈A, Λ, S ′, s′0, e
′, λ′〉 
��6

��	������� 2��� ��	
�
� P × P ′ ��� �� ��	������ 〈A, Λ, S × S ′, (s0, s
′
0), e ×

e′, λ′′〉 	Q λ′′(s, s′) = λ(s) ∪ λ′(s′) �� e × e′((s, s′), a) ��� 
� �
 �� �%��� �
(e(s, a), e′(s′, a)) �
 �� ��������� �
 a ∈ DP (s) ∩ DP ′(s′)�

0
��
$ �
 P ��� �� �,� �� P ′ �� �	�������$ 
��� �!���� (s, s′) 
� �������
������
�� P × P ′$ �� �	�������� �����
�� �!	�������� 
!�� ��������� a ∈ A
�
 �� �����
�
	� e′(s′, a) �!��� ��� 
� �
� <	�	�� *�!���� ����� 
� �
�
	� ��
�	������ ���� =��� ��	��
��� ��� ��� ���������� �����
��� ��� �� �	��������
������� 
����
�� 
� �	��	������� �����
��� 
� �,��

<	�� 
� �
��	�� ��
������� ��� �����
	� ��� ��� ��	������ *�
 �� �	��
��������� 
� �	������ ��� �	��	�������� 
�� ��	������ ��� �� ��
���

�����	�
� %& &� �	
� P = 〈A, Λ, S, s0, e, λ〉 �� P ′ = 〈A, Λ, S ′, s′0, e
′, λ′〉 
��6

��	������� :� �	�� P ≤ P ′ �
$ �	�� �	�� ���� ������
(�� (s, s′) 
���
� (s0, s
′
0)


� ��	
�
� P × P ′ C
��� 
� �6
��� u ∈ A∗ ��� *�� e × e′((s0, s
′
0), u) = (s, s′)D$ �


e(s, a) ��� 
� �
 ��	�� e′(s′, a) ��� 
� �
 ��$ 
� ����$ λ(s) ⊇ λ′(s′)�

)�
�
��	�
� %& &� ≤ ��� �� ���	�
���

)����� 
 �	
� P = 〈A, Λ, S, s0, e, λ〉$ P ′ = 〈A, Λ, S ′, s′0, e
′, λ′〉 �� P ′′ =

〈A, Λ, S ′′, s′′0, e
′′, λ′′〉 
�� ��	������� ≤ ��� ��

������ ��X�6
��� 3	���	��

*�� ≤ ��� �����
�
��� ����	�	�� *�� P ≤ P ′ �� P ′ ≤ P ′′� �	
� (s, s′′) �� ����

� P × P ′′ ������
(�� 
���
� (s0, s

′′
0) ���� �� �8��
� u ∈ A∗ ��� *�� e(s, a) ���


� �
� ��
�*�� P ≤ P ′$ 
� �6
��� �� ���� s′ ��� *�� e′(s′0, u) ��� 
� �
 �� �%���
� s′ �� e′(s′, a) ��� 
� �
� ��
�*�� P ′ ≤ P ′′$ e′′(s′′, a) 
	
� =��� ����
 
� �
� ��
����$ λ(s) ⊇ λ′(s′) ⊇ λ′′(s′′)� �	�� P ≤ P ′′� �

E� 	��
� �����
*�� �	�� �	������ 
�� ���	����� ��� �� �	�
	� 
� (
�
��7
���
	� *�� �	�� ������	�� 
�
 �	�� ��� ��	�������

�����	�
� %& & �	
� P = 〈A, Λ, S, s0, e, λ〉 �� P ′ = 〈A, Λ, S ′, s′0, e
′, λ′〉 
��6

��	������� :� 

� *�� P �� P ′ �	�� �� �
�
��
��
�	 	� �
�
�

�
���$ �� 	� �	��
P =b P ′$ �
 
� �6
��� ��� �����
	� R ⊆ S × S ′ ��� *�� (s0, s

′
0) ∈ R ��$ �	��

�	�� (s, s′) ∈ R �� a ∈ A$ 	� � λ(s) = λ′(s′) �� )
Y �
 
� �6
��� s1 ��� *�� e(s, a) = s1$ ��	�� 
� �6
��� s′1 ��� *�� e′(s′, a) = s′1
�� (s1, s

′
1) ∈ R�

Y �
 
� �6
��� s′1 ��� *�� e′(s′, a) = s′1$ ��	�� 
� �6
��� s1 ��� *�� e(s, a) = s1

�� (s1, s
′
1) ∈ R�

��
�*�� ��� ��	������ �	�� 
�� ���	����� 
�����
�
����$ 	� ���� �
������
���
 �� �� ����� ����&�

*���� %& &! P �� P ′ �	�� (
�
�
��
��� �
 �� ��������� �
 P ≤ P ′ �� P ′ ≤ P �
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�� �������� ������
��� �� �� �	������(
�
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�� ����������� �� �!�%
� 
� 
� �
� 
�� �����(��� 
� ��	������ %�T�� �� μ�
��
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 ����
 
���	
�
� ��� FH	B+�G C�	
� ����
 F0<��GD� 2� μ7������ �	
��
�	�� ������ 
� ����
�� �� �	���� ��� �	��	�������� 
� �
� 
�� ��	������
�� �	���� ��� ����
 ���
	�� ��%��
����� "!��� �	������� ��� %������
���
	�

�� �	��	�������  �
� ��%��
��� ���

�� 
��� F5>+9G ��
� ����
 
�� �	%
*���
����	������ CTL F",+�G �� CTL∗ F,U+'G� "�� 
���
���� ����� 
�

��� �� ����
�	����� � �!���
� 
�� �������� �����
-� F3�9�G$ �!��� � 

�� � 
�� ��������
�	
��
����$ ��� ����� �	��	�������� 
� �
�$ �!
�������
	� ���������� ����
���� ���
�	��������

"	��� 
��� F0J>��G$ �� �
�� 
� 
� �
� �� �	%
*�� 
� μ7������ �	
��
�� �	� 
����������
	� ��� ��� ��	������$ �	�� ��
�
�	�� �� -	����
��� 
�� ��7
�	�����$ ���� �	����� ��
�
�� �	�� �	�����
�� 
�� ��	��
���� 
� 
��
�
	� 
��
�	%
*���� <	�� 
� �
��	�� 
��� �� ����
� ��� ��
����� �� �	�
	� 
!���	����
�
���� �	�����	�
��� � �� �	�
	� 
!���	���� ��������� ��� ��� ��(��� 
� 
�%��
(	��� C��� �!���8�(�� 
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	� 
� ������ 
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�� �
�
	� 
!�� ���	���� �
���� ��

��� �� ������ �!�� �������� 	�����

�����	�
� �&�&� E� �������� �
��
� ��� ��� ��	������ ��� �� ����� )

A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉
	Q Q∃ �� Q∀ -	����� ��� ����
�
	� 
� �!�����(��  �
 
�� ����� Q �� �����
�6
�����
�� �� ��
������� Acc ⊆ Qω ��� �� �����(�� 
� ��
��� 
� �
�� 
!�����
*�� �	�� �����	�� �� ��	�
�
�	 ����������
�	� 2!�����(�� A 
�� ���
	�� ���
�!�����(�� 
�� 

����
	�� 
��� ���*������ �!���	���� �M����� ��� �������� 2!����
q0 ��� �!���� 
�
�
�� 
� �!���	���� �� δ ��� �� -	���
	� 
� �����
�
	� 
� �
�
�	��� ��
� )

δ : Q × 2Λ → P
((

A × Q
) ∪ ({ε} × Q

) ∪ (
A × {→ , � }))

:� �	�� AUTO(A, Λ) �!�����(�� 
�� ���	����� �
����� ��� �!���8�(�� A
���� ��	��
���� �	����� ��� Λ�

+
	�	�
� �&�&� �
 �	�� �	�� q ∈ Q �� �	�� �	�� E, E ′ ⊆ Λ$ δ(q, E) =
δ(q, E ′)$ 	� �	���� A = 〈A, Q, Q∃, Q∀, q0, δ, Acc〉 ��

δ : Q → P
((

A × Q
) ∪ ({ε} × Q

) ∪ (
A × {→ , � }))

"!��� �� ���$ ����� �����$ �	��*�� Λ = ∅�
+
	�	�
� �&�&� �	�� �
���
 �� ��� ���
�����$ �	�� �	���	�� →a �� �a ��
�
�� �������
������ 
� (a,→ ) �� (a, � )�

2� ������
*�� 
!�� ���	���� �
���� ��� 
���
�� 
��� �� ����
� ��� %�T�� � ��
�	�
	� 
� ?�� 
� �
 
��� �� ����
� ���� 3�
� �	�� ����
�	�� �	�� 
!�(	�
 ��
�	�

�
	� 
!��������
	� 	� ��	�
�
�	 
	�	
��
�� Acc�

��� "��������	 �!����������� Acc

<	�� ������	�� 
�
 ��� ��
��
����� -	���� 
� �	�

�
	� 
� �
��
�� Acc 
���
�� �8�	�
� 
�� ���	������ <	�� ����	���	�� ��� �� ��
�� *�� Acc ��� �!��� 
�
��� �	�

�
	��� <	�� �	���	�� 
��� ����� ����
� *�!
� ��� �	��
(�� 
� 
� �
�
��� �	�

�
	�� 
!��������
	�� ��� 
�� �	�(
��
�	�� (		������� 
� �	�

�
	��
�
������

�����	�
� �&�&� �	
� p = s0s1s2 · · · sn · · · ∈ Sω� :� �	�� Inf(p) �!�����(��

�� ����� 
� �8��
� p *�
 ������
����� 
� �
���� �	������



�+ ����
 ���
	�� ) μ7������

Y Acc ⊆ Sω ��� ��� ��	�
�
�	 �� ����
 �
 
� �6
��� F ⊆ S ��� *�� )

Acc = {p ∈ Sω : Inf(p) ∩ F �= ∅}

Y Acc ⊆ Sω ��� ��� ��	�
�
�	 ��  ������
 �
 
� �6
��� F ⊆ S ��� *�� )

Acc = {p ∈ Sω : Inf(p) ∩ F = ∅}

Y Acc ⊆ Sω ��� ��� ��	�
�
�	 �� !��
	 �
 
� �6
��� 
�� �	����� (R1, G1)$
(R2, G2)$� � � $(Rn, Gn) ⊆ S × S ��� *�� )

Acc = {p ∈ Sω : ∃i.Inf(p) ∩ Ri = ∅ �� Inf(p) ∩ Gi �= ∅}

Y Acc ⊆ Sω ��� ��� ��	�
�
�	 �� "������ �
 
� �6
��� 
�� �	����� (R1, G1)$
(R2, G2)$� � � $(Rn, Gn) ⊆ S × S ��� *�� )

Acc = {p ∈ Sω : ∀i.Inf(p) ∩ Ri = ∅ 	� Inf(p) ∩ Gi �= ∅}

Y Acc ⊆ Sω ��� ��� ��	�
�
�	 �� ���
�� #�� �� $����%�&
' �
 
� �6
��� ���
-	���
	� r : S → N ��� *�� )

Acc = {p ∈ Sω : Maxq∈Inf(p)(r(q)) ��� ��
�}

Y Acc ⊆ Sω ��� ��� ��	�
�
�	 �� $�

�� �
 
� �6
��� F ⊆ 2S ��� *�� )

Acc = {p ∈ Sω : Inf(p) ∈ F}

�����	�
� �&�&� :� 

� *�!�� ���	���� �
���� ��� �� ���	���� �
���� 
�
"	71Z�8
$ 
� 1Z�8
$ 
� �������$ ������ �
 Acc ��� ��� �	�

�
	� 
� "	71Z�8
$

� 1Z�8
$ 
� �������$ ������

�
 Acc = ∅ 	� 

� *�� �!���	���� ��� � �	�

�
	� 
!������
(
�
���

�����	�
� �&�&� �	
� B(S) �!�����(�� 
�� �	�

�
	�� 
� ���
�� 
� �� -	���
r : S → {1, 2}$ ������ ���
�� 
� 1Z�8
� �	
� C(S) �!�����(�� 
�� �	�

�
	��

� ���
�� 
� �� -	��� r : S → {0, 1}$ ������ ���
�� 
� "	71Z�8
�

�	
� I �� J 
��6 �����(���  �
� �� �	�� �	�� i ∈ I �� j ∈ J $ Xi,j 
��
�������� 
� (B(S) ∪ C(S))� :� �	�� Inf(p) �

∨
i

∧
j Xi,j �
 
� �6
��� i ∈ I ���

*�� �	�� �	�� j ∈ J $ Maxq∈Inf(p)(Xi,j(q)) ��� ��
��
Acc ⊆ Sω ��� ��� �
���	��
�	 �� ��	��	��
�	� �� ���
�� �� ����
 �� ��

 ������
 �
 
� �6
��� �� �����(��  �
 
� -	���
	�� {Xi,j} ⊂ (B(S) ∪ C(S))
��� *�� )

Acc = {p ∈ Sω : Inf(p) �
∨
i

∧
j

Xi,j}
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�
	�� 
!��������
	� Acc �9

)�
�
��	�
� �&�& 

Y Acc ��� ��� �	�

�
	� 
� ������ ���� n ��
��� �
 �� ��������� �
 
� �6
���
bi ∈ B(S) �� ci ∈ C(S) �	�� i = 1, 2, . . . , n ��� *�� )

Acc = {p ∈ Sω : Inf(p) �
n∧

i=1

(ci ∨ bi)}

Y Acc ��� ��� �	�

�
	� 
� 5�(
� ���� n ��
��� �
 �� ��������� �
 
� �6
���
bi ∈ B(S) �� ci ∈ C(S) �	�� i = 1, 2, . . . , n ��� *�� )

Acc = {p ∈ Sω : Inf(p) �
n∨

i=1

(ci ∧ bi)}

Y Acc ��� ��� �	�

�
	� 
� ���
�� 
��� {0, 1, . . . , 2n} �
 �� ��������� �
 
�
�6
��� bi ∈ B(S) �� ci ∈ C(S) �	�� i = 1, 2, . . . , n ��� *�� )

Acc = {p ∈ Sω : Inf(p) � bn∨ (cn∧ (bn−1∨ (cn−1∧ · · ·∧ (b1∨c1) · · · )))}

Y Acc ��� ��� �	�

�
	� 
� 3����� �
 �� ��������� �
 Acc ��� ��� 

�?	��7
�
	� 
� �	�?	���
	�� 
� ���
�� 
� 1Z�8
 �� 
� "	71Z�8
�

)����� 
 ���� �� ��� 
�� �	�

�
	�� 
� 5�(
� �� 
� ������$ 	� 

���
 � Ri

� c−1
i (1) �� Gi � b−1

i (2)�
���� �� ��� 
!��� �	�

�
	� 
� ���
�� r$ 	� 

���
 � r−1(2i) � �!�����(��


�� q ∈ b−1
i (2) ��� *��$ �	�� �	�� j > i$ q /∈ b−1

j (2) �� 	� 

���
 � � r−1(2i−1)

� �!�����(�� 
�� q ∈ c−1
i (1) ��� *��$ �	�� �	�� j > i$ q /∈ c−1

j (1)
E�� �	�

�
	� 
� 3����� F ⊂ 2S ��� �*�
������� � �� �	�

�
	� )

∨
E⊆F

cE ∧
∧
q∈E

bq 	Q cE(q) =

{
0 �
 q ∈ E
1 �
�	�

�� bq(q
′) =

{
2 �
 q = q′

1 �
�	�

�
 Acc ��� ��� 

�?	���
	� 
� �	�?	���
	�� 
� ���
�� 
� 1Z�8
 �� 
� "	71Z�8
∨
i

∧
j Xi,j ��	�� 	� ���� �!

���
 �� � �� �	�

�
	� 
� 3����� F ��
������

E ∈ F �
 �� ��������� �
 
� �6
��� i ��� *�� �	�� �	�� j$ 	� �

E ⊂ X−1
i,j (0) �
 Xi,j ∈ C(S)

E ∩ X−1
i,j (2) �= ∅ �
 Xi,j ∈ B(S)

�
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� ?�� *�� �	�� 
� �
��	��

��� ����� ����
	��

�����	�
� �&�&� E� ?�� G ��� �� ����� 〈V0, V1, Edge, Acc〉 	Q Edge ⊂ (V0∪
V1)

2 �� Acc ⊂ (V0 ∪ V1)
ω ��� �!�����(�� 
� �
����� �� �	�

�
	� 
� %�
��

〈V0 ∪ V1, Edge〉 ��� �� %���8� 
	�� ��� �	����� �	�� ����
�
	���� ����� ���6

� ?	���� 0 �� ���6 
� ?	���� 1� :� 

� *�!�� �	���� v′ ��� ���������� 
� v
�
 (v, v′) ∈ Edge�

�����	�
� �&�&� E�� ����
� ����� ��� ?	���� 0 �� 1 
���
� �� �	���� v ∈
V = V0 ∪ V1 ��� 
� �
� �	��� ��
� ) �
 v ∈ Vi ��	�� �� ?	���� i �8	
�
 ��
���������� �� �� �=�� ��%�� �!����
*�� �� ���������� 
� v 
� �
����� �
��

��� ����
� *�
 �!���=�� ��������� �
 �!�� 
�� 
��6 ?	����� �� ���� �8	
�
�
�� ����������� 2� ?	���� *�
 �� ���� ��� �8	
�
� �� ���������� � ���
�� 2�
�������� 
!��� ����
� 
� �
� ��� �� �8��
� 
� �
 v0v1v2 · · · ∈ V ω� "���� ����
�
��� %�%����� �	�� �� ?	���� 0 �
 v0v1v2 · · · ∈ Acc �� %�%����� �	�� �� ?	����
1 �
�	��

�����	�
� �&�&� E�� �������
� v �	�� �� ?	���� i ��� ��� -	���
	� *�
 ���	�
�
� �	��� ��
��  �
� 
� �	����� �vv ∈ V +  �
����� 
��� �� �	���� v ∈ Vi ��
���������� s(�vv)� E� ������%
� s ��� 

�� ���
�
�		�

� �
$ �	�� �	�� �v, �w ∈ V ∗

�� v ∈ Vi$ 	� � s(�vv) = s(�wv)� E�� ������%
� �	�
�
	������ ��� ��	�� 

���
 ��
� ��� -	���
	� s : Vi → V �

E�� ����
� ������
�
� ���� ��� ������%
� s �	�� �� ?	���� i ��� ��� ��
��
v0v1v2 · · · ��� *��$ �	�� �	�� vj ∈ Vi$ vj+1 = s(vj)� 2� ������%
� s ��� ���	�	��
�	�� �� ?	���� i 
���
� �� �	���� v �
 �	���� ��� ����
�� 
���
� v �	����
(���
���� s �	�� %�%������ �	�� �� ?	���� i� E� �	���� v ��� %�%���� �
 
� �6
���
��� ������%
� %�%����� 
���
� v�

�����	�
� �&�& E�� ������%
� ���� �!8
��	
�� H �	�� �� ?	���� i ��� ��
��
���� 〈σ, hist, h0〉 ��� *�� σ : Vi × H → V $ hist : H × V → H �� h0 ∈ H �
:� �	�� hist∗ : H × V ∗ → H �!�6����
	� 
� hist ��� *��$ �	�� �	�� h ∈ H $
�v ∈ V ∗ �� v ∈ V $

hist∗(h, ε) = h �� hist∗(h,�vv) = hist∗(hist(h,�v), v)

:� 

� *�!��� �����%
� ���� �!8
��	
�� H ��� � ���	
��  �
� �
 H ��� ��
�����(��  �
�



#�� 
!��������
	� 
!�� ���	���� �
���� ��

2� ���� 
� h0 �� 
� hist ��� 
!�(����
�� �����
��� 
�-	����
	�� ��� *�!� �8�*��
��
�� �v ∈ V ∗ 	� ���	�
� �� ���	
�� hist∗(h0, �v)� 2� -	���
	� 
� �8	
6 σ 
� �
�
��	�� ��� ������%
� s(�vv) = σ(v, hist∗(h0, �v))� �
 
� �!� � ��� 
!��(
%�[��$ ���
�(�� 
� ���%�%�$ 	� ��������� σ �� ������%
�� <	�� �����
���	�� ��
�������
�� �������� �����
*�� 
� �� �8�	�
� 
�� ?��6 C�	
�$ ��� �6�����$ F1��+�$ IU+�$
/8	9�$ ,#9�$ 0<��GD�

,-�
���� �&�&! �	
� �� ?�� G ���� �� �	�

�
	� 
� %�
� Acc�
�
 Acc ��� ��� �	�

�
	� 
� 3����� C�	
� 
� �
�
	� �����D$ ��	�� G ���


�����
��$ 
���$ �	�� �	���� ��� %�%���� �	�� �!�� 
�� 
��6 ?	������ ��
����$ 
� ��� 
��

�(�� 
� ���	
� �	�� *��� ?	���� �� �	���� ��� %�%�����

�
 Acc ��� ��� �	�

�
	� 
� ���
��$ ��	�� 
� �6
��� ��� ������%
� %�%�����
�	�
�
	�������

��� #�� �!����������� �!�� �������� 	�����

�����	�
� �& &� �	
� A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� �
����
�� P = 〈A, Λ, S, s0, e, λ〉 �� ��	�������

2� ��� ����������
�	 G(A, P ) = 〈V0, V1, Edge, AccG〉 ��� �� ?�� ��� *�� )
Y 2!�����(�� V0 
� �	����� �	�� �� ?	���� 0 ��� (Q∃ × S) ∪ {⊥}�
Y 2!�����(�� V1 
� �	����� �	�� �� ?	���� 1 ��� (Q∀ × S) ∪ {�}�
Y ����
� �8�*�� �	���� (q, s)$ �� �	�� �	�� (a, q′) ∈ δ(q, λ(s)) 
� � � ���
��=�� 
��� Edge ���� (q′, s) �
 a = ε �� ���� (q′, e(s, a)) �
 a ∈ A ��
e(s, a) ��� 
� �
�

Y ����
� �8�*�� �	���� (q, s) �� �	�� �	�� →a∈ δ(q, λ(s)) 
� � � ���
��=�� 
��� Edge ���� ⊥ �
 e(s, a) �!��� ��� 
� �
 �� ���� � �
�	��

Y ����
� �8�*�� �	���� (q, s) �� �	�� �	�� �a∈ δ(q, λ(s))$ 
� � � ���
��=�� 
��� Edge ���� ⊥ �
 e(s, a) ��� 
� �
 �� ���� � �
�	��

Y 2� �	�

�
	� 
� %�
� AccG ��� �!�����(�� 
�� ��
��� 
� �
�� 
!��=��� 
�
�� -	��� (q0, s0)(q1, s1) . . . ��� *�� q0q1 . . . ��� 
��� Acc$ 
���$ ������
���
� �� �	�

�
	� 
!��������
	� 
� �!���	�����

����
�
������$ �� ?�� 
!��������
	� G(A, P ) ���������� �	�� ��� �������
�	��
(��� 
� �!���	���� A ��� �� ��	������ P � �� �6
��� ��� �
������$ 
�� ��=���
����
���� ���� �� �	�
�
	� ���
���� ⊥ �� ���� �� �	�
�
	� %�%����� �$ *�

���������� 
� ���
 �� �!�6
������ 
� �����
��� �����
�
	�� 
��� �� ��	������
P �

�����	�
� �& &� :� ������� ���
�
�	 
	
�
�
� 
� ?�� G(A, P ) �� �	�
�
	�
(q0, s0)$ �	�� v0�



�� ����
 ���
	�� ) μ7������

:� 

� *�� P ��� �� ����
� 
� A �!
� �6
��� ��� ������%
� %�%����� 
���
�
�� �	�
�
	� 
�
�
��� 
� ?�� G(A, P )�

2� 
�	���� ����		� ��� A$ �	�� Mod(A)$ ��� �!�����(�� 
�� �	
���� 
�
A� ��� �� ��
��$ �	�� �	���	�� �	����� P � A �� �
�� 
� P ∈ Mod(A)�

��& ���������	 ��	 ��������	 	�����	

���� ����� ����
� �	�� ������	�� �����
��� ��	��
���� 
�� ���	����� �
�����
*�
 �	�� ���	�� ��
����

 !�! "����	
� �� 
�
������� �� 
���
#�������

�����	�
� �&!&� E� ���	���� �
���� A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 ���
�
����
 �
$ �	�� �	�� E ⊆ Λ$ 	� � )

Y �	�� �	�� q ∈ Q∃$ δ(q, E) ⊆ {ε} × Q∀�
Y �	�� �	�� q ∈ Q∀$ δ(q, E) ⊆ A × Q∃ ∪ A × {→ , � }
Y �� ����$ 	� ����	�� *�� �!���� 
�
�
�� ��� �6
�����
�� C
��� q0 ∈ Q∃D�

�����	�
� �&!&� E� ���	���� �
���� A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 ���
	�	������
	
��� �
 
� ��� (
����
 �� �	�� �	�� E ⊂ Λ$ 	� � )

�
 (a, q1), (a, q2) ∈ δ(q, E) ��	�� q1 = q2.

����
�
������$ ��� �����
�
	� 
���
� �� ���� �6
�����
�� ��� ��� 

�?	���
	�

!����� ��
������� *�
 ������������ ��� K��%���L �	��
(���� E�� �����
�
	� 
�7
��
� �� ���� ��
������ ��� ��� �	�?	���
	� 
� �	����
���� �	����� C*�
 
	
����
=��� ���
�-�
���D �� 
� �����
�
	�� 
� �� -	��� (a, q) C	Q q ��� �� ���� �6
����7
�
��D� E�� �����
�
	� (a, q) ���
��� � ����
 �� K*�!����� ��� a − transition
�� ��	������ 
	
� ���
�-�
�� �!��� 
�� ��%��� �	����� 
��� δ(q)L� 2� �8�	7
���� ��
����$ ������ ���-	
� �8�	���� 
� �
�����
	�$ ��� �!�� 
�� ���������
��?���� 
� �� �8�	�
� 
�� ���	����� �� μ7������ �	
�� C�	
�$ ��� �6�����$
F0<��$ /8	9�$ 3�9&GD�

,-�
���� �&!&� /	�� ���	���� �
���� ��� �*�
������ � �� ���	���� �	�7

�����
�
��� � ���
�� *�� �!	� ���� �M���
������ �	�����
���

"� �������� ������$ �	��� 
� ��� ��	��� 
��� F0J>��G$ 
!���(�
� �� �8�	7
���� 
� �
�����
	� ��
���� )

,-�
���� �&!& �	�� �	�� ���	���� �
���� A$ 	� ���� �	�����
�� �� ?��
G(A) ���� ��� �	�
�
	� 
�
�
��� v0 ��� *�� )



��	��
���� 
�� ���	����� �
����� ��

Y 0 �8�*�� ������%
� %�%����� � ���	
��  �
� 
���
� v0 
��� G(A) 	�
���� -�
�� �	�����	�
�� �� �	
��� 
� A�

Y �� ����$ �	�� ��� �	
���� 
� A$ � (
�
�����
	� ���� C�	
� 
� �
�
	�
�����D$ ������� =��� 	(����� 
� ����� ���
����

2� ����
	� ��&�� ��	�	�� �� �8�	���� 
� �
�����
	� �� ��� ������ ����
�
�
��
�� � ����� 
� F0J>��G ��
� �	�� ��� 
� �
�
	� 
!���	���� ���� %�7
������� "� �8�	���� � �	�� �	�	���
�� �� 
��

�(
�
�� 
� �� ���
� �(
�
�� 
��
���	����� �
����� C
� �
� �
7
���	��D�

�����	�
� �&!&!

Y �	
� A �� ���	���� �
����� :� 

� *�� A ��� ���
����
� �
 A � ��
�	
����

Y :� ������� ����
��� �� ���
����


�� ��� ��������� �
��
�� �� ��	(����
��
���� ) �	
� A �� ���	���� �
����� A ���7
� ���
� �(�� N

$
�
������ �&!&� 2� ��	(���� 
� ���
� �(
�
�� 
�� ���	����� �
����� ���

��

�(��� �� ����$ �
 �� ���	���� ��� ���
� �(�� 	� ���� �M���
������
�	�����
�� �� �	
��� 
� �!���	�����

)����� 
 ��
�*�� �!�6
������ 
!��� ������%
� %�%����� 
��� �� ?�� ��� 
�7
�

�(�� C�	
� �8�	���� ����&D �� *�� ����� ������%
� ��� �������(��$ 
� ��� 
��
7

�(�� 
� ���	
� �
 �� ���	���� �
���� �	�
�����
�
��� A ��� ���
� �(��� ��
����$ �
 �!��� �� ���$ 	� ���� �M���
������ ��	���� �� �	
��� P 
� A� �

 !�!� $%���

����� �� ���������
 ��
 ����
���
 
�
���


)�
�
��	�
� �&!&� 2�� ���	����� �
���� 
� 5�(
�$ 
� �������$ � ���
��$ 
�
3����� 	�� ��� �=��� -��
���� 
� �	
�����

)����� 
 :� ���� -��
������ ���
 �� *�� ��� �	�

�
	�� 
� ���
�� �	�� 
��
��� ����
���
��� 
� �	�

�
	�� 
� 5�(
� �� 
� ������� �� *�� ������7�
 �	��
�����7�=�� 
�� �	�

�
	�� ����
���
���� 
� 3������ 2� �����-	����
	� 
!��
���	���� �
���� 
� 3����� �� �� ���	���� �
���� � ���
�� ��
�
�� �� ���8�
*��
LAR C���� ���������� ���	�
D C�	
� ��� �6����� F/8	9'GD� �

'����(�� �&!&" :� ���� 

���
 �� ��� ���	����� 
!��(��� (
��
��� 
� �
�
Σ7��
*���� � �� �	��7-��
��� 
!���	����� �
�����A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉
��� *�� A ��� �	�
�����
�
���$ A = {0, 1}$ Σ = 2Λ �� �	�� �	�� q ∈ Q∀ ��
E ⊆ Λ$ 	� � →0,→1∈ δ(q, E)�
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	�� ) μ7������
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���
 �� ��� ���	����� 
� �	�� 
� �
� ���
�!���8�(�� A � �� �	��7-��
��� 
!���	����� �
�����$ �	�� AUTOmots(A, ∅)$
A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 ��� *�� A ��� �	�
�����
�
���$ Λ = ∅ ��
�	�� �	�� q ∈ Q∀$ 
� �6
��� a ∈ A ��� *�� {�x: x ∈ A − {a}} ∈ δ(q)�

:� ���� 
	�� 
� �
� ��� �	��7�����(��� ω�����

���� 0
��
 L ⊂ Aω ���
ω7��%��
�� �
 
� �6
��� �� ���	���� �
���� 
� 1Z�8
 A ∈ AUTOmots(A, ∅) ���
*��

L = {w : Lω(P ) = {w} �� P � A}
CE� �������� �����
*�� ��� *�� ��� ���	����� C�	�
�����
�
����D 
� �	�� 
� 7
�
� ���� �	�

�
	� 
� 1Z�8
$ 5�(
�$ �������$ 3	��	A�@
 �� 3����� 
� �
�����
��� �=��� ���%�%��$ 
��� ��� ���%�%�� ω7��%��
����D

�����	�
� �&!&�%

Y :� 

� *�� �!�����(�� AUTO(A, Λ) ��� �
�� ��� �	
�	 �
 �	�� �	��
A,B ∈ AUTO(A, Λ)$ 
� �6
��� �� ���	���� �
���� 
	�� �!�����(�� 
��
�	
���� ��� Mod(A) ∪ Mod(B)�

Y :� 

� *�� AUTO(A, Λ) ��� �
�� ��� 
	�������
�	 �
 �	�� �	�� A,B ∈
AUTO(A, Λ)$ 
� �6
��� �� ���	���� �
���� 
	�� �!�����(�� 
�� �	
����
��� Mod(A) ∩ Mod(B)�

Y :� 

� *�� AUTO(A, Λ) ��� �
�� ��� ����
���	���
�	 �
 �	�� �	��
A ∈ AUTO(A, Λ)$ 
� �6
��� �� ���	���� �
���� 
	�� �!�����(�� 
��
�	
���� ��� PROC(A, Λ)− Mod(A)�

,-�
���� �&!&�� 2!�����(�� 
�� ���	����� �
����� ��� ��	� ��� ��
	�$

��������
	� �� �	����������
	��

2� ������ 
� �8�	���� ��&��� ��� ���� �
�
��
�� � ����� 
� �8�	���� ��+��� *�

���������� ��� �=��� ��	��
���� �	�� ��� 
� �
�
	� 
!���	���� ���� %��������

+
	�	�
� �&!&�� �	
� A,B ∈ AUTO(A, Λ)� :� �	�� A∨B$ A∧B �� AC 
��
���	����� �
����� *����	�*��� 
	�� ��� �	
���� �	�� �������
������ �!��
	�

�� �	
���� 
� A �� B$ ����� 
��������
	� �� �� �	�������� 
� Mod(A) 
���
PROC(A, Λ)�

<	��  �
��	�� ����� ����
� ��� �������� �� �������� 
!�6�����
�
�� 
� ���
���	����� C�	
� F0<��G �� ��� ��-������� ���	�
���D�

*���� �&!&�� �	
� A �� ���	���� �
���� �� P �� P ′ 
��6 ��	������ (
�
7
�
��
���� P � A �
 �� ��������� �
 P ′ � A�
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	� �&

)����� 
 �	
��� P = 〈A, Λ, S, s0, e, λ〉$ P ′ = 〈A, Λ, S ′, s′0, e
′, λ〉 �� A =

〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉� ����	�	�� *�� P � A� 2� ��� P ′ � A ��� 

��7
�
*�� ��
�*�� �� (
�
�����
	� ��� ��� ��	��
��� ������
*��� :� ����	�� C�	
�
�8�	���� ��&��D *�� A ��� �	�
�����
�
��� � ���
��� �� ����$ 	� ����	�� *��
�	�� �	�� q ∈ Q∀ �� E ⊂ Λ 	� � )

(a, q1), (b, q2) ∈ δ(q, E) 
���
*�� q1 �= q2.

�� ��S� �	�� ���� 
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���
*��� �����
�� ����� 
� A�

��
�*�� A ��� � ���
��$ 
� �6
��� ��� ������%
� �	�
�
	������ %�%����� σ :
Q∃ × S → Q∀ × S 
��� �� ?�� G(A, P )�

"	�����
�	�� ��� ������%
� %�%����� 
��� �� ?�� G(A, P ′)� �	
� �� ������%
�
C�	
� 
� �
�
	� �����D σ′ : (Q∃×S ′)×H → Q∀×S ′ 	Q H = S ���� �� -	���
	�

!8
��	
�� hist : H × (Q × S ′) → H �� h0 = s0 
� �
� �	��� ��
��

�	
� ��� �	�
�
	� (q, s) ∈ Q∃ × S 	Q σ(q, s) ��� 
� �
 �� �%��� � (q1, s) ��
��� *�!
� �6
��� u ∈ A∗ ��� *�� s = e(s0, u)� 0�	��$ �	�� s′ = e′(s′0, u)$ 	� � )

Y σ′((q, s′), s) ��� 
� �
 �� �%��� � (q1, s
′) �� hist(s, (q1, s

′)) = s
Y �
 
� �6
��� ��� ��=�� 
� (q1, s

′) ���� (q2, s
′
2) 
��� G(A, P ′)$ ��	��

hist(s, (q2, s
′
2)) = e(s, a) 	Q (a, q2) ∈ δ(q1, λ(s′))�

5����*�	�� 
!�(	�
 *��$ �	��� P ≤ P ′ C�	
� ����� ����&D$ �
 e(s0, u)
��� 
� �
$ ��	�� e′(s′0, u) ��� 
� �
� �� ����$ �	��� P ′ ≤ P $ �
 e′(s′, a) =
e(s′0, ua) = s′2 ��	�� e(s, a) = e(s0, ua) ��� 
� �
� �	�� σ′ ��� (
�� 
� �
�

:� ���� ��	�� ���
 �� *�� �� ��	?���
	� ��� Q 
!��� ����
� �	����
(��
C�	
� 
� �
�
	� �����D ���� σ′ �� hist 
��� �� ?�� G(A, P ′) �	[��

� ���� ��
��	?���
	� ��� Q 
!��� ����
� �	����
(�� ���� σ� �	�� P ′ � A� �

��' "�����	���

�	�� �	������ �� �8��
���$ ��� ���	����� �
����� ���������� 
� 
���
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� �	�(������ ������� 
� ��	������ �	��� ���6 
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�� ��� ��� ���	�����

� �	��  �
� �� 
� �
� �
��
 *�� ��� ���	����� 
!��(���� ��� ���������� ����
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������� 
� ����
 ��$ �	��������$ �!�6
������ 
� �����
��� �����
�
	��

�� ��	������ C�	����� 
����
�� 
� �	��	�������� �����
����  �
�D ��$ %�	7
(�������$ 
�� �	��	�������� 
� �
� C��� ��� �	�� �� ��� �	��7��(���D� 2�
�	�
�����
�
��� 
� ��� ���	����� �	�� ������$ ����� �����$ 
� ����
 �� 
��
��
	�� 
� �	��	�������� 
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���� ��� �6����� �!��
	� 
� �!�����(�� 
��
��	������ ����� 
�� �����
�
	�� ��� �� ��������� a ��
� ��� ��� �� �����7
���� b �� �	� K	��	��L$ ����
 ����� 
�� �����
�
	�� ��� b ��
� ��� ��� a�

2!�6�����
�
�� %������� 
� ��� ���	����� 
����
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!��7
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�
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�����8
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� �
� ���
��� C�	
� F<9�G �� ����
 F099G$
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��� ��� �6������ ��������� 
��� �� �����
�$ ��� ���	7
����� �� 
�������	�� ��� �!�6�����
�
�� 
�� ���	����� � �	�

�
	� 
� ���
��

��� {0, 1, 2}�

<	�� ���	�� -��*������� ��
�
��� �� �8�	���� 
� �
�����
	� ��&��� "!��� ��
	��
� ������
�� �	�� 
��

�� �� ���
� �(
�
�� 
�� ���	����� �
����� ��
� ����

�	�� �
���
 �� ��� �	�������
	�� 
!���	������ E� ���	���� ��������� ����� n
����� ���� �� �����-	���� �� ���	���� �	�
�����
�
��� ����� 2O(nlogn) �����
C�!��%������
	� 
� �	�(�� 
� ���
��� ��� �
���
��D �	
� F,#++G$ F3�9&G ��
F/8	9�G�

"!��� �� �8�	���� ����&$ ���������� 
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��

�� �!
� �6
��� ��� ������%
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��� �� ?�� ��$ �
��
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�� �� ���
� �(
�
�� 
�� ���	����� �
�����$
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 ���� 
�
 �!	��
� ��
��
��� �	�� ���(�
� 
�� ��������� 
� 
��

�(
�
��� ���� ��
��� 
�� ���	����� �	�
�����
�
���� � ���
��$ ��	���� ��� ������%
� %�%�����
��� �� ��	(���� 
��� NP ∩ co − NP � E�� (	��� �����
���� ��� O(n(k/2)+1)
	Q n ��� �� �	�(�� 
!����� 
� �!���	���� �� k �� ���� %���
� ���
�� C�	
�
F0<��G �� FJ#��GD� E� ��%	�
�8�� ������


��� ��	�	�� 
��� F1�J��G 
	���

��� �	����6
�� nO(
√

n/ log n)� ���� ���������$ 
��� F#�\�'G �� ��%	�
�8��
������
	
���$ (��� ��� ��� ���8	
� ���� 

M������$ 	(�
��� ��� �	����6
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�	��7�6�	����
���� nO(
√

n) C2� �	����6
�� ��� nO(
√

n/ log n) �
 �� 
�%�� �	�����

� �	�� ��� �	����� 
� %���8� ��� (	���D�
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��� �� ����
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���	
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��� F0J>��G *�
 ���������� ��
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�
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� �	������ ���� 
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	� �	����� "� �8��
��� �� ����
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�!�6�	�
�
	� 
� �����
�� ��	(����� 
� �	������ ���� ����
 *����

��� �� ������ ��	 ���(����	 �� ��������

<	�� -	����	�� �� ��	(���� 
� �	������ ����	���

�� ���� 
�-	����
	� �	7
����$ �	�� )$�$ �	��� ��
� )

�	
� �� ��	������ P �� 
�� ���	����� �
����� B1,B2, . . .Bn �� A� ,6
���7
�7
� 
�� �	��������� Q1, . . . , Qn ���� *��$ Qi � Bi �� P ×Q1 × · · · ×Qn � A N
,� �� ��	(���� 
� �� ����8��� ��� 
� �	�����
�� ��� �	���������$ �
 
�� �6
������

2� ��	(���� 
� �	������ ��	���

�� ���� 
�-	����
	� �	����$ �	�� )$$$
��� �� ��� ����
���
�� 
� )$� 	Q n = 1�

��� ������(����� ) ���������	 �� *�������

2�� ��	(����� )$$ �� )$� �	�� 
��

�(���� "� �	�� 
�� �	���*������

�� 
��6 �8�	���� ��
������ <	�� 
	��	�� 
�� ������� 
� ��� �8�	����� �	��
��� 
� �
�
	� 
!���	���� ���� %������� 
��� ��� ����
�� ��' �� '���

,-�
���� �&�&� �	
� A �� ���	���� �
���� �� P �� ��	������� �� �6
��� ��
���	���� �
���� A/P ��� *�� )

Q � A/P �
 �� ��������� �
 P × Q � A�

��
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�
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� �	������

:� ������� *�	�
��� 
!�� ���	���� �
���� ��� �� ��	������ �!	�����
	� *�
 �
A �� P ���	�
� �!���	���� A/P � 2� ��	(���� 
� �	������ �������
�� ��� 
	��
��
�
� �� ��	(���� 
� �� ���
� �(
�
�� 
!�� ���	���� A/P ∧ B� �� ����$ ���
�	
���� 
� A/P ∧ B �	�� �6�������� ��� �	���
	�� 
� ��	(���� $$) �

,-�
���� �&�&� �	
� A �� B 
��6 ���	����� �
������ :� ���� �	�����
��
�� ���	���� �
���� A/B ��� *�� )

P � A/B �
 �� ��������� �
 
� �6
��� �� ��	������ Q � B ��� *�� P ×Q � A�

:� ������� *�	�
��� 
!���	����� �
����� �!	�����
	� *�
 � A �� B ���	�
�
�!���	���� A/B� "	��� �� 
��	���� ��� ������� 
��� F0J>��G$ �� ��	(����
)$� ��� ��
�
� �� ��	(���� 
� �� ���
� �(
�
�� 
!�� ���	���� �
���� ������

��� �� �	�	���
�� ��
���� )

$
�
������ �&�&� 2� ��	(���� )$� � ��� �	���
	� �
 �� ��������� �
 �!��7
�	����

(A/Bn/Bn−1/ · · · B2/P
) ∧ B1 � �� �	
����

)����� 
 ,� �M�� )

Qk � A/Bn/ · · ·/Bk+1/(P × Q1 × · · · × Qk−1) �� �	�� �	�� i ≤ k$ Qi � Bi

�
 �� ��������� �


P × Q1 × · · · × Qk � A/Bn/ · · ·/Bk+1 �� �	�� �	�� i ≤ k$ Qi � Bi

�
 �� ��������� �
 
� �6
��� Qk+1 � Bk+1 ��� *�� )

P × Q1 × · · · × Qk × Qk+1 � A/Bn/ · · ·/Bk+2 �� �	�� �	�� i ≤ k$ Qi � Bi

�
 �� ��������� �
 
� �6
��� Qk+1 ��� *�� )

Qk+1 � A/Bn/ · · ·/Bk+2/(P ×Q1× · · · ×Qk) �� �	�� �	�� i ≤ k + 1$ Qi � Bi

:� �	���� ��	�� ��� 
�
���
	� *�� Q1 �
(A/Bn/Bn−1/ · · · B2/P

) ∧ B1 �
 ��
��������� 
� �6
��� Q2, Q3, . . . , Qn ��� *�� Qk � Bk �� P ×Q1 × · · · ×Qn � A
�

��� ����� ������	 �� ��������(�����
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����� 
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�
� �� ����
 ���
	� ��
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./����� �&�&� ����	�	�� *�� �!�����(�� 
�� ���������� A ��� ����
�
	���
�� �!�����(�� 
�� ���������� �	������(��� AC �� �!�����(�� 
�� ����������

��	������(��� AU � �	
� A(AU) �� ���	���� �
���� *�
 � ��������� �� ����
��
������ q 
� ���
�� ����� �� �� -	���
	� 
� �����
�
	� )

δ(q) = {(a, q) : a ∈ A} ∪ {→a: a ∈ AU}

E� �	��������Q ���
�-�
�A(AU) �
 ��� �����
�
	�� ��
*������ ��� �� ���������

��	������(�� �6
����� �	�?	���� �	�� Q �� ���� ��� 
����

�� ��� ����������

��	������(����

<	�� �	��	�� �	��

���� ����
 �� ��� 	Q �� �	������ 
� �����
�� ����������
�� ���� ��� =��� �
��������

./����� �&�&� �	
� a, b ∈ A� �	
� Aa,b = 〈A, Q, q0, {qa, qb}, q0, δ, Q
ω〉 ��

���	���� �
���� ���� )
Y δ(q0) = {(ε, qa), (ε, qb)}
Y δ(qa) = {(c, q0) : c ∈ A} ∪ {→a}
Y δ(qb) = {(c, q0) : c ∈ A} ∪ {→b}

0�	�� �� �	
��� 
� Aa,b � �	�?	��� �	
� ��� a7�����
�
	� 	� �	
� ��� b7
�����
�
	�� �	�� �� �	�������� �� ���� ��� 
����

�� ��� ���������� a �� b
�� �=�� ������ ,� 
!������ ������$ 
� ���� (�	*��� �� ���� �� ���������
����
 a �� b�

2� ��� 	Q �� �	������(
�
�� 
!�� ��������� 
����
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��� �!�6����� ��
�����

./����� �&�&� �	
� f, c ∈ A �� Q = {qf , q0}�
�	
� Af,c = 〈A, Q, ∅, Q, q0, δ, Q

ω〉 �� ���	���� �
���� ���� )
Y δ(q0) = {(a, q0) : a �= f} ∪ {(f, qf)}
Y δ(qf) = {(a, qf) : a ∈ A} ∪ {→c}

E� �	�������� ��� �� �	
��� 
� Af,c �
 
� � � �	�?	��� ��� c7�����
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��
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./����� �&�& �	
� c ∈ A� �	
� Ac = 〈A, Q, q0, {qc, quc}, q0, δ, r〉 �� ���	7
���� �
���� � ���
�� ���� )

Y δ(q0) = {(ε, qc), (ε, quc)}
Y δ(qc) = {(a, q0) : a ∈ A}
Y δ(quc) = {(a, quc) : a ∈ A} ∪ {→c}
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Y r(q0) = r(qc) = 1 �� r(quc) = 2
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�Q �� �	��������� E�� ����
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� �
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�� ��� �� ��	������ Ad = 〈A, Sa, s

a
0, ea〉� �	
�A(Ad) = 〈A, Sa, ∅, Sa, s

a
0, δa, ra〉

�!���	���� �
���� � ���
�� ����$ �	�� �	�� s ∈ Sa$ 	� � ra(s) = 0 �� )

δa(s) = {(a, ea(s, a)) : ea(s, a) ��� 
� �
} ∪ {�a: ea(s, a) ��� 
� �
}
����
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0, er〉�
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� A(Re) = 〈A, Sr, ∅, Sr, s
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s ∈ Sa$
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 �� ��������� �
 Re ≤ SV S�

��& "����������� ��� (��*����

�	
� P = 〈A, Λ, S, s0, e, λ〉 �� ��	������ �� E ⊆ Λ �� �	��7�����(�� 
�
��	��
���� 
!������ <	�� ��	�� �� 
��� �� ����
� *�� �!	� ���� ���	�
�� � P
�� ���%�%� ���*�� LE(P ) C�	
� 5����*�� �����D�



"	��	������� �	� (�	*���� ��

./����� �&!&� 0��� ��� ���	����� �
�����$ 	� ���� ����
 �� *�� �� ���%�%�
���*�� 
!�� ������� ������
�� �	
� �6�������� �� ���%�%� ���*�� 
	��� C
�

LE(P )D� �	
� AE

P = 〈A, Λ, S∪{q⊥}, ∅, S∪{q⊥}, s0, δ, Q
ω〉 �� ���	���� �
����

����$ �	�� �	�� s ∈ S �� �	�� �	�� X ⊆ Λ$ 	� �
Y �
 λ(s) = E �� X �= E$ ��	�� )

δ(s, X) = {(ε, q⊥)} �� δ(q⊥, X) = ∅ = δ(q⊥, E)

Y �
�	�

δ(s, X) = {→a, (a, e(s, a)) : e(s, a) ��� 
� �
}∪{�a: e(s, a) �!��� ��� 
� �
}
�	
� Q = 〈A, S ′, s′0, e

′〉 �� �	�������� ���� ��	��
��� �	���� �� R �� �,�� :�
���� ���
 �� *�� Q × R � AE

P �
 �� ��������� �
 LE(Q × R) = LE(P )�

./����� �&!&� �	
� �� �	�������� Q ���� ��	��
��� �	����� :� ���� ����

�	��	
� *�� �� ������� ������
�� P×Q �	
� �	�(�	*���� ��� ����	�� � E$ 
���$
�	�� ��� �	��	��������  �
� ������� ����
�
�� �� ���� ����� �� ��	��
��� E
C�	
� �����*�� �����D� ,� 
!������ ������ )

L(P × Q) ⊂ Pref(LE(P × Q))

�����	�
� �&!&� �	
�ANB(P, E) = 〈A, Q, Q∃, Q∀, s0, δ, r〉 �� ���	���� �
����
�
���	�	� ���� )

Y Q∃ = {qs : s ∈ S}
Y Q∀ = S ∪ {qa

s : e(s, a) ��� 
� �
} ∪ {q
}
Y r(q) = 0 �	�� �	�� q ∈ Q∀ �� r(q) = 1 �	�� �	�� q ∈ Q∃

Y �	�� �	�� s ∈ S �� a ∈ A 	� � )
Y δ(s) = {(a, e(s, a)) : e(s, a) ��� 
� �
} ∪ {(ε, qs)}
Y �
 s ∈ SE $ ��	�� δ(qs) = {(ε, q
)} �� δ(q
) = ∅
Y �
 s /∈ SE $ ��	�� δ(qs) = {(ε, qa

s ) : e(s, a) ��� 
� �
}
Y δ(qa

s ) = {→a} ∪ {(a, qe(s,a))}
)�
�
��	�
� �&!& �	
� Q = 〈A, S ′, s′0, e

′〉 �� ��	������ ���� ��	��
���� �	7
������ P × Q � ANB(P, E) �
 �� ��������� �


L(P × Q) ⊂ Pref(LE(P × Q))

)����� 
 �	
� u ∈ A∗ ��� *�� e×e′((s0, s
′
0), u) ��� 
� �
 �� �%��� � (s, s′)� <	7

�	�� *��$ 
��� �� ?�� G(ANB(P, E), P ×Q)$ �	�� ��� �8��
��$ �	�����	�
���
� �� �	� u �� *�
 ������� =��� ���
���$  �
����� 
��� �� �	�
�
	� (qs, (s, s

′))�
����	�	�� *�� L(P ×Q) ⊂ Pref(LE(P ×Q))� ���� G(ANB(P, E), P ×

Q)$ 	� 
� �
� �� ������%
� σ �	��� ��
�� �	
� (qs, (s, s
′)) ��� �	�
�
	� ��7

����
(�� ��� σ� �
 s ∈ SE ��	�� σ(qs, (s, s
′)) = q
� �
 s /∈ SE$ ��	�� 
�



�� ���

�(
�
�� 
� �	������

�6
��� �� �	
�� �� �	� av 
� �	�%���� �
�
��� 	Q a ∈ A$ v ∈ A∗ ��� *��
e × e′((s, s′), av) ��� 
� �
 �� e(s, av) ∈ SE � ���� �� ���$ σ(qs, (s, s

′)) = qa
s �

:� ���� ���
 �� *�� σ ��� ��� ������%
� %�%������ �	�� P ×Q ��� �� �	
���

� ANB(P, E)�

����	�	�� *�� L(P×Q) �⊂ Pref(LE(P×Q))� �	
� u /∈ Pref(LE(P×Q))
��� *�� e× e′((s0, s

′
0), u) = (s, s′)� <	�	�� *�� �	�� ��� �8��
�� 
� �
� 
���
�

(qs, (s, s
′)) �	�� ���
���� � ����� 
� �� ���
�� 
�� ������ �	
� v ∈ A∗ ��� *��

e × e′((s0, s
′
0), uv) = (sv, s

′
v) �� {e × e′((sv, s

′
v), a) : a ∈ A} = ∅� ����
� ��

�	�
�
	� (qsv , (sv, s
′
v))$ 
� �!� � ��� 
!��=�� ���� (q
, (s, s′)) ��� sv /∈ SE� ��

����$ �	
� δ(qsv) = ∅ 	� �	
�$ �	�� �	�� a ��� *�� e(s, a) ��� 
� �
$ 
� � �
��� ��=�� 
���
� (qa

sv
, (sv, s

′
v)) ���� ⊥ ��� →a∈ δ(qa

sv
)� 0
��
$ 
� �!� � ��� 
�

������%
� %�%����� 
���
� (qs, (s, s
′))� �	��$ P × Q �!��� ��� �� �	
��� 
�

ANB(P, E)� �

��' �+� ���� ��������� �� �������

�	
� P = 〈A, Λ, S, s0, e, λ〉 �� �,�� :� ���� ����	��� *�� ��� �	��	���7
����� 
� �
� 
� P �� �	�� ��� �	�� �	�8�
��(���� ���� -	����������$ ����	7
�	�� *�� �	
� 
� �
 ��� �	�

�
	� Acc(P ) ⊂ Sω$ 
!��� 
�� -	���� 
���	
�
���

��� �� ����
� ���$ ������������ ��� ��
��� 
!����� 
� �
� �
�
��
(����

�� �
��	�� ��
������� ��� ����
 ���
	� �	�����	�
��� � ��� 	(?���
- 
�
�	������� �	
� A(P, Acc(P )) = 〈A, S, ∅, S, s0, δ, Acc(P )〉 �!���	���� �
���� ���
*�� �	�� �	�� s ∈ S$ δ(s) = {(a, e(s, a)) : e(s, a) ��� 
� �
}�

�	
� P ′ �� �	��������� ���� �� ?�� G(A(P, Acc(P )), P × P ′) �	�� ��� �8�7
�
��  �
� �	�� %�%����� ��
�*�� *�!
� �!� � ��� 
!��=�� ���� ⊥ �� *�� �	����
��� �	�
�
	�� �	�� ��
���������� �� ���� �� �8��
� 
� �
 ��� %�%���� �
 ��
��������� �
 �� ��	?���
	� ��� S ��� 
��� Acc(P )� �	��

P × P ′ � A(P, Acc(P )) �
 �� ��������� �
 Lω(P × P ′) ⊂ Acc(P, A)

	Q Acc(P, A) ��� �!�����(�� 
�� �	��	�������� 
� �
� a1a2 · · ·an · · · ∈ Aω

��� *�� �� ��
�� ���	�
�� 
!����� s0e(s0, a1)e(s0, a1a2) · · · e(s0, a1 · · ·an) · · · ��7
����
��� � �!�����(�� Acc(P )�

��, "������� ���� ���������	 -����	

:� ���
��%� 
��� ����� ����
� �� ��� 
�� ���������� -	���� 
���	
�
� 
���
FI5+�G C�	
� ����
 FU9�G �� FH�9&GD 	Q �	� ��������� �� �	�������� (�	*��
�����
��� �����
�
	�� 
� �,� ��
� ����
 -	��� �!	��������� 
� �����
�� ���7
�������� ���� ����
������$ �
 �� �,� ���� �M������ ��� �����
�
	� ��� ��



"	������ ���� ���������� -	���� ��

��������� -	��� f $ ��	�� �� �	�������� 
	
� �!���	�
��� *�!��� ��
*�� �����
7
�
	� ��� f $ ��� ������ ���������� ����� �	�� (�	*����

���� �� �	���6��$ �� �	�������� 
	
� 
	�� ���	
� �
 �� �,� ���� ����
���
��� �����
�
	� -	����� I�����������$ ���
 �!��� ��� �	��
(�� ��� �� �	��������
�� ���� ���?�%�� 
�� �	��	�������� -����� 
� �,�� :� ���� �	�� 
� �=��
���	�
�� � �� ���� 
� ��	(���� �
 �!	� ������ �� �,� 
� �	����
*��� ����
�� �	�������� 
�� 
�-	����
	�� ��� ��� ��	��
���� �	����� 
� ��� ������

�	
� P = 〈A, Λ, S, s0, e, λ〉 �� �,�� ����	�	�� *�� �!�����(�� Λ �	��
����
�� ���(	�� ����
�� F ����
 ��� *�� �!��������� f ���� =��� -	���� ���� ���7
�
������$ �
 �� ���� s ∈ S ��� ��
*���� ��� F C�!��� � 

�� F ∈ λ(s)D$ ��	�� 
�
� � 
���
� s ��� f 7�����
�
	� Cf ∈ DP (s)D�

:� ����	�� *�!�� �	�������� Q = 〈A, Λ, S ′, s′0, e
′, λ′〉 �� ���� =��� ��
*����

��� F $ �� *�
 ���� =��� ����
 � ��� �!���	���� �
���� ANotF ����� �� ����
��
������ q �� �� ���� ���
��� �6
�����
�� q⊥ �	�� 
��6 
� ���
�� ����� �� ����
�� -	���
	� 
� �����
�
	� δ 
� �
� �	��� ��
�� �	�� E ⊆ Λ$ δ(q⊥, E) = ∅ ��

δ(q, E) =

{ {(ε, q⊥)} �
 F ∈ E
{(a, q) : a ∈ A} �
�	�

:� 
� �
� �� � ��� ����
 ���
	� FORCE(f) �	�� �� ������� ������
�� P ×
Q *�
 -	��� �� �����
�
	� f �	��� ��
�� FORCE(f) ��� �� ���	���� �����
�� ���� ���� q �� ��� -	���
	� 
� �����
�
	� δ ��� *��$ �	�� �	�� E ⊆ Λ$ 	� �

δ(q, E) =

{ {→f , (f, q)} ∪ {�a: a �= f} �
 F ∈ E
{�f} ∪ {(a, q) : a ∈ A} �
�	�

����	�	�� *�� Q � ANotF $ �!��� � 

��$ Q �!� ��� 
!��
*������ �	������� ��
���(	�� F � P ×Q � FORCE(f) �
 �� ��������� �
$ �	�� �	�� ���� (s, s′) 
�
P × Q$ 	� � )

Y �	
� F /∈ λ × λ′
P×Q(s, s′) �� f /∈ DP×Q(s, s′)�

Y :� �	
� F ∈ λ × λ′
P×Q(s, s′) �� DP×Q(s, s′) = {f}�

3�
� F ∈ λ × λ′
P×Q(s, s′) = λP (s) ∪ λ′

Q(s′) ��������� �
 F ∈ λP (s) ��
�*��
Q �!� ��� 
!��
*������ �	������� �� ���(	�� F � "!��� � 

��$ ��
*������ �

P � ��� f 7�����
�
	� ) f ∈ DP (s)�

�	�� P × Q � FORCE(f) �
 �� ��������� �
$ 
���
� �8�*�� ���� (s, s′)

� ������� ������
��$ �
 P � ��� f 7�����
�
	�$ ��	�� P × Q � ��� ��
*��
f 7�����
�
	� ) DP×Q(s, s′) = {f}�

�	�� �!�����(�� 
�� �	��������� Q � ANotF ��� *�� P ×Q � FORCE(f)
��� �!�����(�� 
�� �	��������� *�
 �� �	�� ��� ��
*����� ��� F �� *�
 -	�����



�� ���

�(
�
�� 
� �	������

��� �����
�
	�� f 
� �,� P �

:� ���� (
�� �V� �?	���� 
!������ �	����
���� 
� �	������(
�
�� �	�� ��
�	�������� %�T�� � ��� ����
 ���
	� *�� ����
7�
 
	
� ���
�-�
��� ��� �6�����$
	� ���� ����
 �� *�!�� �	�������� �� ���� *�� -	���� �!��������� f $ �!��� �


�� �	
� 
� -	��� f 	� �	
� 
� �� (�	*�� ����� �����������

�	
� �!���	���� �
���� FORCABLE(f) ���� �� ���� 
�
�
�� �6
�����
��
q0 �� 
��6 ����� ��
������� qf �� q���f $ �	�� 
� ���
��� ������$ ��� *��$ �	�� ��
-	���
	� 
� �����
�
	� δ$ 	� � )

Y δ(q0) = {(ε, qf), (ε, q���f)}
Y δ(qf) = {→f , (f, q0)} ∪ {�a: a �= f}
Y δ(q���f) = {→a, (a, q0) : a ∈ A}

0
��
$ �
 Q � ANotF ∧ FORCABLE(f) �� P × Q � FORCE(f)$ ��	�� �	�
��������� Q -	��� �!��������� f �
 
� �6
���$ ��
� ����
 �� (�	*�� �����
��������� �
 �� �����
�
	� f �!�6
��� ����

��. "�����	���

2� �	������ �������
�� �� 
��������
�� ���� 	(������
	� �	���� ��� 
	�� 
��
7

�(�� �
 �!	� 
� �
� ��� �	����
���� 
� �	������(
�
�� �
��
 *�� ��� ����
 ���
	��

� ������� ������
�� ��� 
�� ���	����� �
������

2�� 	�����
	�� 
� *�	�
��� 
!�� ���	���� ��� �� ��	������ �� 
� *�	�
���

� 
��6 ���	�����$ 
���	
�
� 
��� F0J>��G$ �	�� ��� ��
��
���6 	��
�� *�

�	�� ���������� 
� �����-	���� ��� ��	(����� 
� �	������� �� ��	(����� 
�
���
� �(
�
��� 
!���	����� �
������ 2� ����8��� 
� �	��������� ��� 
	�� 
�

���
� �	��
(�� ��� �� ������ 
� ������%
� %�%����� 
��� 
�� ?��6 ���������
��6 ����
�� ��� �� ���� <	�� �������	�� 
!����
�� ��� ����� 
!	�����
	�� 
���

�� �8��
���� �����
���� �	�� �� ��� 
� �	������ ���� 
�-	����
	� ����
�����

2� ��
�� 
� �
 
��� F0J>��G$ �� ����
� 
�
$ ��� ��� �6����
	� 
��	������

� �� ��	(�����
*�� 
� �� ����8��� 
� �	���������� �� ������$ �	��� 
��� ��
������� 
�� ������6$ 
�  6�� �� �����(�� 
!���������� 
��	������(��� ��
�
����
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� �
� �� �	������(
�
�� 
� -�R	� 
����
*��$ �� -	���
	� 
� �	��	�7
������ ����� 
� �,�� "	�������� �� ������� ������
��$ 	� ���� �6��
���

�� ����
 ���
	�� ��%��
���� �����
*��� ) �	��	������� ��*�
�$ �
�
��
(�� 	�
�	�(�	*����� �� ��� ����
 �	��
(�� 
� ����
�� �� �	���� ��� �	��	��������

� �
� 
� �,�� 2� ��	(���� 
� ����
��
�
�� ��6
����$ �!��� � 

�� ��	����$
*���
 
�� �6
�����$ ��� �	��������� *�
 ���	�
���� K�� ����L 
� �	��	��������

� �,�$ ��� ����
 �� ��	(���� ����
 �(�� ���� 
�� ���	����� �
����� C�	
�
F�5�&G �� F5
���GD�
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M�����
� ��� ��� �	��������� 
��
��	������ C��� �	��������� ������� =��� ��6 �=��� �	�������D$ �� ��� �	� ����
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���� 
� �	������(
�
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����
	�� #

$������	
�� ���	
���� ��� ���

��������	�

<	�� ���	�� 
��� ����� ����
� ����
�� �� ��	(���� 
� �	������ 
!�� �,�
�� ��� 	Q �� �	�������� �!� *�!��� �	���
������ ����
���� 
�� ����������
��6*���� �� �,� ���%
�� <	�� ��	��	�� 
�
 *�� �� �	������ �������
�� �����

��

�(�� 
��� �� ����

��� /��������	 ���(	����(��	 �� ����	�����(��	

2� �	�
	� 
!	(������
	� ����
���� 
���	
�
�� 
��� F2>++G �� 
��� F"�OJ++G
��� -	����
��� ��� �� �	�
	� 
� ������ M : A → Δ∪ {ε} C�	
� ����
 F"299GD
*�
 ���	�
� � �� ���������$ �	
� �� �	� �

� ε$ �	
� �� ���(	�� 
��� �!�����(��
Δ� 0
��
$ 	� �	��

��� *�� �� �	�������� 	(����� ��
*������ ��� ����������
 ���� ��� �� ���*��� �
$ �	�� a ∈ A$ M(a) = ε 	� ����� ��	�� 
!�� ���������

	��������
� �� �
 �	�� a, b ∈ A$ 	� � M(a) = M(b)$ 	� 

� *�� ��� �����7
����� a �� b �	�� 
	�
����	��
���

E� �	�������� �!	(������� *�� ��� ���������� 
!�� �,�  ���� ��� ��
���*�� 
	
� �6����� �� �=�� �	������ ��� �� �,� ����� 
�� ���������� 
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� �� �=�� -�R	�
����� �� ����� �� ��������� 
�	(�����(���

2�� �	����
���� 
!	(�����(
�
�� ������� �� -	����
���$ �	��� 
��� F0J>��G

� �� -�R	� ��
������ �	
� Q = 〈A, Λ, S, s0, e, λ〉 �� �	��������� �	�� �	��
s ∈ S$ �
 �!��������� a ∈ A ��� 
�	(�����(��$ ��	�� e(s, a) = s� 2�� �	����
����

!
�

������(
�
�� ������� �� -	������ 
� �� �=�� ���
���� �
 ��� ����������
a, b ∈ A �	�� 
�

������(���$ ��	�� e(s, a) = e(s, b)�

��
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��� ���������� 
�	(�����(���� ,� ����
���
��$ �� �	�������� ���� �� �	��	�7
��� 

M������� ����� �� ����� 
�� ���������� 
�

������(���� �� ����$ ���
�6�����$ (�	*��� �� ��������� a ��
*������ �!
� �!� � ��� �� 
!	��������

!�� 
�� ���������� 
�

������(��� f1 	� f2�

:� ���� ����
 ��	
� 

M������� ������� 
!���������� 
�

������(��� ��	��
*�!
� � � �� ���� �� �����(�� 
!���������� 
�	(�����(��� C�	
� O
%��� ���D�

a

b
c

d a, b, c, d

���� ��� Y

"�� �	����
���� ��� ��� �	��������� �� �	�� ��� �6�����
(��� ��� 
�� ���	7
����� �
����� ��� ���67�
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�
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�
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��� �6����
	� 
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����� ���������� 
� ������ �
 ��� �����
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	�
��� ��� (	���� 	� �
 
��6 �����
�
	�� ����
%���� �� �=�� ����� ��� �6������

� ����
 ���
	�� �	�� ��� �	��������� �	�� ��������� 
��� �� ����
� ����

<	�� ����	�� 
��� �� ����
� ��& *�� �� ���
� �(
�
�� 
� ��� ���	����� ���

��

�(�� ����� ��	
� ���(�
$ 
��� ��� ����
� ��� ���� ���8�
*��$ �� �8�	����

� �
�����
	� �	�� ��� ���	����� ����
���

���� �� ����
� ��'$ �	�� ��	��	�� *�� �� �	������ �������
�� ���� �����7
����� 
�	(�����(��� �� 
�

������(��� ��� 
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�(���

<	�� ��	��	�� ����
�� �����
��� ��	��
���� 
� ��� ���	����� 
��� �� ���7
�
� ��+ �� ��� �	����	�� ���� ��� ���	����� �
����� 
��� �� ����
� ����

��� +0���	��� �� μ1������ ) �������� ������

&!�! '����%� �(�� ����
��� ������

�����	�
� �&�&� E� �������� ���	�� A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 ���
�� ���	���� �
���� 
	�� 	� �	

 � �� -	���
	� 
� �����
�
	� δ� ,� �M��$
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� �
� 
� �	�����6 ����� 
� �����
�
	�� �	��� ��
� )

δ : Q×2Λ → P
((

(A∪{ε})×Q
)∪(

A×{→ , � , � , ��})∪(
A×A×{� , ��}))

+
	�	�
� �&�&� �	�� �
���
 �� ��� ���
�����$ �	�� �	���	�� ���� �	����� �a$
��a$ �a,b �� ��a,b �� �
��$ �������
������$ 
� (a, � )$ (a, ��)$ (a, b, � ) ��
(a, b, ��)�

�� -�R	� 
�-	������$ �a ����
 � *�� �
 �� ��	������$ 
���
� �� ����$ � ���
a7�����
�
	� ��	�� �� 
	
� =��� ��� (	����� 2� ����
� ��
����� -	����
�� �����


�� �
��
 *�� �� ������
*�� �	�� ��a$ �a,b �� ��a,b�

&!�!� '�
����)�� �(�� ����
��� ������

2� �	�
	� 
� ������ �� 
!��������
	� 
!�� ���	���� ����
� ��� ����
 
�7
��
�� ��� �� ?�� �	��� ��
��

�����	�
� �&�&� �	
� A = 〈A, λ, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ����
�
�� P = 〈A, Λ, S, s0, e, λ〉 �� ��	������� 2� ��� ����������
�	 G(A, P ) ��� ��
%���8� 〈V0, V1, v0, Edge, AccG〉 
� �
� �	��� �	�� �� ���	���� �
����$ ��7
*��� 	� �?	��� 
� �	������� ��=��� )

Y ����
� �8�*�� �	���� (q, s) �� �	�� �	�� �a∈ δ(q, λ(s)) 
� � � ���
��=�� 
��� Edge ���� ⊥ �
 e(s, a) ��� 
� �
 ��
� 

M����� 
� s$ �� ����
� �
�	��

Y ����
� �8�*�� �	���� (q, s) �� �	�� �	�� ��a∈ δ(q, λ(s)) 
� � � ���
��=�� 
��� Edge ���� ⊥ �
 e(s, a) ��� 
� �
 �� �%��� � s$ �� ���� � �
�	��

Y ����
� �8�*�� �	���� (q, s) �� �	�� �	�� �a,b∈ δ(q, λ(s)) 
� � � ���
��=�� 
��� Edge ���� ⊥ �
 e(s, a) �� e(s, b) �	�� 
� �
� ��
� ��� �%��6$
�� ���� � �
�	��

Y ����
� �8�*�� �	���� (q, s) �� �	�� �	�� ��a,b∈ δ(q, λ(s)) 
� � � ���
��=�� 
��� Edge ���� ⊥ �
 e(s, a) �� e(s, b) �	�� 
� �
� �� �%��6$ �� ����
� �
�	��

+
	�	�
� �&�& :� �	�� AUTO(A, Λ, � , ��, � , ��) �!�����(�� 
�� ���	7
����� ����
�� ��� �!���8�(�� A ���� ��� ��	��
���� �	����� Λ� :� �������
���	���� ���� ���������� 
�	(�����(��� �� 
�

������(��� ��� ���	������

:� �	�� AUTO(A, Λ, � , ��) �!�����(�� 
�� ���	����� ����
�� ��� �!��7
�8�(�� A ���� ��� ��	��
���� �	����� Λ �!����� ������ �����
�
	� ���� A×A×
{� , ��}� :� ������� ���	���� ���� ���������� 
�	(�����(��� ��� ���	������
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:� �	�� AUTO(A, Λ, � , ��) �!�����(�� 
�� ���	����� ����
�� ��� �!��7
�8�(�� A ���� ��� ��	��
���� �	����� Λ �!����� ������ �����
�
	� ���� A×{�
, ��}� :� ������� ���	���� ���� ���������� 
�

������(��� ��� ���	������

2�� �����(��� AUTO(A, Λ, � )$ AUTO(A, Λ, ��)$ AUTO(A, Λ, � )$
AUTO(A, Λ, ��)$ AUTO(A, Λ, ��, ��)$ ������ �	�� 
� �
� 
� -�R	� �
�
��
���

&!�!& *���
��� ������ ��������
���
��

�����	�
� �&�&! E� ���	���� ����
� A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 ���
�
����
 �
$ �	�� �	�� q ∈ Q �� E ⊆ Λ$ 	� � )

Y �
 q ∈ Q∃ ��	�� δ(q, E) ⊂ {ε} × Q�
Y �
 q ∈ Q∀ ��	�� δ(q, E) ∩ {ε} × Q = ∅�

�����	�
� �&�&� E� ���	���� ����
� A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 ���
	�	������
	
��� �
 
� ��� (
����
 �� �	�� �	�� a, b ∈ A$ q, q1, q2 ∈ Q �� E ⊆ Λ$
	� � )

Y �
 �a∈ δ(q, E)$ ��	�� δ(q, E) ∩ ({a} × Q) = ∅�
Y �
 (a, q1), (a, q2) ∈ δ(q, E)$ ��	�� q1 = q2�
Y �
 (a, q1), (b, q2), �a,b∈ δ(q, E)$ ��	�� q1 = q2�

<	�� 
���	
�
�	�� ��
������� ��� �����
���� 
�� ���	����� ����
�� *�

�	�� ���� ��
�� 
��� �� ����
	� ��
������

�����	�
� �&�&� �	
� A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ����
�
�	�
�����
�
���� :� 

� *�� A ��� ����
�� �
 �	�� �	�� q ∈ Q∀ �� E ⊂ Λ$ �

�a /∈ δ(q, E) �� �a /∈ δ(q, E) ��	�� 
� �6
��� q′ ∈ Q∃ ��� *�� (a, q′) ∈ δ(q, E)�

)�
�
��	�
� �&�&" /	�� ���	���� ����
� �	�
�����
�
��� ��� �*�
������ �
�� ���	���� ����
� �	�
�����
�
��� �	������

)����� 
 �� �
��	�� 
!�(	�
 complet(A) �!���	���� ��
���� 〈A, Λ, Q, Q∃ ∪
{q
∃}, Q∀ ∪ {q
∀}, q0, δ, Acc′〉 ���� Acc′ = Acc ∪ Q∗(q
∃q
∀)ω� "!��� �!��7
�	���� �	����� 

���
*�� � A ��*��� 	� �?	���$ �	�� �	�� q �� E ⊂ Λ$
(a, q
∃) ∈ δ(q, E) �
 �a /∈ δ(q, E)$ �a /∈ δ(q, E) �� (A × Q) ∩ δ(q, E) = ∅� ��
����$ �	�� �	�� E ⊂ Λ$ δ(q
∃, E) = {(ε, q
∀)} �� δ(q
∀, E) = {(a, q
∃) : a ∈
A} :� ���� ���
 �� *�� A �� complet(A) 	�� ��� �=��� �	
����� �

��� ����� ������	 �!��-�������� ���������

<	�� �������	�� 
�
 *���*�� �6������ 
� �	����
���� 
!	(�����(
�
�� ��

!
�

������(
�
���
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 6�� �	��� �� ���
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� �� ����
 ���
	� ��
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./����� �&�&� ����	�	�� *�� �!�����(�� 
�� ���������� A ��� ����
�
	���
�� �!�����(�� 
�� ���������� 	(�����(��� AO �� �!�����(�� 
�� ����������

�	(�����(��� AUO� �	
� A(AO) �� ���	���� ���� ���������� 
�	(�����(���
����� �� ���� ���� ��
������ q 
� ���
�� ����� �� �� -	���
	� 
� �����
�
	� )

δ(q) = {(a, q) : a ∈ A} ∪ {�a: a ∈ AO}

E� �	�������� Q ���
�-�
� A(AO) �
 ��� �����
�
	�� ��
*������ ��� �� ���7
������ 
�	(�����(�� �	�� 
�� (	������ �	�� ��� �	��	�������� 
� Q �	��


���
*��� *�!�� ��������� 
�	(�����(�� �� ��	
�
���� 	� �	��

:� ���� ����
 �	��

���� �� ��� 	Q ��� ���������� 
�

������(��� �	��
 6���

./����� �&�&� ����	�	�� *�� �!�����(�� 
�� ���������� A ��� ����
�
	���
�� ������� 
!���������� 
�

������(��� �	�� Π = {A0, A1, . . . , An}� �	
� A(Π)
�� ���	���� ���� ���������� 
�

������(��� ����� �� ���� ���� ��
������ q

� ���
�� ����� �� �� -	���
	� 
� �����
�
	� )

δ(q) = {(a, q) : a ∈ A} ∪ {�a,b: ∃i.a, b ∈ Ai}

E� �	�������� Q ���
�-�
� A(Π) �
 ��� �����
�
	�� ����������� �� �=�� ���7
���� 
� Π ����
%���� �� �=�� ����� �	�� ��� �	��	�������� 
� Q �	��
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��6 ���������� 
�

������(����

:� ���� ����
 ����
 �� �� �
�� ����� �� �	������(
�
�� �� �!	(�����(
�
��$
�	��� �� -�
� *�� ��� ���������� 
�	(�����(��� �	�� 
��	������(���

./����� �&�&� �	
�Auo⇒uc = 〈A, Q, q0, 2
A, q0, δ, Q

ω〉 �!���	���� �
���� ���� )
Y δ(q0) = {(ε, B), B ⊆ A}
Y δ(B) = {(a, q0) : a ∈ A} ∪ {�a,→a: a ∈ B} ∪ {��a: a /∈ B}

E� �	
��� 
� ��� ���	���� 
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� ��� a7�����
�
	� *���
 
� � ��� a7
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� �� ���� ��� 
����

�� ��� ���������� 
�	(�����(����

2� ��� 	Q �!	(�����(
�
�� 
!�� ��������� 
����
 
� �	��	������� 
�
�,� ��� 
������� 
��� �!�6����� ��
����� :� ���� �
����� -��
������ ���
�6����� �	�� �6��
��� 
�� �	����
���� 
����
*��� C
����
��� 
� �,�D
�	�� �!
�

������(
�
���

./����� �&�& �	
� f, b ∈ A �� Q = {qf , q0}�
�	
� Af,b = 〈A, Q, ∅, Q, q0, δ, Q

ω〉 �� ���	���� �
���� ���� )
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���� ��� ��� ����������

Y δ(q0) = {(a, q0) : a �= f} ∪ {(f, qf)}
Y δ(qf) = {(a, qf ) : a ∈ A} ∪ {�b}

E� �	�������� ��� �� �	
��� 
� Af,b �
 �	��� b7�����
�
	� ����� �!	���������

� �!��������� f ��� ��� (	����� 0
��
$ ����� ��� K������L f $ b 
��
��� 
�	(7
�����(���

��� 23������ �� 	��������� ���� ��	 ��������	
������	

���� ����� ����
�$ �	�� �	���	�� *�!
� �6
��� �� �8�	���� 
� �
�����
	�
�	�� ��� ���	����� ����
�� �	��� �!�S��� �� �8�	���� ������

,-�
���� �& &� /	�� ���	���� ����
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�
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�
����
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�����	�
� �& &� �	
� A �� �����(��� :� �	�� ΠA �!�����(�� 
�� ����
�
	��

� �� -	��� {N, A0, A1, . . . , Ap} 	Q ��
*������ N �� A0 ������� =��� �

���

�	
� n �� ���
��� :� �	�� [n] �!�����(�� {0, 1, . . . n} �� ]n] �!�����(��
{1, . . . n}�

�����	�
� �& &� �	
� P = 〈A, Λ, S, s0, e, λ〉 �� ��	������ ��� Λ� :� �	��$
�	�� �	�� s ∈ S$ ΠP (s) �� ����
�
	� {NP (s), LP (s), A1, . . . , Ap} ∈ ΠA �����
*�� )

Y a ∈ NP (s) �
 �� ��������� �
 e(s, a) �!��� ��� 
� �
�
Y a ∈ LP (s) �
 �� ��������� �
 e(s, a) = s�
Y �	�� �	�� i ∈ ]p] �� a, b ∈ Ai$ 	� � e(s, a) = e(s, b)�
Y �	�� �	�� i, j ∈ ]p] ��� *�� i �= j$ a ∈ Ai �� b ∈ Aj $ 	� � e(s, a) �= e(s, b)�

:� �	�� P̂ �� ��	������ 〈A, Λ, S, s0, e, λ̂〉 ��� *��$ �	�� �	�� s ∈ S$ λ̂(s) =
(λ(s), ΠP (s))�

�����	�
� �& & �	
� A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ����
��
�	
� q ∈ Q$ E ⊂ Λ �� π = {N, A0, A1, A2, . . . , Ap} ∈ ΠA�

�
 q ∈ Q∀$ 	� �	�� CA(q, π, E) �� �	�

�
	� C1 ∧ C2 ∧ C3 ∧ C4 	Q )
Y C1 ≡ {a :�a∈ δ(q, E)} ⊆ (N ∪ A0)
Y C2 ≡ {a : ��a∈ δ(q, E)} ∩ A0 = ∅
Y C3 ≡ �	�� �	�� a, b ��� *�� �a,b∈ δ(q, E)$ 
� �6
��� i ∈ [p] ��� *��
{a, b} ⊆ N ∪ Ai
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Y C4 ≡ �	�� �	�� a, b ��� *�� ��a,b∈ δ(q, E)$ �� �	�� �	�� i ∈ [p]$ 	� �
{a, b} �⊂ Ai

�
 q ∈ Q∃$ 	� �	�� DA(q, π, E) �� �	�

�
	� D1 ∨ D2 ∨ D3 ∨ D4 	Q )
Y D1 ≡ {a :�a∈ δ(q, E)} ∩ (N ∪ A0) �= ∅�
Y D2 ≡ {a : ��a∈ δ(q, E)} �⊂ A0�
Y D3 ≡ 
� �6
��� i ∈ [p] �� a, b ∈ A ��� *�� �a,b∈ δ(q, E) �� {a, b} ⊆ N∪Ai�
Y D4 ≡ 
� �6
��� a, b ��� *�� ��a,b∈ δ(q, E) �� �	�� �	�� i ∈ [p]$ {a, b} �⊂ Ai�

�����	�
� �& &! �	
� A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ����
��
:� �	�� Â �!���	���� �
��
� 〈A, Λ×ΠA, Q′, Q∃∪{q
}, Q∀∪{q⊥}, q0, δ̂, Acc〉
	Q Q′ = Q∃ ∪ {q
} ∪Q∀ ∪ {q⊥} �� ����$ �	�� �	�� E ∈ 2Λ$ π ∈ ΠA �� q ∈ Q$
	� � )

δ̂(q⊥, (E, π)) = δ̂(q
, (E, π)) = ∅
��

δ̂(q, (E, π)) =

⎧⎨
⎩

{(ε, q
)} �
 q ∈ Q∃ �� DA(q, π, E) ���

{(ε, q⊥)} �
 q ∈ Q∀ �� CA(q, π, E) -��6
δ(q, E) − (A × {� , ��} ∪ A × A × {�, ��}) �
�	�

,-�
���� �& &� �	
� A �� ���	���� ����
� ��� Λ �� P �� ��	������� P �
A �
 �� ��������� �
 P̂ � Â�
)����� 
 �	
� (q, s) ��� �	�
�
	� 
�� ?��6 G(A, P ) �� G(Â, P̂ )� �
 q ∈ Q∃$ 	�
���� ���
 �� *�!
� �6
��� ��� ��=�� ���� � 
��� G(A, P ) � ����� 
�� �����
�
	��

��� A×{� , ��}∪A×A×{�, ��} �
 �� ��������� �
 DA(q, ΠP (s), λ(s)) ���
���
� �� ����$ �
 q ∈ Q∀$ 	� ���� ���
 �� *�!
� �6
��� ��� ��=�� ���� ⊥ 
���
G(A, P ) � ����� 
�� �����
�
	�� 
��� A × {� , ��} ∪ A × A × {�, ��} �
 ��
��������� �
 CA(q, ΠP (s), λ(s)) ��� -��6� �

&!�!� *���
��� 
�
��� ������

+
	�	�
� �& &� :� ����	�� *�!
� �6
��� �� 	�
�� �	����$ �	�� ≤A$ ��� �!��7
�8�(�� A� �	�� �	�� π = {N, A0, A1, . . . Ap} ∈ ΠA$ 	� �	�� Min≤A

(π) �!��7
���(��

p⋃
i=1

min≤A
{a ∈ Ai}

�� MinC
≤A

(π) �	� �	���������
�� 
��� A�

�����	�
� �& &" �	
� A = 〈A, Λ × ΠA, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	����
�
����� :� 

� *�� A ��� ��
�
� �
 �	�� �	�� q ∈ Q$ E ⊆ Λ �� π ∈ ΠA 	� � )

δ(q, (E, π)) ∩ MinC
≤A

(π) × (Q ∪ {→ }) = ∅



&� ��-	����
	� ����
���� ��� ��� ����������

�����	�
� �& &# �	
� P = 〈A, Λ × ΠA, S, s0, e, λ〉 �� ��	������ ��� Λ ×
ΠA� :� ������� ��
���
	� 
� ��	������ P $ �	�� R(P ) �� ��	������ 〈A, Λ ×
ΠA, S, s0, R(e), λ〉 ��� *��$ �	�� �	�� s ∈ S ���� λ(s) = (E, π) 	� � )

DR(P )(s) = Min≤A
(π)

�� �	�� �	�� a ∈ DR(P )(s)$ 	� � R(e)(s, a) = e(s, a)

)�
�
��	�
� �& &�% �	
� A �� ���	���� �
���� ��
�
� �� P �� ��	�������
P � A �
 �� ��������� �
 R(P ) � A�

)����� 
 :� ���� ���
 �� *�� ��� ?��6 G(A, P ) �� G(A, R(P )) �	�� 

��7
�
*���� �

)�
�
��	�
� �& &�� �	
� A �� ���	���� �
���� ��
�
�� 0�	�� 
� �6
��� ��
���	���� �
���� �	�
�����
�
��� ��
�
� �*�
������ � A�

)����� 
 �	
� B = 〈A, Λ×ΠA, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� �	�
�����
7
�
��� �*�
������ � A� �	
� B′ �!���	���� �	�
�����
�
��� ��
�
�
〈A, Λ, Q, Q∃, Q∀, q0, δ

′, Acc〉 ����$ �	�� �	�� q ∈ Q∀$ δ′(q, π) = δ(q, π) −
MinC

≤A
(π) × (Q ∪ {→ })� :� ���� ���
 �� *��$ �	�� �	�� ��	������ P =

〈A, Λ × ΠA, S, s0, e, λ〉 $ ��� ?��6 G(B, R(P )) �� G(B′, R(P )) �	�� 

���
*���
��
�*��$ �	�� �	�� s ∈ S ��� *�� λ(s) = (E, π)$ DR(P )(s) ∩ MinC

≤A
(π) = ∅�

0
��
$ ���� �� ��	�	�
�
	� ������$ 	� � P � A �
 �� ��������� �
 R(P ) � A
�
 �� ��������� �
 R(P ) � B �
 �� ��������� �
 R(P ) � B′ �
 �� ��������� �

P � B′� �

&!�!& +�������� �(����
���
 
�
���


�����	�
� �& &�� �	
� A = 〈A, Λ×ΠA, Q, Q∃, Q∀∪{q
}, q0, δ, Acc〉 �� ��7
�	���� �
���� ��� Λ × ΠA� :� ������� ��
���
	� 
� �!���	���� A$ �	��
R(A) �!���	���� ��
�
� 〈A, Λ × ΠA, Q, Q∃, Q∀, q0, R(δ), Acc〉 ��� *�� �	��
�	�� q ∈ Q$ E ⊂ Λ �� π = {N, A0, A1, . . . Ap} ∈ ΠA$ 	� � )

Y �
 q ∈ Q∀$ ��	�� R(δ)(q, (E, π)) �	��
��� )
Y δ(q, (E, π)) − (MinC

≤A
(π) × (Q ∪ {→ }))

Y (ε, q′) �
 
� �6
��� a ∈ A0 ��� *�� (a, q′) ∈ δ(q, (E, π))
Y (a, q′) �
 
� �6
��� i ∈ ]p] ��� *�� a ∈ Ai ∩Min≤A

(π) �� 
� �6
��� b ∈ Ai

��� *�� (b, q′) ∈ δ(q, (E, π))�
Y �
 q ∈ Q∃$ ��	�� R(δ)(q, (E, π)) �	��
��� )
Y δ(q, (E, π)) − (MinC

≤A
(π) × (Q ∪ {→ }))

Y (ε, q′) �
 
� �6
��� a ∈ A0 ��� *�� (a, q′) ∈ δ(q, (E, π))
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Y (a, q′) �
 
� �6
��� i ∈ ]p] ��� *�� a ∈ Ai ∩Min≤A
(π) �� 
� �6
��� b ∈ Ai

��� *�� (b, q′) ∈ δ(q, (E, π))�
Y (ε, q
) �
 δ(q, (E, π)) ∩ (MinC

≤A
(π) − N) × {→ }

Y δ(q
, (E, π)) = ∅

,-�
���� �& &�� �	
�A �� ���	���� �
���� ��� Λ×ΠA �� P �� ��	�������
P̂ � A �
 �� ��������� �
 P̂ � R(A)�

)����� 
 :� ���� ���
 �� *�� ��� ?��6 G(A, P̂ ) �� G(R(A), P̂ ) �	�� 

���
*���
� �!�6����
	� 
� �����
��� ��=��� 
���
� �� ���� �6
�����
���� ���� � 
��� ��
?�� G(A, P̂ )$ ���������� ��� 
�� ��=��� ���� �� �	�
�
	� %�%����� q
 
��� ��
?�� G(R(A), P̂ )� �

&!�!� ���� ����� ����
��� 
�
��� ��������
���
�� ��,

���� �� ����
��� ������ ��������
���
��

�����	�
� �& &� �	
� A = 〈A, Λ × ΠA, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	����
�
��
� 	�	������
	
��� ����
� ��� Λ × ΠA� :� �	�� A∨ �!���	���� ���	��
〈A, Λ, Q, Q∃, Q∀×ΠA, q0, δ

∨, Acc∨〉 ��� Λ$ ����$ �	�� �	�� E ∈ 2Λ$ π ∈ ΠA ��
q ∈ Q$ 	� � )

Y �
 q ∈ Q∃$ ��	�� δ∨(q, E) = {(ε, (q′, π)) : (ε, q′) ∈ δ(q, (E, π))}
Y �
 q ∈ Q∀ �� π = {N, A0, A1, . . . Ap}$ ��	�� δ∨((q, π), E) �	��
��� )
Y δ(q, (E, π))
Y {�a: a ∈ A0} ∪ {��a: a /∈ A0}
Y �a,b �
 
� �6
��� i ∈ [p] ��� *�� a, b ∈ Ai

Y ��a,b �
 a ∈ Ai$ b ∈ Aj ��� *�� i �= j
Y Acc∨ ��� �!�����(�� 
�� ��
��� 
� �
�� 
��� Q∃ ∪ (Q∀ × ΠA) 
	�� ���
��	?���
	�� ��� Q∃ ∪ Q∀ �	�� 
��� Acc�

*���� �& &�! A∨ ��� �� ���	���� ����
� �	�
�����
�
����

,-�
���� �& &�� �	
� A �� ���	���� �
���� �	�
�����
�
��� ��
�
� ���
Λ × ΠA �� P �� ��	������� P � A �
 �� ��������� �
 P � Â∨�

)����� 
 :� ���� ���
 �� *�� �	�� �	�� q ∈ Q∀$ π, π′ ∈ ΠA �� E ⊂ Λ$ 	�
� )

δ̂∨((q, π), (E, π′)) =

{ {(ε, q⊥)} �
 π �= π′

δ(q, (E, π)) �
 π = π′

�	��$ �� �	�
�
	� (q, s) ���� q ∈ Q∀ �� λ(s) = (E, π) 
� ?�� G(A, P ) � ���
�=��� ��=��� �	������� *�� �� �	�
�
	� ((q, π), s) 
� ?�� G(Â∨, P )�



&' ��-	����
	� ����
���� ��� ��� ����������

�� ����$ �
 q ∈ Q∃$ π ∈ ΠA �� E ⊂ Λ$ 	� � DA∨(q, π, E) ��� -��6 ���
δ∨(q, (E, π)) ∩ (A × {� , ��}) �� δ∨(q, (E, π)) ∩ (A ×A × {�, ��}) = ∅� �	��

δ̂∨(q, (E, π)) = δ∨(q, E) = {(ε, (q′, π′)) : (ε, q′) ∈ δ(q, (E, π′))}
�	
� P = 〈A, Λ × ΠA, S, s0, e, λ〉 �� ��	������ ��� Λ × ΠA �� ��� �	�
�
	�
(q, s) 
� ?�� G(Â∨, P ) ���� q ∈ Q∃ �� λ(s) = (E, π)� �!����� δ̂∨(q, (E, π))$ 
�
� � �	�� �	�� π′ ∈ ΠA$ ��� ��=�� 
���
� (q, s) ���� ((q, π′), s)� :� ((q, π′), s)
��� ��� �	�
�
	� ���
���� �
 π �= π′� :� ���� 
	�� ������
�
�� ��� �����
�
	��

� δ̂∨(q, (E, π)) �	��� ��
� )

δ̂∨(q, (E, π)) = {(ε, (q′, π)) : (ε, q′) ∈ δ(q, (E, π))}
�	��$ �8�*�� ��=�� 
���
� �� �	�
�
	� (q, s) ���� q ∈ Q∃ �� λ(s) = (E, π) ����
�� �	�
�
	� (q′, s) 
� ?�� G(A, P ) �	�����	�
 � ��� ��=�� 
���
� �� �	�
�
	�
((q, π), s) ���� �� �	�
�
	� ((q′, π), s) 
� ?�� G(Â∨, P )� �

&!�!� -����� �� �����	
� �� 
�
������� &!�! 

�	
� B �� ���	���� �	�
�����
�
��� ��
�
� �*�
������ � R(Â)� :� � P �
A �
 �� ��������� �
 P̂ � Â �
 �� ��������� �
 P̂ � R(Â) �
 �� ��������� �

P̂ � B �
 �� ��������� �
 P̂ � B̂∨ �
 �� ��������� �
 P � B∨� �

��& ����	 �(����� ��	 ��������	 ������	

�����	�
� �&!&� �	
� A = 〈A, λ, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ����
�
�	�
�����
�
��� �	����� C�	
� ����
	� �����D�
�	
� G(A) �� ?�� 〈V0, V1, v0, Edge, AccG〉 ���� )

Y V0 = Q∃ �� V1 = Q∀ × Λ × ΠA C�	
� <	���
	� �����D
Y �	�� �	�� q, q′ ∈ Q$ E ⊂ Λ �� π = {N, A0, A1, A2, . . . , Ap} ∈ ΠA$ 	�
� ��� ��=�� (q, (q′, E, π)) ∈ Edge ∩ V0 × V1 �
 (ε, q′) ∈ δ(q, E) �� �	��
�	�� a ∈ A$ 	� � )
Y �
 →a∈ δ(q, E) ��	�� a /∈ N �
Y �
 �a∈ δ(q, E) ��	�� a ∈ N �
Y �
 �a∈ δ(q, E) ��	�� a ∈ A0 ∪ N �
Y �
 ��a∈ δ(q, E) ��	�� a /∈ A0�
Y �
 �a,b∈ δ(q, E) ��	�� 
� �6
��� i ∈ [p] ��� *�� {a, b} ⊂ Ai ∪ N �
Y �
 ��a,b∈ δ(q, E) ��	�� �	�� �	�� i ∈ [p]$ {a, b} �⊂ Ai�

Y �	�� �	�� q, q′ ∈ Q$ E ⊂ Λ �� π = {N, A0, A1, A2, . . . , Ap} ∈ ΠA$ 	�
� ��� ��=�� ((q, E, π), q′) ∈ Edge ∩ V1 × V0 �
 �� ��������� �
 
� �6
���
a /∈ N ��� *�� (a, q′) ∈ δ(q, E)�



���
� �(
�
�� 
�� ���	����� ����
�� &�

Y AccG ��� �!�����(�� 
�� �������� 
� (V0 ∪ V1)
ω 
	�� �� ��	?���
	� ���

Q ��� 
��� Acc�

,-�
���� �&!&� 0 �8�*�� ������%
� %�%����� � ���	
��  �
� 
��� G(A)
	� ���� -�
�� �	�����	�
�� �� �	
��� 
� A�

�� ����$ �	�� ��� �	
���� 
� A$ � (
�
�����
	� ����$ ������� =��� 	(����

� ����� ���
����

$
�
������ �&!&� �	
� A �� ���	���� ����
� �	�
�����
�
��� �	������ A
� �� �	
��� �
 �� ��������� �
 
� �6
��� ��� ������%
� %�%����� 
��� G(A)�

)����� �� 	-�
���� �&!&� 
 :� ����	�� 
� ���� *�� �	�� �	�� a, b ∈ A
�� q, q1, q2 ∈ Q$ 	� � )

�
 (a, q1), (b, q2) ∈ δ(q) �� �a,b /∈ δ(q) ��	�� q1 �= q2 C��&��D

�� ��S� �	�� ���� 
� 
���
*��� �����
�� ����� 
� A

�	
� P = 〈A, S, s0, e〉 �� ��	������� ����	�	�� *�� P � A� �	
� σ :
Q∃×S ×H → Q∀×S ���� �� -	���
	� 
!8
��	
�� hist : H ×Q×S → H $ ���
������%
� %�%����� 
��� �� ?�� G(A, P )� �� �
��	�� ��
������� ��� ����7
��%
� %�%����� 
��� G(A) σ′ : Q∃ × H ′ → Q∀ × Λ × ΠA ���� �� -	��7
�
	� 
!8
��	
�� hist′ : H ′ × (V0 ∪ V1) → H ′ 	Q H ′ = Q × S × H � �	
�
(q, s, h) ∈ Q∃ × S × H ��� *�� σ(q, s, h) ��� 
� �
 �� �%��� � (q1, s)� 0�	��
σ′(q, (q, s, h)) ��� 
� �
 �� �%��� � (q1, λ(s), ΠP (s)) C�	
� 
� �
�
	� �����D ��
hist′((q, s, h), (q1, λ(s), ΠP (s))) = (q1, s, h1) 	Q h1 = hist(h, (q, s))� �� ����
�
 
� � � ��� ��=�� 
���
� (q1, λ(s), ΠP (s)) ���� q2 
��� G(A)$ ��	�� 
� �6
���
a /∈ NP (s) ��� *�� (a, q2) ∈ δ(q1, λ(s))� ��	�� hist′((q1, s, h1), q2) = (q2, s2, h2)
���� s2 = e(s, a) �� h2 = hist(h1, (q2, s2)) Chist′ ��� (
�� 
� �
� %�T�� � ��
��	��
��� ��&��D�

�	�� �!��=�� 
���
� (q1, λ(s), ΠP (s)) ���� �!8
��	
�� (q1, s, h1) ���� q2 ����
�!8
��	
�� (q2, s2, h2) 
��� G(A) �	�����	�
 � �!��=�� 
���
� (q1, s) ���� �!8
�7
�	
�� h1 ���� (q2, s2) ���� �!8
��	
�� h2 
��� �� ?�� G(A, P )�

5��
��	*������$ ����	�	�� *�!
� �6
��� ��� ������%
� %�%����� σ′ : Q∃ ×
H ′ → Q∀ × Λ × ΠA ���� �� -	���
	� 
!8
��	
�� hist′ : H ′ × (V0 ∪ V1) → H ′

�� �!8
��	
�� 
�
�
��� h′
0 
��� �� ?�� G(A)� �	
� P = 〈A, S, s0, e, λ〉 �� ��	������


� �
 �	��� ��
� )
Y s0 = (q0, h

′
0)

Y S = {(q, h′) ∈ Q∃ × H ′ : σ′(q, h′) ��� 
� �
}
Y λ(q, h′) = E �
 σ′(q, h′) = (q1, E, π)



&+ ��-	����
	� ����
���� ��� ��� ����������

Y �	
� (q, h′) ∈ Q∃ × H ′ ���� σ′(q, h′) = (q1, E, π) ��
π = {N, L, A1, A2, . . . , Ap}�
Y DP (q, h′) = {a ∈ A : a /∈ N}
Y e((q, h′), a) = (q, h′) �
 a ∈ L
Y e((q, h′), a) = (q2, h2) �
 
� �6
��� i ��� *�� a ∈ Ai$ (a, q2) ∈ δ(q1, λ(q, h′))
�� h2 = hist′(h1, (q1, E, π))�

C2� -�
� *�� A �	
� �	����� �	�� ������ *�� ��� �����
�
	�� 
� P �	�� (
��

� �
���D �	
� σ : Q∃ × (Q∃ × H ′) → Q∀ ��� ������%
� 
��� �� ?�� G(A, P )
����� *�� σ(q, (q, h′)) ��� 
� �
� �� �%��� � q1 �
 σ′(q, h′) ��� 
� �
 �� �%��� �
(q1, E, π)� :� ���� �
������ ���
 �� *�� σ ��� %�%������ �

��' ������(����� �� �������� ��������	�

<	�� -	����	�� �� ��	(���� 
� �	������ ��	���

�� ���� ���������� 
�	(7
�����(��� �� 
�

������(���$ �	�� )$$0�$ �	��� ��
� )

�	
� �� ��	������ P $ �� ���	���� �
���� A �� �� ���	���� ����
� B�
,6
���7�7
� �� �	�������� Q ��� *�� Q � B �� P × Q � A N

2� ��	(���� )$$0� ��� 
��

�(��� "!���$ �	��� �	�� �� ��� ���� 	(7
������
	� �	���� 
� �� ����
� ���$ �� �	���*����� 
� �!�6
������ 
!�� *�	�
���

!���	���� �
���� ��� �� ��	������ A/P �� 
� �� ���
� �(
�
�� 
�� ���	7
����� ����
�� C�
��
 *�� �� ������� ��� 
��������
	� �	�� ��	
� ��� �	
����

� A/P ∧ BD�

<	�� ��	�� ��	��� *�� �� ���
� �(
�
�� 
�� ���	����� ����
�� ��� 
��
7

�(��� ���� ����� ����
�$ �	�� ��	��	�� �� �8�	���� ��'�� *�
 �	���� *��
����� 	�����
	� 
� *�	�
��� �6
��� ����
 �	�� ��� ���	����� ����
���

,-�
���� �&�&� �	
� A �� ���	���� ����
� �� P �� ��	������� �� �6
���
�� ���	���� ����
� A/P ��� *�� )

Q � A/P �
 �� ��������� �
 P × Q � A�

:� ������� *�	�
��� 
!�� ���	���� ����
� ��� �� ��	������ �!	�����
	� *�

� A �� P ���	�
� �!���	���� A/P � <	�� ���	�� ��
������� 
��	����� ��
�8�	���� ��'��

&!�! .�#������ �� A/P

+
	�	�
� �&�&� �	
� A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, r〉 �� ���	���� ����
� �
���
�� �� P = 〈A, Λ, S, s0, e, λ〉 �� ��	�������



���

�(
�
�� 
� �	������ �������
�� &9

�
 q ∈ Q∀$ E ⊂ Λ �� s ∈ S$ 	� �	�� C(q, E, s) = C1 ∧ C2 ∧ C3 �� �	�

7
�
	� 	Q )
C1 ≡ �	�� �	�� a ∈ A$ �
 →a ∈ δ(q, E ∪ λ(s)) ��	�� e(s, a) ��� 
� �
�
C2 ≡ �	�� �	�� a, b ∈ A$ �
 �a,b∈ δ(q, E ∪ λ(s)) �� e(s, a) �� e(s, b) �	��

� �
�$ ��	�� e(s, a) = e(s, b)
C3 ≡ �	�� �	�� a ∈ A$ �a ∈ δ(q, E ∪ λ(s)) �� e(s, a) ��� 
� �
$ ��	��
e(s, a) = s�

�
 q ∈ Q∃$ E ⊂ Λ �� s ∈ S$ 	� �	�� D(q, E, s) = D1 ∨ D2 ∨ D3 ∨ D4 ∨
D5 ∨ D6 ∨ D7 �� �	�

�
	� 	Q )
D1 ≡ 
� �6
��� a ∈ A ��� *�� e(s, a) �!��� ��� 
� �
 �� �a∈ δ(q, E ∪ λ(s))�
D2 ≡ 
� �6
��� a ∈ A ��� *�� e(s, a) �!��� ��� 
� �
 �� �a,b∈ δ(q, E ∪ λ(s))�
D3 ≡ 
� �6
��� a ∈ A ��� *�� e(s, a) �!��� ��� 
� �
 �� ��a,b∈ δ(q, E ∪ λ(s))�
D4 ≡ 
� �6
��� a, b ∈ A ��� *�� e(s, a) �� e(s, b) �	�� 
� �
� ��
� ��� �%��6
�� ��a,b∈ δ(q, E ∪ λ(s))�
D5 ≡ 
� �6
��� a ∈ A ��� *�� e(s, a) �!��� ��� 
� �
 �� �a∈ δ(q, E ∪ λ(s))�
D6 ≡ 
� �6
��� a ∈ A ��� *�� e(s, a) �!��� ��� 
� �
 �� ��a∈ δ(q, E ∪ λ(s))�
D7 ≡ 
� �6
��� a ∈ A ��� *�� e(s, a) ��� 
� �
 ��
� ��� �%��� � s ��
��a∈ δ(q, E ∪ λ(s))�

�����	�
� �&�&� �	
� A/P = 〈A, Λ, Q/, Q
∃
/, Q

∀
/ , (q0, s0), δ/, r/〉 �!���	����

����
� 
� �
 �	��� ��
� )
Y Q∃

/ = Q∃ × S ∪ {q⊥} �� Q∀
/ = Q∀ × S ∪ {q
}�

Y �	�� �	�� q ∈ Q �� s ∈ S$ r/(q, s) = r(q) �� r/(q⊥) = r/(q
) = 0
Y �	�� �	�� E ⊂ Λ$ 	� � δ(q⊥, E) = δ(q
, E) = ∅
Y �
 E ⊂ Λ$ (q, s) ∈ Q∃

/ �� D(q, E, s) ��� ���
$ ��	�� δ((q, s), E) =

{(ε, q
)}�
Y �
 E ⊂ Λ$ (q, s) ∈ Q∀

/ �� C(q, E, s) ��� -��6$ ��	�� δ((q, s), E) =

{(ε, q⊥)}�
Y �
 E ⊂ Λ$ (q, s) ∈ Q∃

/ �� D(q, E, s) ��� -��6$ 	� (q, s) ∈ Q∀
/ �� C(q, E, s)

��� ���
$ ��	�� δ/((q, s), E) �	��
��� )
Y →a �
 →a∈ δ(q, E ∪ λ(s)) �� e(s, a) ��� 
� �
�
Y �a �
 �a∈ δ(q, E ∪ λ(s)) �� e(s, a) ��� 
� �
�
Y �a,b �
 �a,b∈ δ(q, E ∪ λ(s)) �� e(s, a) �� e(s, b) �	�� 
� �
� �� �%��6�
Y ��a,b �
 ��a,b∈ δ(q, E ∪ λ(s)) �� e(s, a) �� e(s, b) �	�� 
� �
� �� �%��6�
Y �a �
 �a∈ δ(q, E ∪ λ(s)) �� e(s, a) ��� 
� �
 �� �%��� � s�
Y ��a �
 ��a∈ δ(q, E ∪ λ(s)) �� e(s, a) ��� 
� �
 �� �%��� � s�
Y (a, (q1, s1)) �
 (a, q1) ∈ δ(q, E ∪ λ(s)) �� e(s, a) = s1�
Y (ε, (q1, s)) �
 (ε, q1) ∈ δ(q, E ∪ λ(s))�



'� ��-	����
	� ����
���� ��� ��� ����������

&!�!� -����� / '� Q � A/P ����
 P × Q � A
�	
� Q = 〈A, Λ, S ′, s′0, e

′, λ′〉 �� ��	�������

�	
� σ/ : Q∃ × S × S ′ → Q∀ × S × S ′ ��� ������%
� �	�
�
	������ %�%�����

��� �� ?�� G(A/P, Q)� <	�� �����	�� ����
 *�� �
 
� �6
��� ��� ��=�� 
�7
��
� ((q, s), s′) ���� q ∈ Q∃ ���� ((q
, s), s′) 	� ���� �$ ��	�� σ/((q, s), s

′) ���
�%��� � ((q
, s), s′) 	� � �� <	�� ���	�� ��
������� ��	���� *�!
� �6
��� ���
������%
� %�%����� σ 
��� �� ?�� G(A, P × Q)�

:(����	�� *�� �
 
� �6
��� ��� ��=�� 
���
� ((q, s), s′) ���� (q
, s′) 
���
G(A/P, Q)$ ��	�� D(q, λ′(s′), s) ��� ���
 �� 
� � � ��� ��=�� 
���
� (q, (s, s′))
���� � 
��� G(A, P ×Q)� ����	�	�� *�!
� � � ��=�� 
���
� ((q, s), s′) ���� �

��� G(A/P, Q) �� *�� σ/((q, s), s

′) ��� 
� �
� 0�	�� D(q, λ′(s′), s) ��� -��6
�� 	� � �!�� 
�� ��� ��
����� )

Y �	
� →a∈ δ/((q, s), λ
′(s′)) �� e′(s′, a) ��� 
� �
� �	�� →a∈ δ(q, λ(s) ∪

λ′(s′)) �� e(s, a) ��� 
� �
�
Y �	
��a∈ δ/((q, s), λ

′(s′)) �� e′(s′, a) �!��� ��� 
� �
� �	�� �a∈ δ(q, λ(s)∪
λ′(s′)) �� e(s, a) ��� 
� �
�

Y �	
� �a,b∈ δ/((q, s), λ
′(s′)) �� e′(s′, a) 	� e′(s′, b) �!��� ��� 
� �
� �	��

�a,b∈ δ(q, λ(s) ∪ λ′(s′))�
Y �	
� �a,b∈ δ/((q, s), λ

′(s′)) �� e′(s′, a) �� e′(s′, b) �	�� 
� �
� �� �%��6�
�	�� �a,b∈ δ(q, λ(s) ∪ λ′(s′)) �� e(s, a) �� e(s, b) �	�� 
� �
� �� �%��6�

Y �	
� ��a,b∈ δ/((q, s), λ
′(s′)) �� e′(s′, a) 	� e′(s′, b) �!��� ��� 
� �
� �	��

��a,b∈ δ(q, λ(s) ∪ λ′(s′))�
Y �	
� ��a,b∈ δ/((q, s), λ

′(s′)) �� e′(s′, a) �� e′(s′, b) �	�� 
� �
� ��
� ���
�%��6� 0�	�� �a,b∈ δ(q, λ(s) ∪ λ′(s′))�

Y �	
��a∈ δ/((q, s), λ
′(s′)) �� e′(s′, a) �!��� ��� 
� �
� �	�� �a∈ δ(q, λ(s)∪

λ′(s′))�
Y �	
� �a∈ δ/((q, s), λ

′(s′)) �� e′(s′, a) = s′� �	�� �a∈ δ(q, λ(s) ∪ λ′(s′))
�� e(s, a) = s�

Y �	
���a∈ δ/((q, s), λ
′(s′)) �� e′(s′, a) �!��� ��� 
� �
� �	�� ��a∈ δ(q, λ(s)∪

λ′(s′))�
Y �	
� ��a∈ δ/((q, s), λ

′(s′)) �� e′(s′, a) �= s′� �	�� ��a∈ δ(q, λ(s) ∪ λ′(s′))�
���� �	�� ��� ���$ 	� � ��� ��=�� 
���
� (q, (s, s′)) ���� � 
��� G(A, P ×
Q)� �	�� �� ������%
� σ 
��� G(A, P × Q) ��� 

���
*�� � σ/ �6����� �

σ/((q, s), s

′) = ((q
, s), s′) ��	�� σ(q, (s, s′)) = ��
����	�	�� *�!
� �6
��� ��� ��=�� 
���
� (q, (s, s′)) ���� q ∈ Q∀ ����

(q1, (s1, s
′
1)) 
��� G(A, P × Q) ��� *�� ((q, s), s′) ��� ������
(�� ��� σ/ 
���

G(A/P, Q)� C(q, λ′(s′), s) 
	
� =��� ���
 ��� ���������$ 
� � � ��� ��=�� 
���
�
((q, s), s′) ���� �� �	�
�
	� ���
���� (q⊥, s′) 
��� G(A/P, Q)� 0
��
 
� � � 
��6
��� W �	
� (a, q1) ∈ δ(q, λ(s) ∪ λ′(s′)) �� e(s, a) = s1 �� e′(s′, a) = s′1 	� �	
�



���

�(
�
�� 
� �	������ �������
�� '�

(ε, q1) ∈ δ(q, λ(s) ∪ λ′(s′)) �� s = s1 �� s′ = s′1� 3�
� 
��� ��� 
��6 ���$ 
�
� � ��� ��=�� 
���
� ((q, s), s′) ���� ((q1, s1), s

′
1) 
��� G(A/P, Q)� �� ����� �

���
 �� *�!
� �!� � ��� 
!��=��� 
���
� (q, (s, s′)) ���� q ∈ Q∀ ���� ⊥ 
���
G(A, P × Q)�

Y �
 →a∈ δ(q, λ(s) ∪ λ′(s′)) ��	�� e(s, a) ��� 
� �
 � ����� 
� �� ����
�
C1 
� �� �	�

�
	� C(q, λ′(s′), s)� �	�� →a∈ δ/((q, s), λ

′(s′)) �� ��	��
e′(s′, a) 
	
� =��� 
� �
 ��� ((q, s), s′) ��� ��� �	�
�
	� %�%����� 
���
G(A/P, Q)�

Y ����	�	�� *�� �a∈ δ(q, λ(s)∪λ′(s′))� �
 e(s, a) �!��� ��� 
� �
 ��	�� e×
e′((s, s′), a) �!��� ��� 
� �
�� �
 e(s, a) ��� 
� �
 ��	���a∈ δ/((q, s), λ

′(s′))�
��
�*�� ((q, s), s′) ��� ��� �	�
�
	� %�%����� 
��� G(A/P, Q)$ e′(s′, a)

	
� =��� 
� �
�

Y ����	�	�� *�� �a,b∈ δ(q, λ(s)∪λ′(s′))� �	
� e(s, a) 	� e(s, a) �� �	�� ���

� �
$ �	
� 
�� �	�� 
� �
� �� �� ����
� C2 
� �� �	�

�
	� C(q, λ′(s′), s)

���
*�� *�!
�� �	�� �%��6� 
��� �� 
���
�� ���$ �a,b∈ δ/((q, s), λ

′(s′))�
��
�*�� ((q, s), s′) ��� ��� �	�
�
	� %�%����� 
��� G(A/P, Q)$ �
 e′(s′, a)
�� e′(s′, b) �	�� 
� �
�$ ��	�� 
�� 
	
���� =��� �%��6�

Y ����	�	�� *�� ��a,b∈ δ(q, λ(s)∪ λ′(s′))� �
 e(s, a) �� e(s, b) �	�� 
� �
�
�� �%��6$ ��	�� ��a,b∈ δ((q, s), λ′(s′))� �	�� �
 e′(s′, a) �� e′(s′, b) �	��

� �
�$ ��	�� 
�� �	�� �%��6�

Y ����	�	�� *�� �a∈ δ(q, λ(s)∪λ′(s′))� �	
� e(s, a) �!��� ��� 
� �
 	� �	
�
e(s, a) ��� 
� �
 �� �� ����
� C3 
� �� �	�

�
	� C(q, λ′(s′), s) 
���
*��
*�� e(s, a) = s� ���� �� 
���
�� ���$ �a∈ δ/((q, s), λ

′(s′))� ��
�*��
((q, s), s′) ��� ��� �	�
�
	� %�%����� 
��� G(A/P, Q)$ �
 e′(s′, a) ���

� �
 ��	�� e′(s′, a) = s�

Y ����	�	�� *�� ��a∈ δ(q, λ(s) ∪ λ′(s′))� �
 e(s, a) ��� 
� �
 �� �%��� � s$
��	�� ��a∈ δ/((q, s), λ

′(s′))� �	�� �
 e′(s′, a) ��� 
� �
$ ��	�� e′(s′, a) �= s�
�

&!�!& -����� / '� P × Q � A ����
 Q � A/P

�	
� σ : Q∃ × S × S ′ → Q∀ × S × S ′ ��� ������%
� %�%����� �	�
�
	������

��� �� ?�� G(A, P ×Q)� <	�� �����	�� ����
 *�� �
 
� � � ��� ��=�� 
���
�
(q, (s, s′)) ���� q ∈ Q∃ ���� �$ ��	�� σ(q, (s, s′)) ��� �%��� � ��

<	�� ���	�� ��
������� ��	���� *�!
� �6
��� ��� ������%
� %�%����� σ/


��� �� ?�� G(A/P, Q)� ����	�	�� *�� 
� � � ��� ��=�� 
���
� (q, (s, s′)) ����
q ∈ Q∃ ���� � 
��� G(A, P × Q)� 0�	�� 	� ���� ��	���� *�� �	
� 
� � � ���
��=�� 
���
� ((q, s), s′) ���� � 	� �	
� 
� � � ��=�� 
���
� ((q, s), s′) ���� (q
, s′)

��� G(A/P, Q)� 0
��
$ �	�� 
� �
��	�� σ/ �	��� ����� �%��� � σ �6����� �


� � � ��� ��=�� 
���
� ((q, s), s′) ���� (q
, s′) ��	�� σ/((q, s), s

′) = ((q
, s), s′)�
����	�	�� *�!
� � � ��� ��=�� 
���
� ((q, s), s′) ���� q ∈ Q∀ ���� ((q1, s1), s

′
1)



'� ��-	����
	� ����
���� ��� ��� ����������


��� G(A/P, Q) ��� *�� (q, (s, s′)) ��� ������
(�� ��� σ 
��� G(A, P × Q)�
D(q, λ′(s′), s) 
	
� =��� -��6 ��� ��������� 
� � � ��� ��=�� 
���
� (q, (s, s′))
���� �� �	�
�
	� ���
���� ⊥ 
��� G(A, P × Q)� 0
��
$ 
� � � 
��6 ���� �	
�
(a, (q1, s1)) ∈ δ/((q, s), λ

′(s′)) �� e′(s′, a) = s′1 �� ��	�� (a, q1) ∈ δ(q) ��
e(s, a) = s1� :� �	
� (ε, (q1, s)) ∈ δ/((q, s), λ

′(s′)) �� s = s1$ s′ = s′1 ��
��	�� (ε, q1) ∈ δ(q, λ′(s′) ∪ λ(s))) ���� ��� 
��6 ���$ 
� � � ��� ��=�� 
���
�
(q, (s, s′)) ���� (q1, (s1, s

′
1)) 
��� G(A, P × Q)�

�� ����� � ���
 �� *�!
� �!� � ��� 
!��=��� 
���
� ((q, s), s′) ���� q ∈ Q∀

���� ⊥ 	� ���� (q⊥, s′) 
��� G(A/P, Q)�
Y �
 →a∈ δ/((q, s), λ

′(s′)) ��	�� →a∈ δ(q, λ′(s′) ∪ λ(s))) �� e(s, a) ��� 
�7
 �
� �	�� �� ����
� C1 
� �� �	�

�
	� C(q, λ′(s′), s) ��� ���
� ��
�*��
(q, (s, s′)) ��� ��� �	�
�
	� %�%����� 
��� G(A, P × Q)$ e′(s′, a) 
	
�
=��� 
� �
�

Y �
 �a∈ δ/((q, s), λ
′(s′)) ��	�� e(s, a) ��� 
� �
 �� �a∈ δ(q, λ′(s′)∪λ(s)))$


	�� e′(s′, a) �!��� ��� 
� �
�
Y ����	�	�� *�� �a,b∈ δ/((q, s), λ

′(s′))� 0�	�� �a,b∈ δ(q, λ′(s′) ∪ λ(s))$
e(s, a) �� e(s, b) �	�� 
� �
� �� �%��6� �	�� �� ����
� C2 
� �� �	�

�
	�
C(q, λ′(s′), s) ��� ���
� ��
�*�� (q, (s, s′)) ��� ��� �	�
�
	� %�%����� 
���
G(A, P × Q)$ �
 e′(s′, a) �� e′(s′, b) �	�� 
� �
�$ ��	�� 
�� �	�� �%��6�

Y ����	�	�� *�� ��a,b∈ δ/((q, s), λ
′(s′))� 0�	�� e(s, a) �� e(s, b) �	�� 
� �
�

�� �%��6 �� ��a,b∈ δ(q, λ′(s′) ∪ λ(s))� �	�� �
 e′(s′, a) �� e′(s′, b) �	��

� �
�$ 
�� �� �	�� ��� �%��6�

Y ����	�	�� *�� �a∈ δ/((q, s), λ
′(s′)) ��	�� �a∈ δ(q, λ′(s′) ∪ λ(s)) ��

e(s, a) = s� �	�� �� ����
� C3 
� �� �	�

�
	� C(q, λ′(s′), s) ��� ���
�
��
�*�� (q, (s, s′)) ��� ��� �	�
�
	� %�%����� 
��� G(A, P × Q)$ �

e′(s′, a) ��� 
� �
$ ��	�� 
� ��� �%��� � s�

Y ����	�	�� ��a∈ δ/((q, s), λ
′(s′))� 0�	�� e(s, a) = s �� ��a∈ δ(q, λ′(s′) ∪

λ(s)))� �	�� �
 e′(s′, a) ��� 
� �
 ��	�� e′(s′, a) �= s�
Y ��
�*�� ��� ����
�� C1$ C2 �� C3 
� �� �	�

�
	� C(q, λ′(s′), s) �	�� ���
�$

C(q, λ′(s′), s) ��� ���
 �� 
	�� 
� �!� � ��� 
!��=�� 
���
� ((q, s), s′) ����
(q⊥, s′) 
��� G(A/P, Q) �

�

��, "�������	�� ��	 ��������	 	�����	 �� ����1
��	

3=�� �
 �� 
� �
�
	� 
!�� ���	���� ����
� ��� ���� %������� *�� �����

!�� ���	���� �
����$ 	� ���� �� 
����
�� �
 ����� �6����
	� ������ �	��
������ 
� 
� �
� 
�� -��
���� 
� ��	������ 

M��������



"	�����
�	� 
�� ���	����� �
����� �� ����
�� '�

2�� ���	����� ����
�� ���������� �M���
������ 
� 
� �
� 
�� -��
����

� ��	������ *�
 �� �	�� ��� 
� �
���(��� ��� 
�� ���	����� �
������ ,�
�M�� ��� ���	����� �
����� 
� �
����� 
�� ������� 
� �	
���� 
����
����� ���
(
�
�����
	� C�	
� 
� �
�
	� ����� �� ����� ��&���D ��	�� *�� �� �!��� ��� ��
��� 
�� ���	����� ����
�� �	��� �� �	���� �� ����� ������

�����	�
� �&�&� �	
� P = 〈A, Λ, S, s0, e, λ〉 �� P ′ = 〈A, Λ, S ′, s′0, e
′, λ′〉 
��6

��	������� :� 

� *�� P ��� ��
	� ���	
 *�� P ′ �� �!	� �	�� P ≤d P ′$ �

P ≤ P ′ C�	
� �� �
�
	� �����D ��$ �	�� �	�� ���� (s, s′) 
� ��	
�
� P × P ′$
��� ��	��
���� ��
������ �	�� ���
 ��� )

Y �
 e(s, a) ��� 
� �
 �� �%��� � s$ ��	�� e′(s′, a) = s′�
Y �
 e(s, a) �� e(s, b) �	�� 
� �
� �� �%��6$ ��	�� e′(s′, a) = e′(s′, b)�
Y λP (s) ⊇ λP ′(s′)

:� �	�� P =d P ′ *���
 P ≤d P ′ �� P ′ ≤d P �

*���� �&�&� �	
� P �� P ′ 
��6 ��	������ ���� *�� P =d P ′ �� A �� ���	7
���� ����
�� 0�	�� P � A �
 �� ��������� �
 P ′ � A�

)����� 
 2� �����
	� P ≤d P ′ 
���
�� �
7
�����$ ��
���� *�� ��� �	��	���7
����� 
� P �	�� 
����� 
��� ���6 
� P ′ �� *�� ��� ���������� 
�	(�����(���
�	�� P �	�� 
�	(�����(��� �	�� P ′ ��$ 
� �=��$ ��� ���������� 
�

������(���
�	�� P �	�� 
�

������(��� �	�� P ′� 2� ��	��
��� λP (s) = λP ′(s′) �	�� ������
*�� �� ��	������ P ′ � ��� �=��� ��	��
���� �	����� *�� P � :� ���� ��	�� ���
7
 �� *�� P =d P ′ 
���
*�� *�� P �� P ′ �	�� 
�� �	
���� 
�� �=��� ���	�����
����
��� �

'����(�� �&�&� "����
���$ �=�� �
 ��� -��
���� 
� ��	������ ����
 ���
��� ��� ���	����� �
����� �� ����
�� �	�� 

M�������$ ��� -��
���� �	�� ����7
=��� 

���
*��� � (
�
�����
	� ����� 2� ��	�	�
�
	� ��
����� �!�S��� �	�� ���
���	����� ����
�� 
��� AUTO(A, Λ, ��, ��) C�	
� �	���
	� �����D�

)�
�
��	�
� �&�& �	
� A ∈ AUTO(A, Λ, ��, ��) �� P �� ��	������� 0�	��

� �6
��� �� ���	���� �
���� B ��� *�� P � B �
 �� ��������� �
 
� �6
��� Q
(
�
�
��
�� � P ��� *�� Q � A�

)����� 
 �	
� A ∈ AUTO(A, Λ, ��, ��) �� Ã �!���	���� �
���� 

���
*�� �
A �6����� �� -�
� *�!	� � ������ �	���� ��� �����
�
	�� 
��� A × {��} �� 
���
A × A × {��}� P � Ã �
 �� ��������� �
 
� �6
��� Q (
�
�
��
�� � P ��� *��
Q � A�

:� �$ ��

�����$ Q � A 
���
*�� Q � Ã� �	��$ �
 P ��� (
�
�
��
��
� Q$ ��	�� P � Ã� 5��
��	*������$ ����	�	�� *�� P � Ã ���� P =
〈A, Λ, S, s0, e, λ〉� �	
� Q = 〈A, Λ, S ′, s0, e

′, λ′〉 ���� )



'� ��-	����
	� ����
���� ��� ��� ����������

Y S ′ = (S ∪ {Ls : s ∈ S} × A) ∪ {s0}
Y λ′(s0) = λ(s0)
Y �	�� �	�� s ∈ A �� a ∈ A 	� � λ′(s, a) = λ′(Ls, a) = λ(s)
Y DQ(s0) = DP (s0)
Y �	�� �	�� s ∈ A �� a ∈ A 	� � DQ(s, a) = DQ(Ls, a) = DP (s)
Y �	�� �	�� a ∈ DP (s0)$ 	� � )

e′(s0, a) =

{
(Ls0 , a) �
 e(s0, a) = s0

(e(s0, a), a) �
 e(s0, a) �= s0

Y �	�� �	�� s ∈ S �� a, b ∈ DP (s))$ 	� � e′((Ls, a), b) = (e(s, b), b)
Y �	�� �	�� s ∈ S �� a, b ∈ DP (s)$ 	� � )

e′((s, a), b) =

{
(Ls, b) �
 a = b �� e(s, b) = s
(e(s, b), b) �
�	�

:� ���� ���
 �� *�� Q ��� (
�
�
��
�� � P �� *�� Q � A� �

2� ��	�	�
�
	� ����� �� ���� =��� ����
�� ��6 ���	����� 
��� AUTO(A, Λ, �
) 	� 
��� AUTO(A, Λ, � ) �	��� �� �	���� �� ��	�	�
�
	� ����&�

)�
�
��	�
� �&�&! �� �6
��� 
�� ���	����� A ∈ AUTO(A, Λ, �) �� B ∈
AUTO(A, Λ, � ) ��� *�� ��� �����(��� {P : 
� �6
��� Q � A ��� *�� P =b Q}
�� {P : 
� �6
��� Q � B ��� *�� P =b Q} �� �	�� ��� 
� �
���(��� ��� 
��
���	����� �
������

)����� 
 "!��� �� �	���*����� 
� ��������� *�� �	�� ��	����	�� �����
����7
���� ��6 ����
�� &�� �� &���

/	�� 
!�(	�
$ 	� ���� ���
 �� *�� �
 
��6 ��	������ R �� R′ �	�� (
�
�
7
��
���$ ��	��$ �	�� �	�� ��	������ R′′$ R×R′′ �� R′×R′′ �	�� (
�
�
��
���� �	
�
P �� ��	������$ A ∈ AUTO(A, Λ) �� B1,B2 ∈ AUTO(A, Λ, �)� ����	�	��
*�!
� �6
��� 
�� ���	����� �
����� BS

i ∈ AUTO(A, Λ)$ i = 1, 2$ ��� *�� )

Mod(BS
i ) = {Q′ : 
� �6
��� Q � Bi ��� *�� Q =b Q′}

�
 
� �6
��� Qi � Bi ��� *�� P × Q1 × Q2 � A ��	��$ ��

�����$ Qi � BS
i �

5��
��	*������$ ����	�	�� ��
������� *�!
� �6
��� Q′
i � BS

i ��� *�� P ×
Q′

1 ×Q′
2 � A� 0�	�� 
� �6
��� Qi � BS

i ��� *�� Qi �� Q′
i �	�� (
�
�
��
���� �	��

P × Q1 × Q2 � A� 2� ��� 	Q B1 ∈ AUTO(A, Λ, � ) ��� �
�
��
���
<	�� ��	����	�� ��� �� ��
��$ *�� �� ��	(���� 
� ��	���� 
�� �	���������

Qi � Bi ��� *�� P × Q1 × Q2 � A C
��� �� ��	(���� 
� �	������ 
��������
��D
��� ���
���
� �
 Bi ∈ AUTO(A, Λ) C�	
� ����
	� '��D �� 
	���
���
� �
 Bi ∈
AUTO(A, Λ, �) C�	
� ����
� &��D 	� �
 Bi ∈ AUTO(A, Λ, � ) C�	
� ����
� &��D�



��	��
���� 
�� ���	����� ����
�� '&

:� �	�� ���	�� 
� ��	���� *��$ �
 �� ��	�	�
�
	� ����& ���
� -�����$ �� ��	(����

� �	������ 
��������
�� ���� Bi ∈ AUTO(A, Λ, �) 	� Bi ∈ AUTO(A, Λ, � )
�� 
�
�
��
� �� ��	(���� 	Q Bi ��� �	�� 
�� ���	����� �
������

�	��$ �
 �� ��	�	�
�
	� ����& ���
� -����� �� ��	(���� 
� �	������ 
����7
����
�� �	�� ��� ���	����� �
����� ����
� 
�
��

�(��� "	����

��
	�� �

��. ���������	 ��	 ��������	 ������	

���� ����� ����
� �	�� �������	�� �����
��� ��	��
���� 
�� ���	�����
����
�� *�
 ������� =��� ���� �	��� 
�� �6����
	�� 
� ��������� �	�� ���
���	����� �
����� �� *�
 �	�� ���	�� ��
��� 
��� ��� �8��
���� �����
�����

&!�! *���
��� ������ 
��
 ���������
 ������


�����	�
� �&"&� �	
� A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ����
�
��� *��$ �	�� �	�� q ∈ Q �� �	�� �	�� E, E ′ ⊂ Λ$ δ(q, E) = δ(q, E ′)� :� 

�
��	�� *��A ��� ���� ��	��
���� �	����� �� 	� �	��A = 〈A, Q, Q∃, Q∀, q0, δ, Acc〉
���� )

δ : Q → P
((

(A∪ {ε})×Q
)∪ (

A×{→ , � , � , ��})∪ (
A×A× {� , ��}))

���� ����� ����
�$ �	�� �������	�� �� �	��� 
!

���
 �� ��� -��
���� 
�
��	������ ��� �!���8�(�� A 
� �
�� ��� 
�� ���	����� ����
��$ � 
�� -��
����

� ��	������ ��� 
��
������ A ∪ Λ 
� �
�� ��� 
�� ���	����� ����
�� ��	�
�����
���� 
���
���

�����	�
� �&"&� �	
� P = 〈A, Λ, S, s0, e, λ〉 �� ��	������ ��� �!���8�(�� A�
:� �	�� PΛ �� ��	������ 〈A ∪ Λ, S ∪ Λ, s0, eΛ〉 ��� �!���8�(�� A ∪ Λ ����
eΛ : (S ∪ Λ) × (A ∪ Λ) → S ∪ Λ ��$ �	�� �	�� s ∈ S$ a ∈ A �� l ∈ Λ$

Y eΛ(s, a) ��� 
� �
 �� �%��� � e(s, a) �
 e(s, a) ��� 
� �
�
Y eΛ(s, l) ��� 
� �
 �� �%��� � l �
 l /∈ λ(s)
Y DPΛ

(l) = ∅ C�	
� �� �
�
	� �����D

2�  %��� ��� 
������� �� 
� �
�
	� ��+�� ���� Λ = {p1, p2}�
)�
�
��	�
� �&"&� �	
� P, Q ∈ PROC(A, Λ) C�	
� �� �
�
	� �����D� 0�	��

PΛ × QΛ = (P × Q)Λ

)����� 
 �	
� (s, s′) �� ���� 
� P ×Q� :� � D(P×Q)Λ(s, s′) = D(P×Q)(s, s
′)∪

(Λ−λP×Q(s, s′)) = (DP (s)∩DQ(s′))∪ (Λ− (λP (s)∪λQ(s′)) = (DP (s)∪ (Λ−
λP (s))) ∩ (DQ(s′) ∪ (Λ − λQ(s′))) = DPΛ

(s) ∩ DQΛ
(s′) �



'' ��-	����
	� ����
���� ��� ��� ����������

a

b
d

c

b

s0

s1
s2

p1
p2

a

b
d

{p1, p2}

c

{p2}
b

s0

s1
s2

��������� P ��������� PΛ

p2
p1

p1

���� ��� Y

�����	�
� �&"& �	
� Q �� ��	������ ��� �!���8�(�� A ∪ Λ ���� ��	��
���
�	����$ �!��� � 

�� Q ∈ PROC(A ∪ Λ, ∅) C�	
� �� �
�
	� �����D� :� 

� *��
Q ��� 2Λ���
����� �!
� �6
��� �� ��	������ P ∈ PROC(A, Λ) ��� *�� PΛ = Q�

�����	�
� �&"&! �	
� LABELΛ = 〈A ∪ Λ, Q, ∅, {q0, q∅}, q0, δ, Q
ω〉 �!���	7

���� �
���� ���� ��	��
��� �	���� ��� *�� )

δ(q0) = {(a, q0) : a ∈ A} ∪ {(l, q∅) : l ∈ Λ} �� δ(q∅) = {�x : x ∈ A ∪ Λ}

*���� �&"&� �	
� Q ∈ PROC(A∪Λ, ∅) �� ��	������� Q ��� 2Λ7��
*���� �

�� ��������� �
 Q � LABELΛ�

�����	�
� �&"&� �	
� A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ����
��
�	
� AΛ = 〈A ∪ Λ, ∅, QΛ, QΛ

∃, QΛ
∀, q0, δΛ, AccΛ〉 �!���	���� ���� ��	��
���

�	���� ���� )
Y Q∃

Λ = Q ∪ (Q∃ × Λ)
Y Q∀

Λ = (Q∀ × Λ) ∪ {T E
q : q ∈ Q∃ �� E ⊆ Λ} ∪ {q∅}

Y �	�� �	�� q ∈ Q �� E ∈ 2Λ 	� � )

δΛ(q) = {(ε, T E
q ) : E ⊆ Λ}

δΛ(T E
q ) = {→l, (l, q∅) : l ∈ Λ − E} ∪ {�l: l ∈ E} ∪ {(ε, (q, E))}

δΛ(q, E) = δ(q, E)

Y δΛ(q∅) = {�x : x ∈ A ∪ Λ}
Y AccΛ ��� �!�����(�� 
�� ��
��� 
� �� -	��� q0αq1α · · · 	Q α ∈ (QΛ−Q)∗

��� *�� q0q1 · · · ������
��� � Acc�

*���� �&"&" �	
� Q ∈ PROC(A∪ Λ, ∅) �� ��	������� Q � AΛ �
 �� �����7
���� �
 
� �6
��� �� ��	������ P ∈ PROC(A, Λ) ��� *�� P � A �� PΛ = Q�
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���� 
�� ���	����� ����
�� '�

)����� 
 �	
� Q = 〈A ∪ Λ, S, s0, e〉 �� ��	������ ��� *�� Q � AΛ �� σΛ ���
������%
� %�%����� 
��� G(AΛ, Q)�

�	
� (q, s) ��� �	�
�
	� 
� ?�� G(A, P ) ���� q ∈ Q∃� �	
� P �� ��	������
〈A, Λ, S, s0, eP , λP 〉 ��� *��$ �	�� �	�� s ∈ S$ DP (s) = DQ(s) ∩ A �� �	��
�	�� a ∈ A$ eP (s, a) = e(s, a) �� λP (s) = Λ − (DQ(s) ∩ Λ)�

"	�����
�	�� ��� ������%
� %�%����� σ 
��� G(A, P )� �	
� (q, s) ��� �	�
7
�
	� 
� ?�� G(A, P ) ���� q ∈ Q∃� ���� �� ?�� G(AΛ, Q)$ �	�� *�!��� �	�
�
	�

� �� -	��� (T E

q , s) �	
� %�%�����$ 
� ��� �������
�� *�� DQ(s) ∩ Λ = Λ − E
�� *�� �	�� �	�� l ∈ Λ − E$ DQ(e(s, l)) = ∅� �	��$ 
� ��� �������
�� *��
λP (s) = Λ − (DQ(s) ∩ Λ) = Λ − (Λ − E) = E� �	�� �
 σΛ(q, s) = (T E

q , s)
�� σΛ((q, E), s) = (q′, s′) 	� 
� �
� σ(q, s) = (q′, s′)� :� ���� ��	�� ���
7
 �� *�!��� ��=�� 
� (q, s) � (q′, s′) �	����
(�� ���� σ 
��� G(A, P )$ �	����7
�	�
 � �� ��
�� �	����� (q, s), (T E

q , s), (q, E, s), (q′, s′) 
��� G(AΛ, Q) ����
λP (s) = E�

5��
��	*������$ �	
� P = 〈A, Λ, S, s0, e, λ〉 �� ��	������ ��� *�� P �
A� :� -�
� �	�����	�
�� � �!��=�� 
� (q, s) � (q′, s′) 
��� G(A, P )$ �� ��
��
�	����� (q, s), (T

λ(s)
q , s), ((q, λ(s)), s), (q′, s′) 
��� G(AΛ, PΛ)� :� ���� ��	��

���
 �� *�� PΛ � AΛ �

&!�!� *����
 ��������
 ��
 ����
���
 ������


�����	�
� �&"&# �	
� A = 〈A, λ, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ����
�
�	�
�����
�
���� :� 

� *�� A ��� ����
�� �
 �	�� �	�� q ∈ Q∀ �� �	�� E ⊆ Λ
	� � )

Y {a :→a∈ δ(q, E)} ∪ {a :�a∈ δ(q, E)} = A$
Y �
 (a, q′) ∈ δ(q, E) ��	�� →a∈ δ(q, E)�

:� 

� *�� A ��� ����
�����	� ����
�� �
 A ��� ����
 � �� �
 �	�� �	�� q ∈ Q∀

�� �	�� E ⊆ Λ 	� � )
Y {a :�a∈ δ(q, E)} ∪ {a : ��a∈ δ(q, E)} = A$
Y {(a, b) :�a,b∈ δ(q, E)} ∪ {(a, b) :�a, �b∈ δ(q, E)} ∪ {(a, b) : ��a,b∈

δ(q, E)} = A × A$
Y �
 �a∈ δ(q, E) ��	�� →a∈ δ(q, E)$
Y �
 �a,b∈ δ(q, E) ��	�� →a,→b∈ δ(q, E)$ �a /∈ δ(q, E) �� �b /∈ δ(q, E)�

�����	�
� �&"&�% �	
� �� ���	���� ����
�A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉
�	�
�����
�
��� �� q ∈ Q�
:� �	�� Aq �!���	���� ����
� 〈A, Λ, Q, Q∃, Q∀, q, δ, Acc〉 

���
*�� � A �67
����� �	�� �!���� 
�
�
�� �8��%� �� q� :� 

� *�� A ��� �
���� �
 �	�� �	��
q ∈ Q$ Aq � �� �	
����



'+ ��-	����
	� ����
���� ��� ��� ����������

,-�
���� �&"&�� /	�� ���	���� ����
� �	�
�����
�
��� ��� �*�
������ �
�� ���	���� ����
� �	�
�����
�
��� �	�����$ �	���������� ����
 � �� ���7
%���

)����� 
 �	
� A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ����
� �	�
�7
����
�
����

�	
� specif(A) �!���	���� 〈A, Λ, specif(Q), Q∃, Q∀×ΠA, q0, specif(δ), Acc〉
�!���	���� �	���������� ����
 � 
� �
� �	��� ��
� C�	
� �	���
	� �����D�

Y �	�� �	�� q ∈ Q∃ �� �	�� E ⊆ Λ$ specif(δ)(q, E) �	��
��� (ε, (q′, π))
����
π = {N, A0, A1, . . . Ap} ∈ ΠA �
 )
Y (ε, q′) ∈ δ(q)
Y �
 →a∈ δ(q) ��	�� a /∈ N
Y �
 �a∈ δ(q) ��	�� a ∈ N
Y �
 �a∈ δ(q) ��	�� a ∈ L
Y �
 ��a∈ δ(q) ��	�� a /∈ L
Y �
 �a,b∈ δ(q) ��	�� 
� �6
��� i ��� *�� a, b ∈ Ai

Y �
 ��a,b∈ δ(q) ��	�� �	�� �	�� i ��� *�� a, b /∈ Ai �� a, b /∈ L
Y �	�� �	�� q′ ∈ Q∀$ E ⊆ Λ �� π ∈ ΠA$ specif(δ)((q′, π), E) �	��
��� )
Y δ(q′)
Y →a∈ δ(q) �
 a /∈ N
Y �a∈ δ(q) �
 a ∈ N
Y �a∈ δ(q) �
 a ∈ L
Y ��a∈ δ(q) �
 a /∈ L
Y �a,b∈ δ(q) �
 
� �6
��� i ��� *�� a, b ∈ Ai

Y ��a,b∈ δ(q) �
 �	�� �	�� i$ a, b /∈ Ai �� a, b /∈ L
:� ���� ��	�� ���
 �� *�� A �� specif(A) 	�� ��� �=��� �	
�����

�	
� Q∅ �!�����(�� 
�� ����� q ��� *�� Aq �!� ��� 
� �	
���� �	
� elag(A)
�!���	���� 〈A, Λ, Q, Q∃, Q∀, q0, elag(δ), Acc〉 
� �
� �	��� ��
� )

Y �	�� �	�� q ∈ Q∃ �� E ⊆ Λ$ elag(δ)(q, E) = δ(q, E) − {(ε, q) : q ∈ Q∅}
Y �	�� �	�� q ∈ Q∀ − Q∅ �� E ⊆ Λ

elag(δ)(q, E) = δ(q, E)∪{�a: {a}×Q∅∩δ(q, E) �= ∅}−{(a, q′) : q′ ∈ Q∅}

:� ���� ���
 �� *�� A �� elag(A) 	�� ��� �=��� �	
�����

:� ���� ��	�� ���
 �� *�� �!���	���� elague(specif(complet(A))) ��� ��
���	���� �	�����$ �	���������� ����
 � �� ���%�� C�	
� �� ������ 
� �� ��	7
�	�
�
	� ����+ �	�� �� 
� �
�
	� 
� complet(A)D� �



��	��
���� 
�� ���	����� ����
�� '9

&!�!& ��
�����
�� ��������� �(����
���
 ������


�����	�
� �&"&��

Y :� 

� *�� �!�����(�� 
�� ���	����� ����
�� ��� �
�� ��� �	
�	 �

�	�� �	�� ���	����� ����
�� A,B$ 
� �6
��� �� ���	���� ����
� 
	��
�!�����(�� 
�� �	
���� ��� Mod(A) ∪ Mod(B)�

Y :� 

� *�� �!�����(�� 
�� ���	����� ����
�� ��� �
�� ��� 
	�������
�	
�
 �	�� �	�� ���	����� ����
�� A,B$ 
� �6
��� �� ���	���� ����
� 
	��
�!�����(�� 
�� �	
���� ��� Mod(A) ∩ Mod(B)�

Y :� 

� *�� �!�����(�� 
�� ���	����� ����
�� ��� �
�� ��� ����
���	�
���
�	 �
 �	�� �	�� ���	���� ����
� A$ 
� �6
��� �� ���	���� ����
�

	�� �!�����(�� 
�� �	
���� ��� AUTO(A, Λ) − Mod(A)�

,-�
���� �&"&�� 2!�����(�� 
�� ���	����� ����
�� ��� ��	� ��� ��
	�$

��������
	� �� �	����������
	��

+
	�	�
� �&"&� �	
�A,B 
��6 ���	����� ����
��� :� �	�� A∨B$ A∧B ��
AC 
�� ���	����� ����
�� *����	�*��� 
	�� ��� �	
���� �	�� �������
������
�!��
	� 
�� �	
���� 
� A �� B$ ����� 
��������
	� �� �� �	�������� 
� Mod(A)

��� AUTO(A, Λ)�

)����� �� 	-�
���� �&"&�� 
 �	
� A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 ��
B = 〈A, Λ, Q′, Q∃′, Q∀′, q′0, δ

′, Acc′〉 
��6 ���	����� ����
��� :� ����	�� 
�
���� *�� Q �� Q′ �	�� 

��
�����

�	
� A∨B �!���	���� 〈A, Λ, Q∪Q′, Q∃∪Q∃′∪{p0}, Q∀∪Q∀′, p0, δ∨, Acc∪
Acc′〉 �� ���	���� ����
� ��� *�� δ∨(p0) = {(ε, q0), (ε, q

′
0)} ��

δ∨(q, E) =

{
δ(q, E) �
 q ∈ Q
δ′(q, E) �
 q ∈ Q′

�	
� P �� ��	������� :� ���� ���
 �� *�� P � A∨B �
 �� ��������� �
 P � A
	� P � B�

�	
� A∧B �!���	���� 〈A, Λ, Q∪Q′, Q∃∪Q∃′, Q∀∪Q∀′∪{p0}, p0, δ∨, Acc∪
Acc′〉 �� ���	���� ����
� ��� *�� δ∧(p0) = {(ε, q0), (ε, q

′
0)} ��

δ∧(q, E) =

{
δ(q, E) �
 q ∈ Q
δ′(q, E) �
 q ∈ Q′

�	
� P �� ��	������� :� ���� ���
 �� *�� P � A∧B �
 �� ��������� �
 P � A
�� P � B� C:� ���� ��

����� 
� �
� A ∧ B ��� (AC ∨ BC)C �D



�� ��-	����
	� ����
���� ��� ��� ����������

3	���	�� ��
������� *�� A ��� ��	� ��� �	����������
	�� ����	�	��

!�(	�
 *��A ��� ����
 �� �	
�AC �!���	���� 〈A, Λ, Q, Q∃

C , Q∀
C , q0, δC , AccC〉

��� *��
Q∃

C = Q∀, Q∀
C = Q∃ �� AccC = Qω − Acc

�	�� �	�� q ∈ Q �� E ⊆ Λ$ δC(q, E) �	��
��� )
Y (a, q′) �
 (a, q′) ∈ δ(q, E)
Y →a �
 �a∈ δ(q, E)
Y �a �
 →a∈ δ(q, E)
Y �a �
 ��a∈ δ(q, E)
Y ��a �
 �a∈ δ(q, E)
Y �a,b �
 ��a,b∈ δ(q, E)
Y ��a,b �
 �a,b∈ δ(q, E)

�	
� P = 〈A, Λ, S, s0, e, λ〉 �� ��	������ ��� *�� P � A� �	
� σ : Q∃ × S → Q
��� ������%
� %�%����� �	�
�
	������ 
��� �� ?�� G(A, P )� �	
� σC : Q∀×S →
Q ��� ������%
� 
��� �� ?�� G(AC , P )� �	
� p �� �8��
� �	����
(�� ���� σ ��
σC C�	
� 
� �
�
	� �����D� �
 p ��� 
� �
$ ��	�� �� ������%
� σC ��� ���
���� ���
p ∈ Acc ��
�*�� σ ��� %�%������ �
 p ���  �
$ ��	��$ ��
�*�� σ ��� %�%�����$

� �6
��� ��� �	�
�
	� (q, s) ∈ Q∀ × S 
� �8��
� p 
��� �� ?�� G(A, P ) ���
*�� �!��
*�� ��=�� �	������ 
���
� (q, s) �� ���� �� �	��$ 
!����� �� -	���
	�

� �����
�
	� δC $ 
� � � 
���
� (q, s) ��� ��=�� ���� ⊥� �	�� P �� AC � 2�
���
��	*�� �� 
��	���� 
� -�R	� 

���
*�� ��� (AC)C = A� �

��4 "�����	���

2� �	������ �������
�� ���� ���������� 
�

������(��� �� ���������� 
�7
	(�����(��� ��� 
	�� 
��

�(�� �
 ��� ����
 ���
	�� �	�� �6��
���� ��� 
��
���	����� ����
��� "	��� �!� �������� �� ����
� ���$ �!�6�����
�
�� 
� ���
���	����� ��� ���� %���
� *�� ����� 
� μ7������� ��� ���������� 
� ����
��
�� �	���� ��� ����
 ���
	�� �����
*��� 
!
�-	����
	� ����
���� C�	
� F2>++$
"�OJ++GD ��
� ����
$ �	��� �	�� �� �	������(
�
��$ ��� ����	�8� 
����
*��

�� �	����
���� 
!	(������
	�� �� 
!
�

������(
�
����

2� 
��

�(
�
�� 
� �	������ �������
�� ��� 
��	����� %�T�� � �!	�����
	�

� *�	�
��� A/P 
!�� ���	���� ����
� A ��� �� ��	������ P �� ����
 %�T��
� �!	�����
	� 
!
��������
	� A/P ∧ B 
� 
��6 ���	����� ����
�� A/P �� B�
2� ��	(���� 
� �	������ ��� �����-	��� �� ��	(���� 
� �� ���
� �(
�
�� 
!��
���	���� A/P ∧ B 
	�� �� 
��

�(
�
�� ��� ��	��� %�T�� � ��� �6����
	� 
�
�8�	���� 
� �
�����
	� �� 
� �� �8�	�
� 
�� ?��6�

2� 

S����� ��?���� � ��� 
!���(�
� �� �8�	���� 
� �
�����
	� �	�� ���
���	����� ����
��� "� �8�	���� � 
�?� ��� ���(�
 �	�� �� ��� 
�� ���	�����
���� ���������� 
�	(�����(��� CK�		� ���	����LD 
��� F0J>��G�



"	�����
	� ��

2� ��
��� 
� �!���	���� A/P ∧B C�	� �	�(�� 
!�����D$ �	�� |A/P ∧B|$ ���
|A|·|P |+|B| 	Q |P | ��� ����
 �� �	�(�� 
!����� 
� P � 2!���	���� *�	�
���A/P
�������� 
��� �� �8��
��� ����� �	�
�����
�
��� �
 A ��� �	�
�����
�
���� "�7
���
���$ �!	�����
	� 
!
��������
	� 
�� ���	����� A/P �� B �� �	������ ���
�� �	�
�����
�
���� ,� %������$ 
� �6
��� ��	�� �� ���	���� �	�
�����
�
���
�*�
������ � A/P ∧B 
� ��
��� 2O(n log n) 	Q n = |A| · |P |+ |B|� ���� F0J>��G$
��� ������� -	�� �����*��� ����� �	����6
�� ���� =��� ��
�
�� � |P | ·2O(m log m)

	Q m = |A| + |B|�
"�� ��%	�
�8�� 
� ����8��� 
� �	�������� ��� 
��������� ��� I� �	
��


��� �� �	%
�
�� K����8��
�L C�	
� F��&GD� "� �	%
�
�� ���
�� ����
 �� ��� 
�
�	������ 
��������
�� C�	
� ����
	�� ��� �� '��D ���� 
�-	����
	� �	�����



����
	�� %

$������	
�� ���	
���� ��� ���

������	����	�

��� "�����������	 ���(	����(��	 �� ����	���1
��(��	

<	�� ��	�� 
���	
�
� 
��� �� ����
� ��� 
� �8��
��� � �� �	�
	� 
� ���*��
M : A → Δ∪{ε} *�
 ������ � �� -	
� 
� ����������� ��� ���������� 
�	(���7
��(��� �� 
�

������(����

:� ���� ���� �
�������� �	��

���� *�� �!	�����
	� 
� ���*�� �� �!�M��7
��� ��� ��� ��� ���������� ��
� ��� ��� �	��	�������� ) M : A∗ → Δ∪ {ε}�
0
��
 �
 u ∈ A∗ �� M(u) = ε �� �	�������� �� ���� 	(������ �� �	��	�������
u ) 
� 
	
� �� �	��	���� 
� �� �=�� ���
��� ����� �� ����� u� �� �=��$ �

u, v ∈ A∗ �� M(u) = M(v) �� �	�������� �� ���� 

��
�%��� ��� �	��	��������
u �� v� :� ����� ��	�� 
� �	��	�������� 
�	(�����(��� �� 
�

������(����

5����*�	�� 
!�(	�
 *�� 

�� *�� 
��6 �	��	�������� wa, wb ∈ A∗ ����
a, b ∈ A �	�� 
�

������(��� ���
��� � �	��

���� *�!����� �� �	��	������� w
��� ���������� a �� b �	�� 
�

������(���� ���� �� ���$ ��� ���	����� ����
��

� �
� �� �8��
��� � ��S���� �	�� ����
 �� �� ���� 
� �	����
�����

3�
� 	� ���� ����
 �	��

���� �� ��� 	Q �� �	�������� 
������ ��� �����7
����� a, b ∈ A ��
� �� ���� ���	
� 
��� *��� 	�
�� 
�� �� �	�� ��	
�
��$ �!���
� 

�� M(ab) = M(ba) C
� �6
��� �� 
� �
� 
� ����8�	�
���D� ,� 
!������
������$ �� �	�������� �� ��R	
� *�� �� K��*���L {a, b}� 2� �	�������� ���� ��7
���
��� 

������� a �� b$ �!��� � 

�� M(a) �= M(b)� ,� �M��$ �
 
� ����$ 
� ��
��R	
� *�� �� K��*���L {a, c} 	Q c ∈ A$ �!��� � 

�� M(ac) = M(ca)$ ��
� 

M�7
����
� ��� 
��6 K��*����L {a, b} �� {a, c}$ ��	�� �������
������ M(b) �= M(c)�
�	��$ �������
������ M(a) �= M(b) 	� M(a) �= M(c)� �� �6
��� 
	�� (
��

��



2� ��	(���� 
� �:�/ ��


�� ��� 	Q �� �	������ ���� �	��	�������� 
�

������(��� �� ���� �� ��
�
��
�� ��� 
�� ���������� 
�

������(����

0��� �	��� -	����
���$ �
 Q = 〈A, Λ, S, s0, e, λ〉 ��� �� �	�������� �� �	��
�	�� s ∈ S$

Y �
 �� �	��	������� u ∈ A∗ ��� 
�	(�����(�� �� e(s, u) ��� 
� �
$ ��	��
e(s, u) = s�

Y �
 ��� �	��	�������� u, v ∈ A �	�� 
�

������(��� �� e(s, u) �� e(s, v)
�	�� 
� �
�$ ��	�� e(s, u) = e(s, v)�

<	�� ��	��	�� 
��� �� �8��
��� *�!��� �6����
	� 
� μ7������ � �� ���� 
�
�	����
���� ���
 �� ���
� �(
�
�� 
�
��

�(��� 2� ����
� ��� ��� 
�

�� �� ��	7
(���� 
� �	�� �� � �� ��������
���
	�� �� �!�%
� 
� 
��	��	��� �� ��	(���� 
�
�	�� �� ������ 
� ��	��
���� 
�� ���	����� � � 
!

���
 �� ������ *�
 �� �	��
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�  &�&� �	
� m ≥ 1 �� ���
��� �	
� X �� Y 
��6 ���8�(��� �� Ym =
{ym : y ∈ Y }� �	
� x ∈ X∗ �� y ∈ Y ∗

m� :� �	�� "��)�m(x, y) �!�����(�� 
��
�	�� w 
� {X ∪ Ym}∗ ��� *�� πX(w) = x �� πY (w) = y� :� ���� �����������
�� �8�]� �	��� �!�����(�� 
�� �8��
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��� C�	
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�	�� "��)�(x, y) �� �
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� x = a1a2a3 �� y = bm
1 bm
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�����	�
�  &�& �	
� {(up, vp) : p = 1, . . . n} �� ������� 
� �	�� ��� A ��
B �!���8�(�� {$p}1≤p≤n� :� �	��$ �	�� m > 0$ Lm

1 = {$m
p up : p = 1, . . . n}+

�� Lm
2 = {$m

p vp : i = 1, . . . n}+�
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1 �= ∅ �� "��)�m(x, y) ∩ Lm
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2 ∩ "��)�m(x, y)� �	��$ p = q

�� �	�� �	�� l = 1, 2, . . . , p$ 	� � il = jl ��� $m
i1 · · ·$m
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j1 · · · $m
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p · · ·ajp

p ∈ Ajp� �	
� Z �� ���8�(�� �	�������
A ∪ B� �	
� A∃(Lm

i ) = 〈Z, Q, {q0, q1}, Q∀, q0, δ, ∅〉 �!���	���� �
���� 
� �

�	��� ��
� )

Q∀ = {qk
p,$, q

j
p : p = 1, . . . , n, k = 1, . . . , m �� j = 1, . . . , jp} ∪ {q∅}

Y δ(q0) = {(ε, q1
p,$) : p = 1, . . . , n}

Y δ(qk
p,$) = {→$p, ($p, q

k+1
p,$p

)} �	�� k = 1, . . . , m − 1

Y δ(qm
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1
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p
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p , q1)}

Y δ(q1) = {(ε, q1
p,$) : p = 1, . . . , n} ∪ {q∅}

Y δ(q∅) = {�x: x ∈ A ∪ B}
*����  &�&� �	
� P = 〈Z, S, s0, e〉 �� ��	������ ���� A ∪ B ⊆ Z� 0�	��
P � A∃(Lm
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*�� L(P ) ∩ (A ∪ B)∗ = Pref("��)�m(x, y))
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"��)�m(x, y) ∩ Lm
1 �= ∅ �� "��)�m(x, y) ∩ Lm

2 �= ∅
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�� �� ��	������ P = 〈Z, S, s0, e〉 � ����
� 
�� �	�� x
�� y ��� *�� L(P ) = Pref("��)�m(x, y))� �� ����$ �� ��	�	�
�
	� ����& �	��
������ *�!
� �6
��� 
��6 �8��
�� u �� v 
� P $ �	�� 
��6 
� �	�%���� |x|+ |y|$
��� *�� u ∈ Lm

1 �� v ∈ Lm
2 � "	��� L(P ) = Pref("��)�m(x, y))$ �
 e(s0, w)

��� 
� �
 �� |w| = |x| + |y|$ 	� � DP (e(s0, w)) = ∅� �	��$ 
!����� �� �����
�����$ P � A∃(Lm

1 ) ∧ A∃(Lm
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��� u ∈ Lm
1 �� v ∈ Lm
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�	�$ DP (e(s0, u))∩(A∪B)∗ �= ∅�
�� �=��$ v ∈ "��)�m(x, y)� �	��

"��)�m(x, y) ∩ Lm
1 �= ∅ �� "��)�m(x, y) ∩ Lm

2 �= ∅
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��
���� �� Bm = {bm : b ∈
B}� �	
� P = 〈Z, S, s0, e〉 �� ��	������ ���� A ∪ B ⊂ Z� �� �6
��� x ∈ A∗

�� y ∈ B∗ ��� *�� L(P ) ∩ (A ∪ B)∗ = Pref("��)�m(x, y)) �
 ��� �	�

�
	��
��
������ �	�� ���
 ��� )

��
L(P ) ∩ (A ∪ B)∗ ⊆ (A ∪ Bm)∗ C�����D

�� �� �6
��� a ∈ A �� b ∈ B$ ��� *�� )

DP (s0) ∩ (A ∪ B) = {a, b} 	� DP (s0) ∩ (A ∪ B) = ∅ C�����D
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�� �	�� �	�� s ∈ S$ 
� �6
��� a ∈ A �� b ∈ B ��� *�� )

DP (s) ∩ (A ∪ B) ⊂ {a, b} C�����D

�� �	�� �	�� s ∈ S$ �
 DP (s) ∩ (A ∪ B) = {a, b}$ ��	��
e(s, abm) �� e(s, bma) �	�� 
� �
� C�����D

&� �	�� �	�� s ∈ S$ ��� *�� e(s, abm) �� e(s, bma) �	�� 
� �
�$ ��	�� )

e(s, abm) = e(s, bma) C����&D

'� �	�� �	�� s ∈ S$ �
 
� �6
��� a ∈ A ��� *�� DP (s)∩ (A∪B) = {a}$ ��	��
DP (e(s, a)) ∩ (A ∪ B) ⊂ A C����'D

�� �	�� �	�� s ∈ S$
Y �
 
� �6
��� b, b′ ∈ B ��� *�� e(s, bmb′m) ��� 
� �
 �� DP (e(s, bm)) ∩

(A ∪ B) = {b′}$ ��	��
DP (e(s, bmb′m)) ∩ (A ∪ B) ⊂ B C�����D

Y �
 
� �6
��� a ∈ A �� b ∈ B ��� *�� e(s, a) ��� 
� �
 �� DP (e(s, a)) ∩
(A ∪ B) = {b′}$ ��	��

DP (e(s, ab′m)) ∩ (A ∪ B) ⊂ B C����+D

)����� 
 �	
� X �!�����(�� 
�� ����� s ∈ S ��� *�!
� �6
��� u ∈ (A ∪ Bm)∗

��� *�� e(s0, u) = s� �	�� u, v ∈ (A∪B)∗$ 	� �	�� u ≡ v �
 πA(u) = πA(v) ��
πB(u) = πB(v)� <	�� ���	�� ��
������� �	����� ��� ������ ������$ ������ ��
������ ����� 
� �����
� � �� ������ ��
��
�����

*����  &�&�% �	
� u, v ∈ (A ∪ Bm)∗ ��� *�� u ≡ v� 0�	�� �	�� �	��
s ∈ X$ �
 e(s, u) ��� 
� �
$ ��	�� e(s, v) ��� 
� �
 �� �%�� � e(s, u)�

)����� �� �����  &�&�% 
 ����	�	�� *�� �� ����� ��� ���
 �	��
�	�� u, v ∈ (A ∪ Bm)∗ ��� *�� |u| = |v| < n�
�	
� u, v ∈ (A ∪ Bm)∗ ��� *�� u ≡ v �� |u| = |v| = n�
����	�	�� *�� u = au′ �� v = xv′ ���� a ∈ A �� x ∈ A ∪ B� �

x ∈ A$ ��	��$ 
!����� �� ��	��
��� C�����D$ x = a� �	�� 
!����� �!8��	7
�8��� 
!
�
���
	�$ �
 e(s, au′) = e(e(s, a), u) ��� 
� �
$ ��	�� e(s, av′) =
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e(e(s, a), v) ��� 
� �
 �� �%��� � e(s, au′)� ����	�	�� *�� x = b ∈ B� �

e(s, b) �!��� ��� 
� �
$ 
!����� �� ��	��
��� C����'D$ u ∈ A∗ �� *�
 ���
�	����

��	
�� ���� u ≡ v ��
�*�� πB(u) = πB(v) = πB(bv′) �= ε� �	��
e(s, b) ��� 
� �
� �!����� �� ��	��
��� C�����D$ 	� � e(s, bm) ��� 
� �
 ��
v = bmv′′�
�� ����$ 	� � )

πA(v′′) = πA(bmv′′) = πA(v) = πA(u) = πA(au′) = aπA(u′)

πB(u′) = πB(au′) = πB(u) = πB(v) = πB(bmv′′) = bmπB(v′′)

�	��

u ≡ aπA(u′)πB(u′) ≡ aπA(u′)bmπB(v′′) ≡ abmπA(u′)πB(v′′)

v ≡ bmπA(v′′)πB(v′′) ≡ bmπA(u)πB(v′′) ≡ bmaπA(u′)πB(v′′)

�	��$ ��� 
�
���
	�$ �
 e(s, u) = e(s, au′) = e(e(s, a), u′) ��� 
� �
$ ��	��
e(s, abmπA(u′)πB(v′′)) = e(e(s, a), bmπA(u′)πB(v′′)) ��� 
� �
 �� �%��� �
e(s, u)� �� �=��$ 
!����� �� ��	��
��� C�����D$ e(s, abm) = e(s, bma)$

	�� �
 e(s, abmπA(u′)πB(v′′)) ��� 
� �
$ ��	�� e(s, bmaπA(u′)πB(v′′))
��� 
� �
 �� �%��� � e(s, abmπA(u′)πB(v′′))� �� �=��$ 	� �	���� *��
�
 e(s, bmaπA(u′)πB(v′′)) ��� 
� �
 ��	�� e(s, v) ��� 
� �
 �� �%��� �
e(s, bmaπA(u′)πB(v′′))� �	�� e(s, u) = e(s, v)�

����	�	�� ��
������� *�� u = bu′ �� v = xv′ ���� b ∈ B$ x ∈ A ∪ B
�� e(s, u) ��� 
� �
� �
 x ∈ B$ ��	��$ 
!����� �� ��	��
��� C�����D$ x =
b� �	�� 
!����� �!8��	�8��� 
!
�
���
	�$ �
 e(s, bu′) ��� 
� �
$ ��	��
e(s, bv′) ��� 
� �
 �� �%��� � e(s, bu′)� ����	�	�� ��
������� *�� x ∈ A�
�
 e(s, a) �!��� ��� 
� �
$ 
!����� �� ��	��
��� C�����D$ s �= s0 �� ��
�*��
s ∈ X$ 
� �6
��� u ∈ ∈ (A ∪ Bm)+ ��� *�� e(s0, u) = s� �!����� ���
��	��
���� C�����D �� C����+D$ u ∈ B+

m� "� *�
 ��� �	����

��	
�� ����
u ≡ v� �	�� e(s, a) ��� 
� �
� :� 
��	���� ����
�� *�� e(s, v) ���

� �
 �� �%��� � e(s, u) 
� -�R	� �
�
��
��� �

*����  &�&�� �	�� �	�� s ∈ X �� u ∈ A∗ �� v ∈ B∗
m$ �
 e(s, u) ��

e(s, v) �	�� 
� �
� ��	�� e(s, uv) �� e(s, vu) �	�� 
� �
� �� �%��6�

)����� �� �����  &�&�� 
 2� ��	��
��� ��� ���
 �
 �!�� 
�� 
��6
�	�� u 	� v ��� �

�� ����	�	�� *�� �� ��	��
��� ��� ���
 �	�� �	��
u ∈ A∗ �� v ∈ B∗

m ��� *�� |u| + |v| < n�



2� ��	(���� 
� �:�/ �9

�	
� s ∈ X$ u = au′ ∈ A+ �� v = bmv′ ∈ B+
m ��� *�� |u| + |v| = n ��

e(s, u) �� e(s, v) �	�� 
� �
�� �!����� ��� ��	��
���� C�����D �� C����&D$
e(s, abm) �� e(s, bma) �	�� 
� �
� �� �%��6�

"	��� e(s, au′) �� e(s, abm) �	�� 
� �
�$ 
!����� �!8��	�8��� 
!
�
��7
�
	�$ e(s, abmu′) ��� 
� �
� �� �=��$ �	��� e(s, bv′) �� e(s, bma) �	��

� �
�$ 
!����� �!8��	�8��� 
!
�
���
	�$ e(s, bmav′) ��� 
� �
�
��
�*�� e(s, abm) = e(s, bma)$ 
!����� �!8��	�8��� 
!
�
���
	� �� �	���
e(s, abmu′) �� e(s, bmav′) �	�� 
� �
�$ e(s, abmu′v′) ��� 
� �
�
:�$ ��
�*�� uv ≡ vu ≡ abmu′v′$ 
!����� �� ����� ������$ e(s, uv) ��
e(s, vu) �	�� 
� �
� �� �%��6� �

*����  &�&�� �	�� �	�� s ∈ X �� u, v ∈ (A ∪ Bm)∗$ �
 e(s, u) ��
e(s, v) �	�� 
� �
� ��	�� 
� �6
��� u′ �� v′ ��� *�� e(s, uu′) �� e(s, vv′)
�	�� 
� �
� �� �%��6�

)����� �� �����  &�&�� 
 2� ��	��
��� ��� ���
 �
 �!�� 
�� 
��6
�	�� u 	� v ��� �

�� ����	�	�� *�� �� ��	��
��� ��� ���
 �	�� �	��
u, v ∈ (A∪Bm)∗ �� ��� *�� |u|+ |v| < n� �	
� s ∈ X �� u, v ∈ (A∪Bm)+

��� *�� e(s, u) �� e(s, v) �	�� 
� �
� �� |u| + |v| = n�

�
 u �� v 	�� �� ��� 6� �	���� w ∈ (A∪Bm)∗$ ��	��$ 
!����� �!8��	7
�8��� 
!
�
���
	�$ �� ��	��
��� ��� ���
�

�	
� x0 = πA(u)πB(u) = α0x
′
0 �� y0 = πA(v)πB(v) = β0y

′
0� �	
� x1 =

πB(u)πA(u) = α1x
′
1 �� y1 = πB(v)πA(v) = β1y

′
1� �!����� �� �����

������$ e(s, x0)$ e(s, x1)$ e(s, y0) �� e(s, y1) �	�� 
� �
��

�
 α0 = β0$ ��	�� 
!����� �!8��	�8��� 
!
�
���
	�$ 
� �6
��� u′ �� v′ ��� *��
e(s, x0u

′) �� e(s, y0v
′) �	�� 
� �
� �� �%��6� :� x0u

′ ≡ uu′ �� y0v
′ ≡ vv′$


	��$ 
!����� �� ����� ������$ e(s, uu′) �� e(s, vv′) �	�� 
� �
� �� �%��6�
�	�� α1 = β1 �� ������ ��� �
�
��
���

����	�	�� ��
������� *�� α0 �= β0 �� α1 �= β1� �!����� �� ��	��
���
�����$ �	
� α0 ∈ A �� β0 ∈ B 	� �	
� α0 ∈ B �� β0 ∈ A� �
 α0 ∈ A ��
β0 ∈ B$ ��	�� πA(v) = ε� �	�� y1 = πB(v) �= ε$ 
	�� y1 = β0y

′
0� "	���

β0 ∈ B$ 
!����� �� ��	��
��� �����$ α1 ∈ A �� 
	�� πB(u) = ε� �	��
u ∈ A+ �� v ∈ B+� �
 α0 ∈ B �� β0 ∈ A 	� 
��	���� 
� -�R	� �
�
��
��
*�� u ∈ B+ �� v ∈ A+�

���� ��� 
��6 ���$ 
!����� �� ����� ������$ e(s, uv) �� e(s, vu) �	��

� �
� �� �%��6� �

5����	�� ��
������� � �� ������ 
� �� ��	�	�
�
	� ����9� �	
� M �!��7
���(�� 
�� �������� ��6
���6 C�	�� �!	�
�� ��� 6�D 
� �!�����(�� L(P ) ∩



+� ��-	����
	� ����
���� ��� ��� �	��	��������

(A∪B)∗� �	
� u ∈ L(P ) ∩ (A ∪B)∗� �
 v ≡ u ��	��$ 
!����� �� ����� ������$
v ∈ L(P ) ∩ (A ∪ B)∗�

�	
� u ∈ M �� v ≡ u� �
 v /∈ M ��	�� 
� �6
��� w �= ε ��� *�� vw ∈ M � :�
uw ≡ vw 
	��$ 
!����� �� ����� ������$ uw ∈ M � "� *�
 ��� �	����

��	
��
���� u ∈ M � �	�� v ∈ M �

�	
� u, v ∈ M � �!����� �� ����� ������$ 
� �6
��� u′ �� v′ ���� *�� uu′, vv′ ∈
L(P ) ∩ (A ∪ B)∗ �� uu′ ≡ vv′� ��
�*�� u �� v �	�� ��6
���6$ u′ = v′ = ε

	�� u ≡ v� �

*����  &�&�� 2�� �	�

�
	�� 
� �� ��	�	�
�
	� ����9 �	�� 
� �
���(��� ���

�� ���	����� �
����� �6����� �� ��	��
��� C����&D�

'����(��  &�&� :� ���� ����
 	(������ *�� ��� �	�

�
	�� 
� �� ��	�	�
7
�
	� ����9 � �!�6����
	� 
� �� ��	��
��� C����&D$ �	�� 
�� �	�

�
	�� �������
����

)����� �� �����  &�&�� 
 2� ��	��
��� C����&D �!��� ��� 
� �
���(�� ���
�� ���	���� �
���� 
	�� ��� �	
���� �	�� 
� �
� � (
�
�����
	� ���� C�	
�

� �
�
	� ����� �� ����� ��&���D ��� 
� �6
��� 
�� �	
���� �� ���
 ��� ��� ��
��	��
��� C����&D ��
� (
�
�
��
��� � ���67�
� <	�� 
���
�	�� ��
������� 
��
���	����� �
����� �	�����	�
��� �8���� � �!��� 
�� �	�

�
	�� 
� �� ��	�	7
�
�
	� ����9 �6����� �� ��	��
��� C����&D�

�	
� A(4.2.1) = 〈Z, Q, ∅, Q∀, q0, δ, ∅〉 ��� *�� )
Y Q∀ = {q0} ∪ {qi

b : i ∈ ]m], b ∈ B}
Y δ(q0) = {(a, q0) : a ∈ A} ∪ {(b, q1

b ) : b ∈ B}
Y �	�� �	�� i ∈ ]n−1]$ δ(qi

b) = {→b, (b, q
i+1
b )}∪{�x: x ∈ A∪B−{a, b}}

Y δ(qm
b ) = {→b, (b, q0)} ∪ {�x: x ∈ A ∪ B − {a, b}}

:� � P � A(4.2.1) �
 �� ��������� �
 P ���
 � �� ��	��
��� C�����D�

�	
� A(4.2.2) = 〈Z, Q, q0, Q
∀, q0, δ, ∅〉 ��� *�� )

Y Q∀ = {qa,b : a ∈ A, b ∈ B}
Y δ(q0) = {(ε, qa,b) : a ∈ A, b ∈ B}
Y δ(qa,b) = {→a,→b} ∪ {�x: x ∈ A ∪ B − {a, b}}

:� � P � A(4.2.2) �
 �� ��������� �
 P ���
 � �� ��	��
��� C�����D�

�	
� A(4.2.3) = 〈Z, Q, q0, Q
∀, q0, δ, ∅〉 ��� *�� )

Y Q∀ = {qa,b : a ∈ A, b ∈ B} ∪ {qx : x ∈ A ∪ B} ∪ {q∅}
Y δ(q0) = {(ε, qa,b), (ε, qx) : a ∈ A, b ∈ B, x ∈ A ∪ B}
Y δ(qa,b) = {→a, (a, q0),→b, (b, q0)} ∪ {�x: x ∈ A ∪ B − {a, b}}
Y δ(qx) = {→x, (x, q0)} ∪ {�x: x ∈ A ∪ B − {x}}
Y δ(q∅) = {�x: x ∈ A ∪ B}



2� ��	(���� 
� �:�/ +�

:� � P � A(4.2.3) �
 �� ��������� �
 P ���
 � �� ��	��
��� C�����D�

�	
� A(4.2.4) = 〈Z, Q, q0, Q
∀, q0, δ, ∅〉 ��� *�� )

Y Q∀ = {qa,b : a ∈ A, b ∈ B} ∪ {qX : X ⊂ A ∪ B − {{a, b} : a ∈ A, b ∈
B}} ∪ {qb,i, q

a
b,i : a ∈ A, b ∈ B, i ∈ ]m]}

Y δ(q0) = {(ε, qa,b) : a ∈ A, b ∈ B}∪{(ε, qX) : |X∩A| �= 1 �� |X∩B| �= 1}
Y δ(qX) = {→x, (x, q0) : x ∈ X} ∪ {�x: x ∈ A ∪ B − X}
Y δ(qa,b) = {→a, (a, q0), (a, qb,1),→b, (b, q0), (b, q

a
b,1)} ∪ {�x: x ∈ A ∪ B −

{a, b}}
Y δ(qb,i) = {→b, (b, qb,i+1)} �	�� i = 1, . . . , m − 1 �� δ(qb,m) = {→b}
Y δ(qa

b,i) = {→b, (b, q
a
b,i+1)} �	�� i = 1, . . . , m − 1 �� δ(qa

b,m) = {→a}
:� � P � A(4.2.4) �
 �� ��������� �
 P ���
 � �� ��	��
��� C�����D�

�	
� A(4.2.6) = 〈Z, Q, q0, Q
∀, q0, δ, ∅〉 ��� *�� )

Y Q∀ = {qa : a ∈ A} ∪ {qX : X ⊆ A ∪ B − {a : a ∈ A}} ∪ {qA}
Y δ(q0) = {(ε, qa) : a ∈ A} ∪ {(ε, qX) : X ⊆ A ∪ B, |X ∩ A| �= 1}
Y δ(qX) = {→x, (x, q0) : x ∈ X} ∪ {�x: x ∈ A ∪ B − X}
Y δ(qa) = {→a, (a, qA)} ∪ {�x: x ∈ A ∪ B − {a}}
Y δ(qA) = {(a, qA) : a ∈ A} ∪ {�x: x ∈ B}

:� � P � A(4.2.6) �
 �� ��������� �
 P ���
 � �� ��	��
��� C����'D�

�	
� A(4.2.7) = 〈Z, Q, {q1}, Q∀, q0, δ, ∅〉 ��� *�� )
Y Q∀ = {q1

b,i, q
2
b,i : b ∈ B, i ∈ ]m + 1]} ∪ {q0} ∪ {qX : X ⊆ A ∪ B − {a :

a ∈ A}}
Y δ(q0) = {(b, q1

b,1) : b ∈ B} ∪ {(x, q0) : x ∈ A ∪ B}
Y δ(q1

b,i) = {(b, q1
b,i+1)} �	�� i = 1, . . . , m

Y δ(q1
b,m) = {(b, q1)}

Y δ(q1) = {(ε, qX), (ε, q2
b,1)}

Y δ(qX) = {→x: x ∈ X} ∪ {�x: x ∈ A ∪ B − X}
Y δ(q2

b,1) = {→b, (b, q
2
b,2)} ∪ {�x: x ∈ A ∪ B − {b}}

Y δ(q2
b,i) = {(b, q2

b,i+1)} �	�� i = 2, . . . , m
Y δ(q2

b,m+1) = {�x: x ∈ A}
:� � P � A(4.2.7) �
 �� ��������� �
 P ���
 � �� ��	��
��� C�����D�

�	
� A(4.2.8) = 〈Z, Q, {q1}, Q∀, q0, δ, ∅〉 ��� *�� )
Y Q∀ = {qa, qb,i : a ∈ A, b ∈ B, i ∈ ]m+1]}∪{q0}∪{qX : X ⊆ A∪B−{a :

a ∈ A}}
Y δ(q0) = {(a, q1) : a ∈ A} ∪ {(x, q0) : x ∈ A ∪ B}
Y δ(q1) = {(ε, qX), (ε, qb,1)}
Y δ(qX) = {→x: x ∈ X} ∪ {�x: x ∈ A ∪ B − X}
Y δ(qb,1) = {→b, (b, qb,2)} ∪ {�x: x ∈ A ∪ B − {b}}



+� ��-	����
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���� ��� ��� �	��	��������

Y δ(qb,i) = {(b, qb,i+1)} �	�� i = 2, . . . , m
Y δ(qb,m+1) = {�x: x ∈ A}

:� � P � A(4.2.8) �
 �� ��������� �
 P ���
 � �� ��	��
��� C����+D�

�����	�
�  &�&�! �	
� (��"��)�m �!���	���� �
���� )

A(4.2.1) ∧A(4.2.2) ∧A(4.2.3) ∧A(4.2.4) ∧A(4.2.6) ∧ (A(4.2.7) ∨A(4.2.8)
)

)�
�
��	�
�  &�&�� P � (��"��)�m �
 �� ��������� �
 P ���
 � ��� ��	��
�7
��� C�����D$ C�����D$ C�����D$ C�����D$ C����'D$ C�����D �� C����+D 
� �� ��	�	�
�
	�
����9�

)����� 
 "!��� ��� �	���*����� 

����� 
� ����� ������� �

��� 
�������(����� �� �� 	���	 �(�����

�!&! *���
��� ���� ��
�����
���
 (k, p),����
��������


�����	�
�  &�&� E� �������� ���� ����������	�� (k, p)�
	�
����	��
�� A =
〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 ��� �� ���	���� �
���� 
	�� 	� ����
 �� -	���
	�

� �����
�
	� δ �	��� ��
� )

δ : Q × 2Λ → P
((

(A ∪ {ε}) × Q
) ∪ (

Ak × Ap × {� , ��}))

�	�� �
���
 �� ��� ���
�����$ 	� �	��$ �	�� �	�� u ∈ Ak �� v ∈ Ap$ �u,v ��
��u,v �� �
��$ �������
������$ 
� (u, v, � ) �� (u, v, ��)�

2� �	�
	� 
� ������ �� 
!��������
	� 
� ��� ���	����� ��� ����
 
���
��
��� �� ?�� �	��� ��
��

�����	�
�  &�&� �	
� A = 〈A, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ���� �	�7
�	�������� (k, p)7
�

������(��� �� P = 〈A, Λ, S, s0, e, λ〉 �� ��	������� 2� ���
����������
�	 G(A, P ) ��� �� %���8� 〈V0, V1, v0, Edge, AccG〉 
� �
 �	���
�	�� �� ���	���� �
����$ ��*��� 	� �?	��� 
� �	������� ��=��� )

Y ����
� �8�*�� �	���� (q, s) �� �	�� �	�� �u,v∈ δ(q, λ(s)) 
� � � ���
��=�� 
��� Edge ���� ⊥ �
 e(s, u) �� e(s, v) �	�� 
� �
� ��
� ��� �%��6$
�� ���� � �
�	��

Y ����
� �8�*�� �	���� (q, s) �� �	�� �	�� ��u,v∈ δ(q, λ(s)) 
� � � ���
��=�� 
��� Edge ���� ⊥ �
 e(s, u) �� e(s, v) �	�� 
� �
� �� �%��6$ �� ����
� �
�	��

+
	�	�
�  &�&� :� �	�� AUTO(A, Λ, (k, p), � ) ��� ���	����� ���� �	�7
�	�������� (k, p)7
�

������(����



��
��

�(
�
�� 
� �� ���
� �(
�
�� +�

�!&!� �������������� �� �� 
���
#�������

,-�
����  &�& �
 k ≥ 2 	� p ≥ 2$ ��	�� �� ���
� �(
�
�� 
�� ���	����� ����
�	��	�������� (k, p)7
�

������(��� ��� 
�
��

�(��� "� �������� ����� ���


��� �� ��� 	Q ��� ���	����� �	�� � �	�

�
	� 
!������
(
�
�� C�	
� 
� �
�
	�
�����D�

"!��� ��� �	���*����� 

����� 
� �� ��	�	�
�
	� ����+ �� 
� ����� ����9

+
	�	�
�  &�&! :� �	�� A$ B �� Z 
�� ���8�(��� ��� *�� A ∪ B ⊂ Z ��
z ∈ Z − (A ∪ B)�

�����	�
�  &�&� �	
�Ap
k = 〈Z, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ���� �	�7

�	�������� (k, p)7
�

������(��� 
� �
 �	��� ��
� )
Y Acc = ∅$ Q∃ = ∅ �� Q∀ = {q0} ∪ {qi

z : i ∈ ]k]}
Y δ(q0) = {→z, �abp−1,zk, �bp−1a,zk} ∪ {(x, q0) : x ∈ A ∪ B} ∪ {(z, q1

z)}
Y δ(qi

z) = {(z, qi+1
z ),→z} �	�� i = 1, . . . , k − 1

Y δ(qk
z ) = {→z}

*����  &�&� �	
� P = 〈Z, S, s0, e〉 �� ��	������� �
 P � Ap
k ��	�� �	�� �	��

s ∈ S ������
(��$ �� �	�� �	�� a ∈ A �� �� b ∈ B$ �
 e(s, abp−1) �� e(s, bp−1a)
�	�� 
� �
�$ ��	�� 
�� �	�� �%��6�

)����� 
 �
 e(s0, u) = s ���� u ∈ (A ∪ B ∪ {z})∗$ ��	�� 
� �6
��� �� �8��
�

���
� �� �	�
�
	� (q0, s0) ���� (q0, s) 
��� �� ?�� G(Ap

k, P )� ��
�*��→z∈ δ(q0)
�� �	�� �	�� i ∈ ]k]$→z∈ δ(qi

z) $ e(s, zk) ��� 
� �
� �
 e(s, abp−1) �� e(s, bp−1a)
�	�� 
� �
�$ ��
�*�� �abp−1,zk, �bp−1a,zk∈ δ(q0)$ 	� � C�	
�  %��� ��� D )

e(s, abp−1) = e(s, zk) = e(s, bp−1a)

�

a
bp−1

zk

a
bp−1

a

zk

bp−1 a

bp−1

zk

⇒

���� ��� Y
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)�
�
��	�
�  &�&" 2� ��	(���� 
� �	�� � ��� �	���
	� �
 �� ��������� �

Ap

k ∧ PreShufflep−1 ∧ A∃(Lp−1
1 ) ∧ A∃(Lp−1

2 ) � �� �	
����

)����� 
 �
 P � Ap
k$ 
!����� �� ����� �����'$ ��	�� P ���
 � �� �	�

�
	�

C����&D 
� �� ��	�	�
�
	� ����9 ���� m = p − 1� �
 P � PreShufflep−1

��	��$ 
!����� ��� ��	�	�
�
	�� �����'$ P ���
 � ��� ������ �	�

�
	�� 
� ��
��	�	�
�
	� ����9 �	�� m = p − 1� �	�� 
� �6
��� x ∈ A∗ �� y ∈ B∗ ��� *��
L(P ) ∩ (A ∪ B)∗ = Shufflep−1(x, y)� ��
�*�� P � A∃(Lp−1

1 ) ∧ A∃(Lp−1
2 )$
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�
	� ����+$ �� ��	(���� 
� �	�� � 
	�� ��� �	���
	��
5��
��	*������$ �	
� {ik}1≤k≤l ��� �	���
	� 
� ��	(����
̂� �	��� �	
� x =

ui1ui2 · · ·uil = vi1vi2 · · · vil �� y = $p−1
i1

$p−1
i2

· · · $p−1
il

� 0�	�� 	� ���� �	�����
��
�� ��	������ P = 〈A ∪ B ∪ {z}, S, s0, e〉 ��� *�� )

Y L(P ) ∩ (A ∪ B)∗ = Shufflep−1(x, y)
Y �	�� �	�� s ∈ S$ a ∈ A �� b ∈ B$ �
 e(s, abp−1) �� e(s, bp−1a) �	��

� �
�$ ��	�� e(s, abp−1) = e(s, zk) = e(s, bp−1a)�

:� ���� ���
 �� *�� P � Ap
k ∧ PreShufflep−1 ∧A∃(Lp−1

1 ) ∧A∃(Lp−1
2 )� �

*����  &�&# 2!���	���� Ap
k ∧PreShufflep−1 ∧A∃(Lp−1

1 )∧A∃(Lp−1
2 ) ���

�*�
������ � �� ���	���� ���� �	�

�
	� 
!������
(
�
���

)����� 
 :� ���� ���
 �� *�!��� �	�(
��
�	� (		������ 
!���	����$ ����
	�����
	� 
� �	����������
	�$ ���� Acc �

� ��� �� ���	���� ���� Acc �

��
�

�!&!& *���
��� ���� ��
�����
���
 k,����
�������


�����	�
�  &�&�% E� �������� ���� ����������	�� k�
	��������
��
A = 〈A, Λ, Q, Q∃, Q∀, q0, δ, Acc〉 ��� �� ���	���� �
���� 
	�� 	� ����
 ��
-	���
	� 
� �����
�
	� δ �	��� ��
� )

δ : Q × 2Λ → P
((

(A ∪ {ε}) × Q
) ∪ (

Ak × {� , ��}))

�	�� �
���
 �� ��� ���
�����$ 	� �	��$ �	�� �	�� u ∈ Ak$ �u �� ��u �� �
��$
�������
������$ 
� (u, � ) �� (u, ��)�

2� �	�
	� 
� ������ �� 
!��������
	� 
� ��� ���	����� ��� ����
 
���
��
��� �� ?�� �	��� ��
��

�����	�
�  &�&�� �	
�A = 〈A, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ���� �	�7
�	�������� k7
�	(�����(��� �� P = 〈A, Λ, S, s0, e, λ〉 �� ��	������� 2� ���
����������
�	 G(A, P ) ��� �� %���8� 〈V0, V1, v0, Edge, AccG〉 
� �
 �	���
�	�� �� ���	���� �
����$ ��*��� 	� �?	��� 
� �	������� ��=��� )
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Y ����
� �8�*�� �	���� (q, s) �� �	�� �	�� �u∈ δ(q, λ(s)) 
� � � ���
��=�� 
��� Edge ���� ⊥ �
 e(s, u) ��� 
� �
 ��
� 

M����� 
� s$ �� ����
� �
�	��

Y ����
� �8�*�� �	���� (q, s) �� �	�� �	�� ��u∈ δ(q, λ(s)) 
� � � ���
��=�� 
��� Edge ���� ⊥ �
 e(s, u) ��� 
� �
� �� �%��� � s$ �� ���� �
�
�	��

+
	�	�
�  &�&�� :� �	�� AUTO(k, � ) ��� ���	����� ���� �	��	��������
k7
�	(�����(����

�!&!� �������������� �� �� 
���
#������� ���� k ≥ 3

,-�
����  &�&�� �
 k ≥ 3 ��	�� �� ���
� �(
�
�� 
�� ���	����� ���� �	�7
�	�������� k7
�	(�����(��� ��� 
�
��

�(��� "� �������� ����� ���
 �
 �!��� ��
���	���� � �	�

�
	� 
!������
(
�
���

"!��� ��� �	���*����� 

����� 
� �� ��	�	�
�
	� ������ �� 
� ����� �����+�

+
	�	�
�  &�&� :� �	�� A$ B �� Z 
�� ���8�(��� ��� *�� A ∪ B ⊂ Z ��
z ∈ Z − (A ∪ B)�

�����	�
�  &�&�! �	
� Ak = 〈Z, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ����
�	��	�������� k7
�	(�����(��� 
� �
 �	��� ��
� )

Y Acc = ∅$ Q∃ = ∅ �� Q∀ = {q0} ∪ {qi
z : i ∈ ]k]}

Y δ(q0) = {→z, �zk , �abzk−2 , �bazk−2} ∪ {(x, q0) : x ∈ A ∪ B ∪ {z}} ∪
{(z, q1

z)}
Y δ(qi

z) = {(z, qi+1
z ),→z} �	�� i = 1, . . . , k − 1

Y δ(qk
z ) = {→z}

*����  &�&�� �	
� P = 〈Z, S, s0, e〉 �� ��	������� �
 P � Ak ��	�� �	��
�	�� s ∈ S ������
(��$ �� �	�� �	�� a ∈ A �� �� b ∈ B$ �
 e(s, ab) �� e(s, ba)
�	�� 
� �
�$ ��	�� 
�� �	�� �%��6�

)����� 
 �
 e(s0, u) = s ���� u ∈ (A ∪ B ∪ {z})∗$ ��	�� 
� �6
��� �� �8��
�

���
� �� �	�
�
	� (q0, s0) ���� (q0, s) 
��� �� ?�� G(Ak, P )� ��
�*�� →z∈
δ(q0)$ �� �	�� �	�� i ∈ ]k]$→z∈ δ(qi

z) $ e(s, zk) ��� 
� �
� �
 e(s, ab) �� e(s, ba)
�	�� 
� �
�$ ��	�� e(s, abzk) �� e(s, bazk) �	�� 
� �
�� ��
�*�� �zk∈ δ(q0)$
e(s, ab) = e(s, abzk) �� e(s, ba) = e(s, bazk)� ��
�*�� �abzk−2 , �bazk−2∈ δ(q0)$
	� � C�	
�  %��� ���D

e(s, ab) = e(e(s, abzk−2), z2) = e(e(s, bazk−2), z2) = e(s, ba)

�
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� �	�� � ��� �	���
	� �
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Ak ∧ PreShuffle1 ∧A∃(L1

1) ∧ A∃(L1
2) � �� �	
����

)����� 
 �
 P � Ak$ 
!����� �� ����� �����'$ ��	�� P ���
 � �� �	�

�
	�
C����&D 
� �� ��	�	�
�
	� ����9� �
 P � PreShuffle ��	��$ 
!����� ��� ��	�	7
�
�
	�� �����'$ P ���
 � ��� ������ �	�

�
	�� 
� �� ��	�	�
�
	� ����9� �	�� 
�
�6
��� x ∈ A∗ �� y ∈ B∗ ��� *�� L(P ) ∩ (A ∪ B)∗ = Shuffle1(x, y)� ��
�*��
P � A∃(L1

1) ∧ A∃(L1
2)$ 
!����� �� ��	�	�
�
	� ����+$ �� ��	(���� 
� �	�� �
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5��
��	*������$ �	
� {ik}1≤k≤p ��� �	���
	� 
� ��	(���� 
� �	��� �	
�

x = ui1ui2 · · ·uip = vi1vi2 · · · vip �� y = $i1$i2 · · · $ip� 0�	�� 	� ���� �	�����
��
�� ��	������ P = 〈A ∪ B ∪ {z}, S, s0, e〉 ��� *�� )

Y L(P ) ∩ (A ∪ B)∗ = Shuffle1(x, y)
Y �	�� �	�� s ∈ S$ a ∈ A �� b ∈ B$ �
 e(s0, a) �� e(s0, b) �	�� 
� �
�$ ��	��

e(s0, az) = s0 �� e(s0, bz) = s0

Y �	�� �	�� s ∈ S$ a ∈ A �� b ∈ B$ �
 e(s, ab) �� e(s, ba) �	�� 
� �
�$
��	�� e(s, ab) = e(s, z2) = e(s, ba) �� e(s, abzk−2) = s = e(s, bazk−2)�

:� ���� ���
 �� *�� P � Ak ∧ PreShuffle1 ∧A∃(L1
1) ∧A∃(L1

2)� �

*����  &�&�" 2!���	���� Ak ∧PreShuffle1 ∧A∃(L1
1)∧A∃(L1

2) ��� �*�
7
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�	����������
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�� �	�

�
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�� C
��� 
�� ��7
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��  �
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!���	���� �
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���
 �� ��� ��	��
��� *�
 ��S� �	�� ���
��

�
��

�(�� �	��� �6����
	� 
� μ7������ ���������� 
� �!�6��
���� "���� ��	7
��
��� ���$ 
� -�R	� 
���
�
��$ ��� �	��� 
� K�	������
�
�� 
�� ����������L$

� ���� ab �� ba �	�� 
�

������(���� ,� 
!������ ������$ �� �	�������� ��
��R	
� *�� �� K��*���L {a, b}� :� ���� ����	��� *�� 
�� ��� 
!�����8�	�
���
K���� �
����L ��S���� � ���
�� 
�
��

�(�� �� ���
� �(
�
�� 
� ����
 ���
	���

2�� ��� 	Q �� ���
� �(
�
�� 
�� ����
 ���
	�� ��� 
�
��

�(�� �	�� 
� 
��6
�	����� �	
� �� �	�� 
�� ���	����� *�
 ������� ����
 �� *�� 
��6 �	��	���7
����� u, v ∈ A+ �	�� 
�

������(��� ���� |u| ≥ 2 	� |v| ≥ 2 C1
�� �V�$ �
 u ��
v �	�� 
�

������(��� �� |u| = |v| = 1 �!��� �� ��� 
��

�(�� 
�� ����������

�

������(���D� :� �	
�$ �� �	�� 
�� ���	����� *�
 ������� ����
 �� *�!��
�	��	������� u ∈ A∗ ��� 
�	(�����(�� ���� |u| ≥ 3 C�
 u ��� 
�	(�����(�� ��
|u| = 1 �!��� �� ��� 
��

�(�� 
�� ���������� 
�	(�����(���D�
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�
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���
�� 
�� ���	����� ���� �����7
����� 27
�	(�����(���� ,� �M��$ �� ��	��
��� �a,b ��� �*�
������� � �� �	�?	��7
�
	� 
�� ��	��
���� �az, �bz �� �zz$ z ����� �� �	����� ���(	���
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�	(�����(��� �	��$ 
� ����$ ��� %�7
�����
���
	� 
�� K�A	 A�� ���	����L 
���
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��� FJ9+G� ,� �M��$ �	�� �	��
��������� a ∈ A$ 	� ���� 
� �
� �� ��������� !
���! ā ��� *�� 	� � �	�7
?	��� �aā �� �āa� ���� �� ���$ ����� ��	
� �M����� ��� �����
�
	� a$ 	� ����
�	�?	��� �����
� � �!���� �����
��� �� �M������� ��� �����
�
	� ��� �!�����7
���� ā W �!��������� ā ?	�� �� ���� 
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���L �	�� a C(��@A��
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E�� ����� *����
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2� ��	(���� 
� �	������ 
��������
�� ���� ���������� 
�

������(��� ��

�	(�����(��� C�$)�0D ��� 
� �
 �	��� ��
� )

�	
� P �� ��	������$A �� ���	���� �
���� �� n ���	����� ����
�� B1, . . . ,Bn�
,6
���7�7
� 
�� �	��������� Q1, Q2, . . . , Qn ���� *��$ �	�� �	�� i$ Qi � Bi ��
P × Q1 × Q2 × · · · × Qn � A N

���� �� �8��
��� �	�� 
��	���	�� *�� �� ��	(���� ��� 
�
��

�(�� 
���
�8���� 
�� ��	
� ��� ) B1,B2 ∈ AUTO(A, �) 	� B1,B2 ∈ AUTO(A, � ) 	�
B1 ∈ AUTO(A, �) �� B2 ∈ AUTO(A, �)�

"� ��	(���� ��� �����
��� 
��

�(�� 
��� �� ��� 	Q �	���� ��� ����
 7
���
	�� �	�� ��� �	��������� ���- ��� C
��� �� ���� BiD �	�� 
�� ���	�����
�
����� C�	
� ����
� '��D�

&�� "������� ����������	� ����
B1,B2 ∈ AUTO(A, �)

<	�� ������	�� 
�
 �� �������� 
� F0J>��G�

,-�
���� !&�&� 2� ��	(���� ��
���� ��� 
�
��

�(�� �=�� �
 A,B1,B2

�	�� � �	�

�
	� 
!������
(
�
�� C�	
� 
� �
�
	� �����D )

�	
� P �� ��	������$ A �� ���	���� �
���� �� B1,B2 
�� ���	����� ����
���������� 
�	(�����(���� ,6
���7�7
� 
�� �	��������� Q1, Q2 ��� *��$ �	��

+9



9� ��
��

�(
�
�� 
� �	������ 
��������
��

�	�� i$ Qi � Bi �� P × Q1 × Q2 � A N

0 � 
� ��	���� �� �8�	����$ �	�� ��
�
�	�� �� ��	(���� 
� �:�/ � ��
��	(���� %�T�� ��6 	��
�� 
���
�� ��6 ����
	�� ����� �� ����� 
� �� ����
� ����

�! ! '����#������
 B1 �� B2

�����	�
� !&�&� �	
� A �� B 
��6 ���8�(���� :� �	�� LOOP (B) �!���	7
���� � ���
�� ���� ���������� 
�	(�����(��� �� ���� �!��
*�� ���� ��
������
q0 
� ���
�� 1 ���� �� -	���
	� 
� �����
�
	� δ ��� *�� )

δ(q0) = {(a, q0) : a ∈ A} ∪ {�b: b ∈ B}
:� �	�� LOOP (A) �!���	���� 

���
*�� � LOOP (B) 	Q �� ���� 
�� ���8�(���
A �� B �	�� ��8��%���

:� ���� ��	�� �
������ ���
 �� �� ����� ��
���� )

*���� !&�&� �	
� P = 〈A ∪ B, Λ, S, s0, e, λ〉 �� ��	������ �� X ∈ {A, B}�
0�	�� P � LOOP (X) �
 �� ��������� �
$ �	�� �	�� s ∈ S$ �
 x ∈ DP (s) ∩ X
��	�� e(s, x) = s�

�! !� -����� �� �����	
� �! ! 

)�
�
��	�
� !&�& �	
� {(ui, vi) : i = 1, . . . n} �� ������� 
� �	�� ��� �!��7
�8�(�� A C�	
� 
� �
�
	� ����� D �� B �!���8�(�� {$i}1≤i≤n� 2� ��	(����

� �	�� � ��� �	���
	� �
 �� ��������� �
 
� �6
��� P � LOOP (A) �� Q �
LOOP (B) ��� *�� P × Q � (��"��)�1 ∧ A∃(L1

1) ∧ A∃(L1
2) C�	
� 
� �
�
	��

�����&$ ����� �� ����'D�

)����� 
 �	
� P = 〈A ∪ B, Λ, S, s0, e, λ〉 �� Q = 〈A ∪ B, Λ, S ′, s′0, e
′, λ′〉 
��

��	������ ���� *�� P � LOOP (A) �� Q � LOOP (B)� �
 e × e′((s, s′), ab) ��
e × e′((s, s′), ba) �	�� 
� �
�$ ��	�� e(s, b) �� e′(s′, a) �	�� 
� �
�� �	
� s1 =
e(s, b) �� s′1 = e′(s′, a)� 0�	�� e × e′((s, s′), ab) = e × e′((s, s′1), b) = (s1, s

′
1)

�� e × e′((s, s′), ab) = e × e′((s1, s
′), b) = (s1, s

′
1)$ 
	�� e × e′((s, s′), ab) ��

e × e′((s, s′), ba) �	�� �%��6�
�!����� �� ����� �����'$ ��	�� P ���
 � �� �	�

�
	� C����&D 
� �� ��	�	�
7

�
	� ����9 ���� m = 1� �
 P × Q � (��"��)�1 ��	��$ 
!����� ��� ��	�	�
�
	��
�����'$ P ×Q ���
 � ��� ������ �	�

�
	�� 
� �� ��	�	�
�
	� ����9 �	�� m = 1�
�	�� 
� �6
��� x ∈ A∗ �� y ∈ B∗ ��� *�� L(P ) ∩ (A ∪ B)∗ = "��)�1(x, y)�
��
�*�� P � A∃(L1

1) ∧ A∃(L1
2)$ 
!����� �� ��	�	�
�
	� ����+$ �� ��	(���� 
�

�	�� � 
	�� ��� �	���
	��
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5��
��	*������$ �	
� {ik}1≤k≤l ��� �	���
	� 
� ��	(���� 
� �	��� �	
�
x = ui1ui2 · · ·uil = vi1vi2 · · · vil �� y = $i1$i2 · · ·$il � 0�	�� 	� ���� �	�����
��
�� ��	������ P = 〈A ∪ B ∪ {z}, S, s0, e〉 C�	
�  %��� &��D ��� *�� e(s0, w) ���

� �
 �
 �� ��������� �


Y �	�� �	�� ua ��� 6� 
� w ��� *�� a ∈ A$ 	� � e(s0, ua) = e(s0, u)�
Y πB(w) = y

���� y = b1b2 · · · bl

A

b1

A

b2

A A

bl

���� &�� Y ��	������ P

:� �	�����
� ����
 �� ��	������ Q = 〈A ∪ B ∪ {z}, S ′, s′0, e
′〉 C�	
�  %���

&��D ��� *�� e′(s0, w) ��� 
� �
 �
 �� ��������� �

Y �	�� �	�� ub ��� 6� 
� w ��� *�� b ∈ B$ 	� � e(s0, ub) = e(s0, u)�
Y πA(w) = x

B

a1

B B B

a2 aj

���� x = a1a2 · · ·aj

���� &�� Y ��	������ Q

:� ���� ���
 �� *�� P � LOOP (A)$ Q � LOOP (B) �� )

P × Q � (��"��)�1 ∧ A∃(L1
1) ∧A∃(L1

2)

�

&�� "������� ����������	� ����
B1 ∈ AUTO(A, �) �� B2 ∈ AUTO(A, �)

,-�
���� !&�&� 2� ��	(���� ��
���� ��� 
�
��

�(�� �=�� �
 A,B1,B2

�	�� 
�� ���	����� ���� �	�

�
	� 
!������
(
�
�� C�	
� 
� �
�
	� �����D )
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��

�	
� P �� ��	������$ A �� ���	���� �
���� �� B1 �� ���	���� ����
���������� 
�	(�����(��� �� B2 �� ���	���� ���� ���������� 
�

������(����
,6
���7�7
� 
�� �	��������� Q1, Q2 ���� *��$ �	�� �	�� i$ Qi � Bi �� P × Q1 ×
Q2 � A N

<	�� ������	�� 
�
 ����
 ��� ������6 ��� �� ��	(���� 
� �	�� 
� �� ����
�
��� �� ��� �
���	�� � � 
� ��	���� �� �8�	���� &�����

�	
� A �� B 
��6 ���8�(���  �
�� �	
� e �� # 
��6 �	�����6 ���(	��� ��
C �!���8�(�� A ∪ B ∪ {e} ∪ {#}�

�!�! '����#������ B1

�����	�
� !&�&� :� �	�� B1 �!���	���� ���� ���������� 
�	(�����(��� 〈C, Q, q0, Q
∀, q0, δ, ∅〉


� �
 �	��� ��
� )
Y Q∀ = {qa : a ∈ A} ∪ {q#, q∅}
Y δ(q0) = {(ε, qa) : a ∈ A} ∪ {(ε, q#)}
Y �	�� �	�� a ∈ A$

δ(qa) = {→a, (a, q0)} ∪ {→b, �b: b ∈ B ∪ {e}} ∪ {�x: x /∈ B ∪ {e, a}}
Y δ(q#) = {→#, (#, q∅)} ∪ {→b, �b: b ∈ B ∪ {e}} ∪ {�x: x /∈ B ∪ {#}}
Y δ(q∅) = {�x: x ∈ C}

:� ���� ���
 �� �
������ �� ����� ��
���� 
������� ��� ��  %��� &���

*���� !&�&� �	
� Q1 = 〈C, S, s0, e〉 �� ��	������� Q1 � B1 �
 �� ���������
�
 
� �6
��� u = a1a2 . . . am ∈ A∗ ��� *��$ �� �	���� ui = a1a2 · · ·ai$ 	� � )

Y DQ1(s0) = {a1} ∪ B ∪ {e} �� �	�� �	�� b ∈ B$ e(s0, b) = s0

Y �	�� �	�� i = 1, . . . , m − 1$ DQ1(e(s0, ui)) = {ai+1} ∪ B
Y �	�� �	�� i = 1, . . . , m �� �	�� �	�� b ∈ B$ e(s0, uib) = e(s0, ui)
Y DQ1(e(s0, u)) = {#} ∪ B �� DQ1(e(s0, u#)) = ∅

B ∪ {e}

a1 a2 am #

B ∪ {e} B ∪ {e}B ∪ {e}

���� &�� Y ��	������ Q1 ���� u = a1a2 . . . am
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�!�!� '����#������ B2

�����	�
� !&�& :� �	�� B2 �!���	���� ���� ���������� 
�

������(���
〈C, Q, q0, Q

∀, q0, δ, ∅〉 
� �
 �	��� ��
� )
Y Q∀ = {qb : b ∈ B} ∪ {qe, q#, q∅}
Y δ(q0) = {(ε, qb) : b ∈ B} ∪ {(ε, qe)} ∪ {(ε, q#)}
Y �	�� �	�� c ∈ B ∪ {e}$

δ(qc) = {→c, (c, q0)} ∪ {�a,c,→a, (a, q0) : a ∈ A} ∪ {�x: x /∈ A ∪ {c}}
Y δ(q#) = {→#, (#, q∅)} ∪ {�x: x �= #}
Y δ(q∅) = {�x: x ∈ C}

:� ���� ���
 �� �
������ �� ����� ��
���� 
������� ��� ��  %��� &���

*���� !&�&! �	
� Q2 = 〈C, S ′, s′0, e
′〉 ��	������� Q2 � B2 �
 �� ��������� �



� �6
��� v = y1y2 . . . yk ∈ (B ∪{e})∗ ��� *��$ �� �	���� vj = y1y2 · · ·yj $ 	� � )
Y DQ2(s

′
0) = {y1} ∪ A �� �	�� �	�� a ∈ A$ e′(s′0, a) = e′(s′0, y1)

Y �	�� �	�� j = 1, . . . , k − 1$ DQ2(e
′(s′0, vj)) = {yj+1} ∪ A

Y �	�� �	�� j = 1, . . . , k − 1 �� �	�� �	�� a ∈ A$ e′(s′0, vja) = e′(s′0, vj+1)
Y DQ2(e

′(s′0, v)) = {#} �� DQ2(e
′(s′0, v#)) = ∅

y1 y2 yk #

A A A

���� &�� Y ��	������ Q2 ���� v = y1y2 . . . yk ∈ (B ∪ {e})∗

�!�!& 2��
 ���
��
 ���
 Q1 × Q2

�����	�
� !&�&� �	
� P = 〈C, S, s0, e〉 �� ��	������ �� u ∈ C∗ ��� *��
e(s0, u) ��� 
� �
� :� 

� *�� u ��� �� ��	 ����
	 �
 �	�� �	�� ��� 6� va ∈
C∗A 
� u$ DP (e(s0, v)) ∩ B = ∅�

*���� !&�&� �	
� Q1 � B1 �� Q2 � B2� 0�	�� 
� �6
��� u ∈ A∗ �� v′ ∈
(B ∪ {e})∗ ��� *��$ �� �	���� v = πB(v′)$ 	� � )

Y �
 w# ∈ L(Q1 ×Q2) ��� �� (	� �8��
� ��	�� πA(w) = u �� πB(w) = v�
Y �
 v′ ∈ e|u|(Be|u|)∗ ��	�� �	�� �	�� z ∈ "��)�(u, v) C�	
� 
� �
�
	�
�����D$ 
� �6
��� �� (	� �8��
� w# 
��� Q1 ×Q2 ��� *�� πA∪B(w) = z�
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��

)����� 
 �	
� Q1 = 〈C, S, s0, e〉 �� Q2 = 〈C, S ′, s′0, e
′〉 
�� ��	������ ��� *��

Q1 � B1 �� Q2 � B2�
�	
� u ∈ A∗ �� �	� 
� �
 �� ����� &���� C�	
� O
%��� &��D� �	
� v′ ∈ A∗

�� �	� 
� �
 �� ����� &���& C�	
� O
%��� &��D� �	
� v = πB(v′)�
�	
� w# �� �	� 
� Q1 × Q2� �!����� �� ����� &����$ �	�� ����
�
�� #

	� 
	
� ��	
� πA(w) = u�
�� ����$ 
� �	�� ���� s ∈ S ��� *�� DQ1(s) �= ∅$ 	� � B ⊂ DQ1 � �	�� w#

��� �� (	� �8��
� 
��� Q1 × Q2 �
 �!��� �� (	� �8��
� 
��� Q2� :� ����
��	�� ���
 �� *�� �������
������$ πB(w) = πB(v′) = v�

����	�	�� *�� |u| = m �� v′ ∈ em(Bem)∗� �	
� z ∈ "��)�(u, v) ��� *��

z = v0a
1
1 · · ·a1

p1
vp1a

2
1 · · ·a2

p2
vp2 · · ·ar

1 · · ·ar
pr

vpr

����
Y v0 = b0

1 · · · b0
k0

∈ B∗

Y �	�� �	�� i = 1, . . . r − 1$ vpi
�= ε �� vpi

= bi
1 · · · bi

ki

Y vpr = br
1 · · · br

kr
∈ B∗

�	
� �� �	�

w = w0a
1
1 · · ·a1

p1
wp1a

2
1 · · ·a2

p2
wp2 · · ·ar

1 · · ·ar
pr

wpr

����
Y w0 = ε �
 v0 = ε �� w0 = emb0

1e
m · · · emb0

k0
�
 v0 �= ε

Y �	�� i = 1, . . . , r$ wi = em−pibi
1e

mbi
2 · · · embi

ki
∈ Bki(m+1)+m−pi

:� ���� ���
 �� *�� w# ��� �� (	� �8��
� 
��� Q1 × Q2� �

<	�� 
������	�� �� ����� &���� ��� ���  %���� &�& �� &�'� 2�� �8��
�� ��
���
� ���
� �	�����	�
��� ��6 (	�� �8��
��� ���� �!�6����� 
� ��  %��� &�&$

� �!� � ��� 
� (	�� �8��
�� ����
%���� #� ���� �!�6����� 
� ��  %��� &�'$
�	�� �	�� ��� �	�� 
� "��)�(a1a2, b1b2)$ 
� �6
��� �� �8��
� ����
%���� #

	�� �� ��	?���
	� ��� A ∪ B ��� �� �	��

�!�!� '����#������ A / ���
 ���
��
 ���
 Xe
i #

�����	�
� !&�&" �	
� A �� ���8�(�� �� {(ui, vi) : i = 1, . . . n} �� �������

� �	�� ��� A C�	
� 
� �
�
	� �����D� �	
� B �!���8�(�� {$i}1≤i≤n� <	�	��
Y1 = {$iui : i = 1, . . . n}∗ �� Y2 = {$ivi : i = 1, . . . n}∗ :� �	�� Xe

1 �!�����(��

�� �	�� w ��� *�!
� �6
��� u ∈ Y1 �� �� ���
�� k ��� *�� w = Shuffle(u, ek)
:� 
� �
� Xe

2 
� -�R	� �
�
��
���
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a1

a1

a1

a2

a2

b1

b2

b2

b3

b3

b3

#

���� &�& Y "8��
�� Q1 × Q2 ���� u = a1a2 ∈ A∗ �� v = b1b2b3 ∈ B∗

*���� !&�&# �	
� P = 〈C, S, s0, e〉 �� ��	������� 0�	��$ �	�� i = 1, 2$ 
�
�6
��� �� ���	���� �
����$ �	�� A∃(Xe

i )$ ��� *�� P � A∃(Xe
i ) �
 �� ���������

�
 
� �6
��� �� (	� �8��
� u ∈ L(P ) ∩ Xe
i #

:� ���� ���
 �� *�� ��� ���	����� 
� �� 
� �
�
	� ��
����� &����� ���7
������� �� ������ 
� ����� &���9�

�����	�
� !&�&�% <	�	�� �	�� �	�� p ∈ ]n]$ up = a1
pa

2
p · · ·ajp

p ∈ Ajp� �	
�
A∃(Xe

1) = 〈C, Q, Q∃, Q∀, q0, δ, ∅〉 �!���	���� �
���� 
� �
 �	��� ��
� )

Q∀ = {qp,$, q
j
p, F

j
p : p = 1, . . . , n �� j = 1, . . . , jp} ∪ {qe, q#, q∅}

Q∃ = {q0} ∪ {Ej
p : p = 1, . . . , n �� j = 1, . . . , jp}

Y δ(q0) = {(ε, qp,$) : p = 1, . . . , n} ∪ {(ε, qe), (ε, q#)}
Y δ(qe) = {→e, (e, q0)}
Y δ(qp,$) = {→$p, ($p, E

1
p)}

Y δ(Ej
p) = {(ε, F j

p ), (ε, qj
p)}

Y δ(F j
p ) = {→e, (e, E

j
p)}

Y δ(qj
p) = {→aj

p
, (aj

p, E
j+1
p )} ∪ {�b: b ∈ B} �	�� j = 1, . . . , jp − 1

Y δ(q
jp
p ) = {→

a
jp
p

, (a
jp
p , q0)} ∪ {�b: b ∈ B}

Y δ(q#) = {→#, (#, q∅)} ∪ {�x: x �= #}
Y δ(q∅) = {�x: x ∈ C}

:� 
� �
� 
� -�R	� �
�
��
�� �!���	���� �
���� A∃(Xe
2)�
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e

e

b1

e

e

b2

e

e

a1

a1

a1

a1

a1

a1

a1

a1

e

e

e

e

e

b2

b1

a2

a2

a2

a2

a2

a2

a2

e

e

e

e

b2

b1

#

���� &�' Y "8��
�� Q1 × Q2 ���� u = a1a2 �� v = e2b1e
2b2e

2
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�!�!� -����� �� �����	
� �!�! 

,-�
���� !&�&�� 2� ��	(���� 
� �	�� � �� �	���
	� �
 �� ��������� �
 
�
�6
��� Q1 � B1 �� Q2 � B2 ���� *�� Q1 × Q2 � A∃(Xe

1) ∧ A∃(Xe
1)�

)����� 
 �	
� Q1 � B1 �� Q2 � B2 ���� *�� Q1 × Q2 � A∃(Xe
1) ∧ A∃(Xe

1)�
�!����� �� ����� &���9$ 
� �6
��� x# ∈ L(Q1 × Q2) ∩ Xe

1# �� y# ∈ L(Q1 ×
Q2) ∩ Xe

2#�
0�	�� 
� �6
��� $i1ui1$i2ui2 · · · $ipuip ∈ {$iui : i = 1, . . . n}∗ ��� *�� )

πA∪B(x) = $i1ui1$i2ui2 · · · $ipuip

�� $j1vj1$j2vj2 · · · $jqvjq ∈ {$ivi : i = 1, . . . n}∗ ��� *�� )

πA∪B(y) = $j1vj1$j2vj2 · · · $jqvjq

�� ����$ 
!����� �� ����� &����$ πA(x) = πA(y) �� πB(x) = πB(y)� 2�

��6
��� �%��
�� 
���
*�� *�� p = q �� �	�� �	�� l = 1, 2, . . . , p$ 	� � il = jl�
�	��$ ��
�*�� πA(x) = πA(y)$ ui1ui2 · · ·uip = vi1vi2 · · · vjiq � �	�� �� ��	(����

� �	�� � ��� �	���
	��

�	
� {ik}1≤k≤p ��� �	���
	� 
� ��	(���� 
� �	��� �	
� u = ui1ui2 · · ·uip =
vi1vi2 · · · vip ∈ A+ ���� |u| = n� :� �	�����
� Q1 ���� �� �8��
� u C�	
� O
%���
&��D� :� � (
�� Q1 � B1�

�	
� v′ = en$i1e
n$i2e

n · · · en$ipe
n �� v = πB(v)� :� �	�����
� Q2 ���� ��

�8��
� v′ C�	
� O
%��� &��D� :� � (
�� Q2 � B2�
�	
� z = $i1ui1$i2ui2 · · · $ipuip� "	��� v′ ∈ e|u|(Be|u|)∗ �� z ∈ "��)�(u, v)$


!����� �� ����� &����$ 
� �6
��� �� (	� �8��
� w# 
��� Q1 × Q2 ��� *��
πA∪B(w) = z� �� ���� z ∈ {$iui : i = 1, . . . n}∗� �	�� 
� �6
��� �� (	� �8��
�
w# 
��� Xe

1#�
�	
� t = $i1vi1$i2vi2 · · · $ipvip � "	��� v′ ∈ e|u|(Be|u|)∗ �� t ∈ "��)�(u, v)$


!����� �� ����� &����$ 
� �6
��� �� (	� �8��
� w# 
��� Q1 × Q2 ��� *��
πA∪B(w) = t� �� ���� t ∈ {$ivi : i = 1, . . . n}∗� �	�� 
� �6
��� �� (	� �8��
�
w# 
��� Xe

2#�
�	�� Q1 × Q2 � A∃(Xe

1) ∧A∃(Xe
1)� �

&�� "������� ����������	� ����
B1,B2 ∈ AUTO(A, �)

,-�
���� !&�&� 2� ��	(����$ �	�� )$��$ ��
���� ��� 
�
��

�(�� )



9+ ��
��

�(
�
�� 
� �	������ 
��������
��

�	
� P �� ��	������$ A �� ���	���� �
���� �� B1,B2 
�� ���	����� ����
���������� 
�

������(���� ,6
���7�7
� 
�� �	��������� Q1, Q2 ���� *��$ �	��
�	�� i$ Qi � Bi �� P × Q1 × Q2 � A N

<	�� �!���	�� ��� 
�
 ��
�
�� �� ��	(���� 
� �:�/ ��
� �� ��	(���� 
� �!���=�

!��� ���8
�� 
� /��
�%� "	����R	�� 
!�(	�
 ��� -	����
��� �� �	�
	� 
�
���8
�� 
� /��
�%�

�!&! 3������ �� "����4

�����	�
� !&�&� E�� ���8
�� 
� /��
�% M ��� �� ����� (K, k0, T, Γ, δ) ���
*�� )

Y K ��� �� �����(��  �
� 
!������
Y k0 ∈ K ��� �!���� 
�
�
���
Y T ⊂ K ��� �� �����(�� 
!���� ����
���6�
Y Γ = Σ ∪ {�} 	Q § ��� �� ���8�(��  �
 �� � /∈ Σ ��� �� ���(	�� K(����L�
Y δ : K × Γ → K × Γ × {→ ,−,← } ��� �� -	���
	� 
� �����
�
	��

�� ����$ �	�� �	��

��	�� *�� �� ���8
�� 
� /��
�% �M����� 
�� �����
�
	��
K(	������L ��� ��� ����� ����
���6$ �!��� � 

�� )

δ(t, σ) = (t, σ,−) �
 t ∈ T �� σ ∈ Γ

�����	�
� !&�&� Y E�� ��	������
�	 ��� �� �	� 
��� Γ∗KΓ∗�
Y E�� ��	������
�	 
	
�
�
� ��� �� �	� 
� �� -	��� k0w 	Q w ∈ Σ∗�
Y E�� ��	������
�	 ����
	�
� ��� �� �	� 
��� Γ∗TΓ∗�
Y :� �	�� →M �� �����
	� ��
����� ) �	�� �	�� h, k ∈ K$ u ∈ Γ∗$ v ∈ Γ+

�� a, b, c ∈ Γ$
Y ukav →M ubhv �
 δ(k, a) = (h, b,→ )
Y ukav →M uhbv �
 δ(k, a) = (h, b,−)
Y uckav →M uhcbv �
 δ(k, a) = (h, b,← )
Y uka →M ubh � �
 δ(k, a) = (h, b,→ )
Y kau →M h � bu �
 δ(k, a) = (h, b,← )

���� �� 
� �
�
	� 
� �� �����
	�→M $ ����� ��� 
��6 
���
��� ��� C
��� uka →M

ubh� �� kau →M h�buD �8��%��� �� �	�%���� 
� �� �	� %����
	� �� �?	�����
�� (���� ��

�����	�
� !&�& �	
� C0 �� C1 
��6 �	� %����
	��� :� �	�� C0 �M C1

*���
 C0 →M C1 �� *�� ��� 
��6 �	� %����
	�� 	�� �� �=�� �	�%����� :�
�	�� �∗

M �� ������� �����
�
�� 
� �� �����
	� �M �
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O
�
��	�� ����� ����
� �� ���������� �� �������� �����
*�� ���� ��
��� ,� �M��$
�!��� �� ��	��
��� ��
��
���� 
�� ���8
��� 
� /��
�% �	�� �	��� ������ 
!
�
�7
�

�(
�
��� <	�	�� 
!�(	�
$ �	�� i = 1, 2$ πi : (Γ∪K)2 → Γ∪K �� ��	?���
	�

� �� 
��� �	��	����� ����
� � �!�����(�� ((Γ ∪ K)2)∗ ��� �	��8
����

*���� !&�&! 2!�����(�� 
�� �	�� u ∈ ((Γ ∪ K)2)∗ 	Q π1(u) �� π2(u) �	��

�� �	� %����
	�� ��� *�� π1(u) �M π2(u)$ ��� �� �����(�� ���
	�����

)����� 
 ,� �M��$ �!��� �� �	��7�����(�� Δ∗RΔ∗ 	Q Δ = {(x, x) : x ∈ Γ} ��
R = R1 ∪ R2 ∪ R3 ���� )

Y R1 = {(k, b)(a, h) : h, k ∈ K, a, b ∈ Γ �� δ(k, a) = (h, b,→ )}
Y R2 = {(k, h)(a, b) : h, k ∈ K, a, b ∈ Γ �� δ(k, a) = (h, b,−)}
Y R3 = {(c, h)(k, c)(a, b) : h, k ∈ K, a, b, c ∈ Γ �� δ(k, a) = (h, b,← )}

�

�!&!� �� �����	
� BTMε

�����	�
� !&�&� :� �	�� BTMε �� ��	(���� ��
���� )
�	
�M ��� ���8
�� 
� /��
�%$ �6
���7�7
� �� ���
�� k ��� *�� ��� �	� %����
	��
����
���� ��� M ��� �!������ �

� �	�� �	���� 
� �	�%���� (	����� ��� k N

)�
�
��	�
� !&�&� 2� ��	(���� BTMε ��� 
�
��

�(���

)����� 
 2� ��	(���� 
� �!���=� 
!��� ���8
�� 
� /��
�% ���8
�� ��� �!��7
���� �

� C*�
 ��� 
�
��

�(��D ���� =��� ��
�
� �� ��	(���� BTMε� ,� �M��$
�
 �� ���	��� �� ��	(���� BTMε ��� �	�$ ��	�� M �!����
�� ��� 
!���� ����
7
���6� �
�	�$ �
 �� ���	��� 
� ��	(���� BTMε ��� 	�
$ ��	�� M ����
�� 
��6
-	
� �� �=�� �	� %����
	�� ��
�*�� �� �	�(�� 
� �	� %����
	� 
� �	�%����
k ���  �
$ 	� ���� �	�����
�� ��� ���8
�� 
� /��
�% M ′ *�
 ������� M �
 M
����
�� 
��6 -	
� ��� �=�� �	� %����
	� ����
���� �� ��?���� M �
�	�� �

)�
�
��	�
� !&�&" 2� ���	��� �� ��	(���� BTMε ��� 	�
 �
 �� ���������
�
 
� �6
��� ��� �	� %����
	� C �� 
��6 ���
��� m �� p ��� *�� C0 �+ C �∗ C
�� C0 = �mk0�p�

<	�� ���	�� ��
������� ��
�
�� �� ��	(���� BTMε �� ��	(���� )$���
���� ����
������$ �	�� ���	�� 
� �
� �� ����� P (M)$ ��� ����
 ���
	� �	��
�� ������� ������
�� A(M) �� 
��6 ����
 ���
	�� �	�� ��� �	��������� *��
�	�� �	�	�� PATHi(M)∧Πi Ci = 1, 2D$ 
����
��� 
!��� ���8
�� 
� /��
�%
M $ ��� *�� �� �8�	���� ��
���� �	
� ���
�

,-�
���� !&�&# 2� ��	(���� )$�� ���� P (M)$ A(M)$ PATH1(M)∧Π1

�� PATH2(M)∧Π2 � ��� �	���
	� �
 �� ��������� �
 
� �6
��� ��� �	� %����
	�
C �� 
��6 ���
��� m �� p ��� *�� C0 �+ C �∗ C �� C0 = �mk0�p�



��� ��
��

�(
�
�� 
� �	������ 
��������
��

�!&!& '����#������
 ���� ��
 ����������


�����	�
� !&�&�% :� �	�� B �!���8�(�� �	������� (Γ ∪ K ∪ {$, #})2 ��
��� ���(	��� ����
��6 {α, β}� :� ����
$ �	�� i = 1, 2$ ��� -	���
	�� πi �
�!���8�(�� B 
� �� -�R	� ��
������ πi ��� �� ��	?���
	� ��� �� i��� �	��	�����
�	�� �	�� b ∈ (Γ ∪ K ∪ {$, #})2 ��$ ��� �	�����
	�$ πi(α) = πi(β) = γ ����
γ �� �	����� ���(	�� �!����������� ��� � Γ ∪ K ∪ {$, #}�

<	�� 
� �
��	�� ��
�������$ �	�� i = 1, 2$ �!���	���� �
���� PATHi(M)
�� ��� ���	����� ���� ���������� 
�

������(��� Πi ��� �!���8�(�� B� ����
7
�
������$ �	��� (�� ��� *�� �	�� ��� �8��
�� 
!�� �	
��� Qi 
� �!���	����
PATHi(M) ∧ Πi �	�� ��� *�� ����� ��	?���
	�� �	�� 
� �� -	��� )

γ$n#Cn
0 #Cn

1 · · ·#Cn
j · · ·

	Q Cn
j �	�� 
�� �	� %����
	�� �� Cn

0 = �mk0�p �	�� 
�� ���
��� m �� p�
5����*�	�� *�� ��� �	� %����
	�� Cn

j �!	�� ��� �������
������ �� �=��
�	�%����� �� ����$ �	�� ���	�� ����
 � *�� ��� �8��
�� �6
����� �	�� �	��
���
�� n �� �	�� 
� �
�� 2� O
%��� &�� ������ 
� �
����
��� �� -	��� 
�� �8��
��

!�� ��	������ Qi�

π−1
i ($) π−1

i ($) π−1
i ($)

β

α

π−1
i

(#C
p
0 )π−1

i
(#C1

0 )π−1
i

(#C0
0 )

π−1
i

(#C0
1#C0

2 · · ·#C0
j · · · )

π−1
i

(#C1
1#C1

2 · · ·#C1
j · · · )

π−1
i (#C

p
1#C

p
2 · · ·#C

p
j · · · )

���� &�� Y "	�������� Qi

�����	�
� !&�&�� �	
� Πi �� ���	���� ���� �� ���� ���� ��
������ q0 �� ��
-	���
	� 
� �����
�
	� )

δ(q0) = {�b,b′ : πi(b) = πi(b
′)} ∪ {(b, q0) : b ∈ B}
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*���� !&�&�� Qi � Πi �
 �� ��������� �
 �	�� �	�� u, v ∈ B∗ ��� *��
πi(u) = πi(v)$ �
 ei(si

0, u) �� ei(si
0, v) �	�� 
� �
� ��	�� 
�� �	�� �%��6�

�����	�
� !&�&�� �	
� PATHi(M) = 〈B, Q, Q∃, Q∀q0, δ, r〉 �!���	���� �
����
� ���
�� 
� �
 �	��� ��
� C�	
� O
%���� &�+ �� &�9D )

Y Q∃ = {q1, q2, q3, q4}
Y Q∀ = {q0, q$, 1�, qk0 , 2�, q#} ∪ {pσ, qσ : σ ∈ Γ} ∪ {qk : k ∈ K}
Y r(q0) = r(q$) = r(q1) = r(qk0) = r(q2) = r(q3) = r(qk) = r(q4) = 0
Y r(1�) = r(2�) = r(pσ) = r(qσ) = 1 �	�� �	�� σ ∈ Γ
Y r(q#) = 2
Y δ(q0) = {(α, q$), (β, q$),→α,→β} ∪ {�b: b �= α, β}
Y δ(q$) = {(x, q$),→x: πi(x) = $} ∪ {(x, q1),→x: πi(x) = #} ∪ {�b:

πi(b) /∈ {$, #}}
Y δ(q1) = {(ε, qk0), (ε, 1�)}
Y δ(1�) = {(x, q1) : πi(x) = �} ∪ {�b: πi(b) �= � }
Y δ(qk0) = {(x, q2),→x: πi(x) = k0} ∪ {�b: πi(b) �= k0}
Y δ(q2) = {(ε, q#), (ε, 2�)}
Y δ(2�) = {(x, q2) : πi(x) = �} ∪ {�b: πi(b) �= � }
Y δ(q#) = {(x, q3),→x: πi(x) = #} ∪ {�b: πi(b) �= #}
Y δ(q3) = {(ε, pσ) : σ ∈ Γ} ∪ {(ε, qk) : k ∈ K}
Y δ(pσ) = {(x, q3),→x: πi(x) = σ} ∪ {�b: πi(b) �= σ}
Y δ(qk) = {(x, q4),→x: πi(x) = k} ∪ {�b: πi(b) �= k}
Y δ(q4) = {(ε, qσ) : σ ∈ Γ} ∪ {(ε, q#)}
Y δ(qσ) = {(x, q4),→x: πi(x) = σ} ∪ {�b: πi(b) �= σ}

2� ����� ��
���� ��������
�� ��� �8��
�� 
!�� ��	������ Qi C�	
� O
%��� &��D�

*���� !&�&� �	�� i = 1, 2$ Qi � PATHi(M) ∧ Πi �
 �� ��������� �

Y ����
� �	�� ���� 
� Qi 
� �6
��� ��� �����
�
	��
Y �� �6
��� 
�� -	���
	�� fi : N → (Σ ∪ K ∪ {$, #})ω$ ri : N → N ��

gi : N → N ��� *�� )
w ∈ Bω ��� �� �8��
� 
� �
 
��� Qi �
 �� ��������� �
$ �	
� πi(w) = γ$ω

	� �	
� 
� �6
��� n ≥ 0 ��� *�� πi(w) = γ$n# �ri(n) k0 �gi(n) fi(n) ����
fi(n) = #Cn

1 # · · ·Cn
j · · · 	Q ��� Cn

j �	�� 
�� �	� %����
	���
Y �
 u, v ∈ Bω �	�� 
�� �8��
�� 
��� Qi ���� πi(u) = πi(v) ��	�� ei(si

0, u) =
ei(si

0, v)�

5����*�	�� *�� Qi ��� �	���������� 
� �
 ��� ��� -	���
	�� fi$ ki �� gi�

)����� 
 <	�� ���	�� ��	���� *�� Qi � PATHi(M) ∧ Πi 
���
*�� ��� ��	
�
�	�

�
	�� 
� ����� &������ :(����	�� *�� �� 
���
��� �	�

�
	� ��� ���
�	���*����� 

����� 
� ����� &������
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�(
�
�� 
� �	������ 
��������
��

:� ���� ���
 �� *�� ��� �����
�
	�� 
� �!���	���� PATHi(M) �	�� 

��7
�
*��� �	�� �	�� b, b′ ∈ B ��� *�� πi(b) = πi(b

′)� "!��� �	��*�	
$ ��� �� ��
��$
�	�� 

���
 ��	�� ��� �8��
�� 
��� Qi ���� ����� ��	?���
	�� ��� πi�

:(����	�� 
!�(	�
 *�� γ$n# ��� �� �8��
� 
��� Qi� �� ����$ �
 u ���
�� �8��
� 
��� Qi ��	�� �	
� u = γ$ω 	� �	
� 
� �6
��� �� ���
�� n ��� *��
γ$n# ��� �� ��� 6� 
� u� :� ���� �� ��	���� ���� ��  %��� ��
����� &�+ *�

���������� ��� ����
���� �����
�
	�� 
� �!���	���� PATHi(M)�

(q0, ∀, 0)

→γ
�x, x �= γ

(q$, ∀, 0)

(q1, ∃, 0)

→#
�x, x �= #

→$
�x, x �= $

���� &�+ Y "8��
�� γ$n# �� γ$ω

2� �	�
�
	� (q0, ∀, 0) ���������� �!���� 
� �!���	���� PATHi(M) C
�
 q0D$
�� ������ 
� �!���� C
�
 q0 ��� �� ���� ��
������ ) q0 ∈ Q∀D �� �� ���
�� 
� �!����
C
�
 r(q0) = 0D� 2�� ������ �	�
�
	�� �	�� 
� �
� 
� -�R	� �
�
��
���� ����
� ��
���� ��
������$ ��� ���(	��� 
� �� -	��� →x �6��
�� �� -�
� *�� �� ��	������

	
� ��	
� ��� x7�����
�
	� �� �x �6��
�� �� -�
� *�� �!���	���� 
����

� ���
x7�����
�
	��

2!���� q0 ��� ��
������� 0
��
$ �� ��	������ Qi 
	
� ��	
� ��� ��
*�� ����7
�
�
	� ��� γ 
���
� �	� ���� 
�
�
��� 0���� �� γ7�����
�
	�$ Qi 
	
� ���
�-�
��
��� �	����
���� 
� �!���� ��
������ q$� �	��$ Qi 
	
� ��	
� �6�������� ���
$7�����
�
	� �� ��� #7�����
�
	�� �� ����$ ����� ��� $7�����
�
	�$ Qi 
	
� ��7
�
�-�
�� ��� �	����
���� 
� �!���� ��
������ q$� �	�� Qi 
	
� ��	
� �6��������
�	�� ��� �8��
�� 
� �� -	��� γ$n# ���� n ≥ 0 �� �� �8��
� γ$ω�

*���� !&�&�! �	�� �	�� ���
�� n ≥ 0$ 
� �6
��� �� �8��
� 
� �
 ��
*��

��� Qi 
� �� -	��� γ$n# �m k0 �p #Cn

1 #Cn
2 # · · · 	Q ��� Cn

j �	�� 
�� �	� 7
%����
	���

:� ���� ��	���� �� ����� � �!�

� 
� ��  %��� &�9 *�
 ���������� ��� �����
7
�
	�� 
� �!���	���� PATHi(M) ����� �� �8��
� γ$n#� "	��� �	�� �	��	��
�� �	
� ��� ��  %��� &�+$ ����� �� �8��
� γ$n#$ �!���	���� PATHi(M) ���
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��� �!���� �6
�����
�� q1� ��� ��  %��� &�9$ ��� �����
�
	�� 
� �!���	����$ 
�7
��
� �� ���� �6
�����
�� $ ��
*���� ��� ε$ �6��
���� ��� �8	
6 �	�
�����
�
���

� �!���	�����

:� ���� 	(������ ��� ��  %��� &�9 *��$ 
��� �8�*�� ���� ��
������ C
���
1�$ qk0$ 2�$ q#$ pσ$ qk �� qσD$ �!���	���� -	��� �� ��	������ � ��	
� ��������	�
�	� ���	�
�
�	� 0
��
$ �	�� �	�� n$ 
� � � �� ��
*�� �8��
� ���� �� ��� 6�
γ$n# ��$ 
� ����$ 
� 
	
� =��� 
� �
�

0 ����� 
�� ���
��$ �!���	���� �� ���� ������ 
��� �!��� 
�� *�����
(	�����$ �������� Loop� 0
��
 
� �
�
�� �!���� q# 
� �
���� �	������ �� ����$
����� 
!����
�
�� �!���� q# �	�� �� ����
��� -	
�$ 
� �
� �� ��
*�� �	�  �


��� �∗k0�∗� O
��������$ ����� 
��6 ����� q# �!���	���� 
	
� �
�� �� ������
# ��
�
� ��� �� �	� 
��� Γ∗KΓ∗ $ �!��� � 

�� ��� �	� %����
	�� �

�!&!� -���� �� 
����#������ �� 
�
�	
� 
������
�

<	�� 
� �
��	�� ��
������� �� ����� P (M) ���� ��  %��� &���� 2� �����
&���& �	�� ������ *�� �� ����� P (M) ��� (
�� 
� �
$ ����
���
������� �� �8�7
�
� 
���
� �!���� 5 ���� �!���� 6� �� �
��	�� �� ����
 ���
	�A �	�� �� �������
������
�� P × Q1 × Q2�

�����	�
� !&�&�� �	
� A = 〈B, Q, Q∃, Q∀, q0, δ, r〉 �� ���	���� � ���
��
���� Q∃ = {q0}$ Q∀ = {q$} ∪ {q#} ∪ {qX : X ⊆ B, X �= ∅} ��

Y r(q0) = 0$ r(qX) = 1 �	�� �	�� X ⊆ B �� r(q$) = r(q#) = 2
Y δ(q0) = {(ε, q#)} ∪ {(ε, q$)} ∪ {(ε, qX) : X ⊆ B, X �= ∅}
Y δ(q$) = {(($, $), q0),→($,$)} ∪ {�x: x �= ($, $)}
Y δ(q#) = {((#, #), q0),→(#,#)} ∪ {�x: x �= (#, #)}
Y δ(qX) = {(x, q0),→x: x ∈ X} ∪ {�x: x /∈ X}

)�
�
��	�
� !&�&�� P � A �
 �� ��������� �
 ��� �8��
�� 
��� P �	�� ���7
 6�� 
� �8��
�� 
� �
� �	������� ��� 
� �
�� 
� ������� (#, #) 	� ��� 
� �
��

� ������� ($, $)�

)����� 
 ���� �� ?�� G(A, P )$ 
���
� �	��� �	�
�
	� ��
��������$ 
� 
	
� �
��	
� ��� �����
�
	� 
	�� �	�� ��� �8��
�� 
� P 
	
���� =��� ��� 6�� 
�
�8��
�� 
� �
�� �� ����$ �
 
� �6
��� 
��� P �� �8��
� ���� ��� 
� �
�� 
�
�����
�
	�� ��� a$ ��	�� �� ����
� ���	�
� 
��� G(A, P ) 
	
� ������ 
� �
����
��� ��� �	�
�
	�� q$ 	� q# �	�� =��� 
� ���
�� ��
��� �	�� �� �8��
� 
	
�
�	����
� ��� 
� �
�� 
� (#, #) 	� 
� ($, $)� �
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→�
ε

→k0

(q2,∃, 0)(2�,∀, 1)

ε

ε

ε

→�

(q3,∃, 0)

(q#,∀, 2)

ε

→σ

→#

�x, x �= #

(qk,∀, 0)

→k

ε

(q4, ∃, 0)ε(qσ, ∀, 1)

(pσ,∀, 1)

ε

→σ

(qk0 ,∀, 0)

Loop1

Loop2

Loop3

Loop4

(1�,∀, 1) (q1,∃, 0)

�x, x �= �

�x, x �= k0

�x, x �= �

�x, x �= σ

�x, x �= k

�x, x �= σ

���� &�9 Y "8��
�� ����� γ$n#
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B1,B2 ∈ AUTO(A, �) ��&

4� 	 


�

($, $)

α

{(x, x) : x ∈ Σ ∪ K ∪ {$, #}}

�

($,�)

($, k0)($, #)β

($,�)

(#, #)

(#, #)




{u : π1(u) 	 π2(u)}

���� &��� Y ��	������ P (M)

�!&!� �������������� / ������ �� �����	
� �!&! 

,-�
���� !&�&�" �	
� M ��� ���8
�� 
� /��
�%� ����	�	�� *�!
� �6
���

��6 ��	������ Q1 �� Q2 ��� *��$ �	�� i = 1, 2$ Qi � PATHi(M) ∧ Πi ��
P (M)×Q1 ×Q2 � A� 0�	�� 
� �6
��� C0 = �mk0�n �	�� 
�� ���
��� m, n ≥ 0
�� ��� �	� %����
	� C ��� *�� C0 �∗ C �+ C�

)����� 
� �	
�$ �	�� i = 1, 2$ ��� -	���
	�� fi$ ri �� gi$ *�
 ��������
����
�	���������� ��� �8��
�� 
��� �� ��	������ Qi C�	
� 2���� &�����D� ����
7
�
������$ 
��� �� ����
�� �����$ �	�� ��	��	�� *�� ��� �8��
�� ���� ��
��� 6� α 
��� P (M)$ *�
 �	�� �	��	���� 
� ������� ���� 
�� �	��	������


���
*���$ -	����� ��� �	��������� Qi � =��� ��������
��� ��� ��� �=�� -	��7
�
	�� C
��� f1 = f2$ g1 = g2 �� r1 = r2D�

�	
� n ≥ 0 �� ���
��� <	�	�� *�� u = α($, $)n(#, #) ��� �� �8��
� 
���
P (M) × Q1 × Q2� �!����� �� ����� &�����$ w ��� �� �8��
� 
� �
 
��� Qi

���� �� ��� 6� u �
 �� ��������� �
 πi(w) = γ$n# �ri(n) k0 �gi(n) fi(n) ����
fi(n) = #Cn

1 # · · ·Cn
j · · · 	Q ��� Cn

j �	�� 
�� �	� %����
	��� �� ����$ w ��� ��
�8��
� 
� �
 
��� P (M) ���� �� ��� 6� u �
 �� ��������� �
 π1(w) = π2(w) C�
����� 
� ��� 6� αD� 3�
�$ �� ����
 ���
	� A 
���
*�� *�� �	�� ��� �8��
��  7
�
� 
��� P (M)×Q1×Q2 �	�� ��� 6�� 
� �8��
�� 
� �
�� 0
��
 f1(n) = f2(n)$
g1(n) = g2(n) �� r1(n) = r2(n)� ��
�*�� n ��� ��(
���
��$ ��� ��	��
���� �	��
���
� �	�� �	�� n ≥ 0� �	�� f1 = f2$ g1 = g2 �� r1 = r2�

�	
� n ≥ 0 �� ���
��� :(����	�� 
!�(	�
 *�� v = β($, $)n($, #) ��� �� �8�7
�
� 
��� P (M)×Q1×Q2� 2� ����
 ���
	� A 
���
*�� *�!
� �6
��� �� �8��
�

� �
 w 
��� P (M)×Q1×Q2 ���� �� ��� 6� v� �� ����$ w 
	
� �	����
� ��� 
�7
 �
�� 
� (#, #) C,� �M��$ �� �8��
� 
��� P (M) ���� �� ��� 6� v �� �	��
���
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�(
�
�� 
� �	������ 
��������
��

��� 
!������ ($, $)D� �!����� �� 
� �
�
	� 
� P (M)$ 
� �6
��� 
��6 ���
���
p, q ≥ 0 ��� *�� w = v · ($,�)p($, k0)($,�)q(#, #)(C1, D1)(#, #)(C2, D2) · · ·
	Q Cj �� Dj �	�� 
�� �	� %����
	�� �� Cj � Dj �	�� �	�� j ≥ 1� ,� 
!������
������ )

π1(w) = γ$n+1+p+q#C1#C2 · · ·
π2(w) = γ$n#D0#D1#D2 · · ·

��� *�� Ci � Di �	�� �	�� i ≥ 1 �� D0 = �pk0 � q� 2� �8��
� 
� �
 w �	�7
����	�
 � �� �8��
� 
��� Q1 ���� �� ��	?���
	� ��� �� ����
��� �	��	�����

� �
 ��� f1(n+ p+1+ q)$ r1(n+ p+1+ q) �� g1(n+ p+1+ q)$ �!��� � 

�� )

π1(w) = γ$n+p+1+q# �r1(n+1+p+q) k0 �g1(n+1+p+q) #f1(n + 1 + p + q)

�� ����$ �� �8��
� 
� �
 w �	�����	�
 � �� �8��
� 
��� Q2 ���� �� ��	?���
	�
��� �� 
��6
��� �	��	����� 
� �
 ��� f2(n)$ r2(n) �� g2(n)$ �!��� � 

�� )

π2(w) = γ$n# �r2(n) k0 �g2(n) #f2(n)

�
 �!	� �	����� �� w 
��� P (M) �� 
��� Q2$ 	� � p = r2(n) �� q = g2(n)�
�	
� h �� -	���
	� 
� �
� ��� h(n) = n + r2(n) + 1 + g2(n)� 0�	��$ 	� ����
���
�� �� �8��
� w 
��� Q1 �	��� ��
� )

π1(w) = γ$h(n)# �r1(h(n)) k0 �g1(h(n)) #f1(h(n))

"	��� �	�� �!��	�� 

� �����
������$ f1 = f2$ g1 = g2 �� r1 = r2� �	��

� �6
��� �� �8��
� 
� �
 w′ 
��� Q2 ��� *�� π2(w

′) = π1(w)� ,� 
!������
������$ 
� �6
��� �� �8��
� 
� �
 w′ 
��� Q2 ���� )

π2(w
′) = γ$h(n)# �r2(h(n)) k0 �g2(h(n)) #f2(h(n))

5����	�� �����
��� ��	��
���� 
�� �8��
�� 
� ��	������ Q2 *�� �	�� ��	��
�	����� �� �6
��� 
��6 �8��
�� 
� �
� w′ �� w 
��� �� ��	������ Q2 ��� *�� )

Y π2(w
′) = γ$h(n)#C1#C2 · · ·

Y π2(w) = γ$n#D0#D1#D2 · · ·
Y Cj �� Dj �	�� �	� %����
	��$ Cj � Dj �	�� �	�� j ≥ 1�
Y C1 = �r2(h(n))k0�g2(h(n))

.��
�	�� C
h(n)
j �� �	� %����
	� Cj �� Cn

j �� �	� %����
	� Dj� ���� %�����7
������$ 	� ���
� Ck

0Ck
1 · · · �� �������
	� 
�� �	� %����
	�� 
��� �� ���	�
�

��	?���
	� 
� �8��
� 
� �
 
��� Q2 *�
 � �� ��� 6� u ���� π2(u) = γ$k#�
��
�*�� n ��� ��(
���
�� �� ���� �	� �	������� �	���
	��$ 	� � �	���� *�� �	��
�	�� ���
�� n$ 
� �6
��� m = h(n) > n ��� *�� �	�� �	�� j ≥ 0$ Cm

j � Cn
j+1�

�	�� �	�� �	�� ���
�� l$ 	� ���� �	�����
�� �8� ��
�� )

C
hl(0)
0 � C

hl−1(0)
1 � C

hl−2(0)
2 � · · · � C

h(0)
l−1 � C0

l



"	�����
	� ���

3�
� �!�����(�� 
�� ����� 
� Q2 ���  �
 �� 
	�� �� �	�(�� 
� �	� %����
	��

��� Q2 ��� ����
  �
� �	��$ 
� �6
��� 
�� ���
��� l, i, j$ ���� i �= j$ ��� *��
C

hl−i(0)
i = C

hl−j(0)
j � O
��������$ 
� �6
��� C0 = C

hl(0)
0 = �r2(hl(0))k0�g2(hl(0)) ��

C = C
hl−j(0)
j ��� *�� C0 �∗ C �+ C� �

0 � 
� ��	���� �� �8�	���� &���9 C
��� �� ��	(���� )$�� ��� 
�
��

�(��D$

� ����� � ��	���� �� ���
��	*�� 
� �8�	���� &����+� ����	�	�� *�!
� �6
���
C0 = �mk0�n �	�� 
�� ���
��� m, n ≥ 0 �� ��� �	� %����
	� C ��� *��
C0 �∗ C �+ C� 0�	�� 
� �6
��� 
�� �	� %����
	�� ��� *�� )

C0 � C1 � · · ·Cj−1 � C � Cj+1 · · · � Cp � C

�	
� Qi �� ��	������ 
� �
 ��� ��  %��� &���$ �	�� i = 1, 2�

β

α

π
−1
i

($)

π
−1
i

(#C0) π
−1
i

(#C1) π
−1
i

(#C)

π
−1
i

(#Cp)

π
−1
i

(#Cj−1)

���� &��� Y ��	������ Qi

:� ���� �
������ ���
 �� *�� Qi � PATHi(M) ∧ Πi� �� ����$ 	(����	��
*�� ��� �8��
�� 
� �
� 
��� P (M) × Q1 × Q2 �	�� 
!��� 
�� ��	
� -	����
��
������ )

Y α($, $)k(#C0, #C0)(#C1, #C1) · · ·
Y β($, $)k($|#C0|, #C0)(#C0, #C1)(#C1, #C2) · · ·
Y α($, $)ω

"��
 �	�� ������ 
� �	������ *�� P (M) × Q1 × Q2 � A� �

&�� "�����	���

2� ��	(���� 
� �	������ 
��������
�� ���� ���������� 
�

������(��� 	�

�	(�����(��� ��� 
	�� 
�
��

�(�� �
 ��� ����
 ���
	��$ �	�� �� �	
�� 
��6
�	���������$ �	�� 
�� ���	����� ����
���

2� ��� 	Q �� ���� 
�� �	��������� � �	�� ����
 ���
	� �� ���	���� ����
�
��� 
��

�(�� ��
�*�!
� �!�%
� 
� �� ���
� �(
�
�� 
� �!���	����

(A/Bn/Bn−1/ · · · B2/P
) ∧ B1

	Q ���� �!���	���� B1 ��� �� ���	���� ����
�$ ��� ������ ���	����� �����

�� ���	����� �
����� C�	
� �� ����
� ���D�
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 *�� ��� ����
 ���
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������� ������
��$ ���������� 
��� �� �8��
��� � � 
� ��	���� �!
�
��

�(
�
��

� ��	(���� �$)�0$ �	�� 
�� ��� ���� ����
���
��� 
!���	����� ����
���

,� �M��$ 
��� �� ��� 	Q �� 
�� �	��������� � 
�� �	����
���� 
!	(�����7
(
�
��$ �	���� ��� ����
 ���
	�� �	�� 
�� ���	����� ����
�� ���� �	�

�
	�

!������
(
�
�� CAcc ��� �

�D� ���� �� ��� 
� �	������ ���� ���������� 
�7
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��
��� 
��

�(��� 2� ����
� '�� ��� 
�

�� �� ��� 	Q �!	� ������
�� �� ���� 
�
�����
�
	�� 
��� �� ������� ������
���

<	�� �������	�� �� �$ � �� ����
� '��$ �!	�����
	� 
� *�	�
��� 
!�� ���	7
���� ����
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(
�
�� � ��� ��	���� C�	
� F"�OJ++G �� F5�>	9�GD� ���� F0J>��G$ ��� �������
���������� ��� ������6 
� F5�>	9�G ���� �� -	����
��� 
�� ���	����� �	���
��
��

�	
� P �� �,�� :� �	��

���$ �	�� i = 1, 2$ 
�� �	��7�����(��� 
!�����7
����� Ai

c �� Ai
o ������������$ �������
������$ ��� ���������� �	������(��� ��

	(�����(��� �	�� �� �	�������� Qi� 2� ���%�%� 
� ������� ������
�� L(P ×
Q1 × Q2) 
	
� =��� �� �	��7���%�%� K ⊂ L(P )�

0���$ ��� �6������ ����� �� �����$ ���� ���
��� � 

�� *�� Qi � A(Ai
c) ∧

A(Ai
o)� �� ����$ �
 K ��� �� ���%�%� ���*�� C��� E ⊂ ΛD LE(R) 
!�� ��	���7

��� R$ ���� �!�6����� ��&��$ 	� 
	
� ��	
� P × Q1 × Q2 � AE
R�

:� ���� �����*��� *�� ��� ���	����� A(Ai
c)$ A(Ai

o) �� AE
R �!	�� ���
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 �� 
� �
�
	� ������

�����	�
� �&�&� �	
� P = 〈A, Λ, S, s0, e, λ〉 �� P ′ = 〈A, Λ, S ′, s′0, e
′, λ′〉 
��6

��	������� :� 

� *�� P ��� ��
	� ���	
 *�� P ′ �� �!	� �	�� P ≤d P ′$ �

P ≤ P ′ C�	
� �� �
�
	� �����D ��$ �	�� �	�� ���� (s, s′) 
� ��	
�
� P × P ′$
��� ��	��
���� ��
������ �	�� ���
 ��� )

Y �
 e(s, a) ��� 
� �
 �� �%��� � s$ ��	�� e′(s′, a) = s′�
Y �
 e(s, a) �� e(s, b) �	�� 
� �
� �� �%��6$ ��	�� e′(s′, a) = e′(s′, b)�
Y λP (s) ⊇ λP ′(s′)

:� �	�� P =d P ′ *���
 P ≤d P ′ �� P ′ ≤d P �

)�
�
��	�
� �&�&� ≤d ��� �� ���	�
���

)����� 
 ����	�	�� *�� P ≤d P ′ �� P ′ ≤d P ′′� �	
� (s, s′′) �� ���� 
� P ×P ′′

������
(�� 
���
� (s0, s
′′
0) ���� �� �8��
� u ∈ A∗ ��� *�� e(s, a) �� e(s, a) �	��


� �
�� "	��� P ≤ P ′$ 
� �6
��� �� ���� s′ ��� *�� e′(s′0, u) ��� 
� �
 �� �%���
� s′ ��$ 
� ����$ e′(s′, a) �� e′(s′, b) �	�� 
� �
�� ��
�*�� P ′ ≤ P ′′$ e′′(s′′, a)
�� e′′(s′′, a) �	�� ����
 
� �
�� ����	�	�� *�� e(s, a) = s� ��	�� e′(s′, a) = s′

�� P ′ ≤d P ′′ 
���
*�� *�� e′′(s′′, a) = s′′� ����	�	�� *�� e(s, a) = e(s, a)�
��
�*�� P ≤d P ′$ e′(s′, a) = e′(s′, b)� ��
�*�� P ′ ≤d P ′′$ e′′(s′′, a) = e′′(s′′, a)�
�� ����$ P ≤d P ′ 
���
*�� *�� λP (s) ⊇ λP ′(s′) �� P ′ ≤d P ′′ 
���
*�� *��
λP (s′) ⊇ λP ′′(s′′)� �	�� λP (s) ⊇ λP ′′(s′′)� 0
��
 P ≤d P ′′� �

<	�� �������	�� ��
������� 
�� ��	��
���� ���� ��
����

*���� �&�&� �	
� P1, P2, Q1, Q2 
�� ��	�������
Y �
 P1 ≤d Q1 �� P2 ≤d Q2$ ��	�� P1 × P2 ≤d Q1 × Q2�
Y �
 P1 ≤d Q1 × Q2$ ��	�� P1 ≤d Q1 �� P2 ≤d Q2�
Y �
 P1 ≤d P2$ ��	�� P1 × P2 =d P1�
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 �	
� 
�� ��	������$ �	�� i = 1, 2$ Pi = 〈A, Λ, Si, s
i
0, ei, λi〉 ��

Qi = 〈A, Λ, S ′
i, s

′i
0 , e

′
i, λ

′
i〉�

3	���	�� �� ����
��� 
���
���
	�� ����	�	�� *�� Pi ≤d Qi� �	
� u ∈ A∗

��� *��$ ei(s
i
0, u) �� e′i(s

′i
0 , u) �	�� 
� �
� �� �%��6 �������
������ � si �� s′i�

�	
� a, b ∈ A ��� *��$ e1 × e2((s1, s2), a) �� e1 × e2((s1, s2), b) �	�� 
� �
��
��
�*�� Pi ≤ Qi$ e′i(s

′
i, a) �� e′i(s

′
i, b) �	�� 
� �
�� 0�	�� P1 × P2 ≤ Q1 × Q2�

����	�	�� *�� e1 × e2((s1, s2), a) = (s1, s2)� 0�	�� Pi ≤d Qi 
���
*�� *��
e′i(s

′
i, a) = s′i� ����	�	�� *�� e1 × e2((s1, s2), a) = e1 × e2((s1, s2), b)� 0�	��

Pi ≤d Qi 
���
*�� *�� e′i(s
′
i, a) �� e′i(s

′
i, b) �	�� �%��6� �� ����$ Pi ≤d Qi


���
*�� *�� λPi
(si) ⊇ λQi

(s′i)� �	�� λP1(s1) ∪ λP2(s2) ⊇ λQ1(s
′
1) ∪ λQ2(s

′
2)�

�	�� P1 × P2 ≤d Q1 × Q2�

2� ������ 
� �� 
��6
��� ��	��
��� C
��� P1 ≤d Q1 × Q2 ��	�� P1 ≤d Q1

�� P2 ≤d Q2D ��� �
�
��
���

����	�	�� ��
������� *�� P1 ≤d P2� P1 ≤d P1 × P2 ��� ��� �	���*�����

� �� ����
��� ��	��
���� �� ����� � ��	���� *�� P1 × P2 ≤d P1� �	
� u ∈ A∗

��� *�� e1 × e2((s
1
0, s

2
0), u) ��� 
� �
 �� �%��� � (s1, s2)� �	
� a, b ∈ A ���

*�� e1 × e2((s1, s2), a) �� e1 × e2((s1, s2), b) �	�� 
� �
�� 0�	�� e1(s1, a) ��
e1(s1, b) �	�� 
� �
�� �
 e1×e2((s1, s2), a) = e1×e2((s1, s2), b)$ ��	�� e1(s1, a) =
e1(s1, b)� �� ����$ λP1×P2(s1, s2) = λP1(s1) ∪ λP2(s2) ⊇ λP1(s1)� �

�! !� 3��	�� 
���
�� �(�� ����
��� ������

�����	�
� �&�& �	
� A ���	���� ����
�� A � �� ����
� �
	
��
 �
 
�
�6
��� �� �	
��� MA 
� A ��� *�� �	�� �	�� �	
��� P 
� A$ 	� � MA ≤d P �

*���� �&�&! �	
� A �� ���	���� ����
� ���� �� �	
��� �
�
��� MA�
�	
� P �� ��	������� P � A/MA �
 �� ��������� �
 MA ≤d P

)����� 
 ����	�	�� *�� P � A/MA� 0�	�� MA × P � A� 0�	�� MA ≤d

MA × P � �!����� �� ����� '����$ MA ≤d P � 5��
��	*������$ �
 MA ≤d P
��	��$ 
!����� �� ����� '����$ MA × P =d MA� �	�� MA × P � A ��� MA
��� �� �	
��� �
�
���� 
� A� �

�! !& 5� ��
 ���������

,-�
���� �&�&� ����	�	�� *�� A � �� �	
��� �
�
��� MA ��$ �	�� �	��
��	������ P �� �	�� �	
��� P ′ 
� A$ �
 MA ≤d P ≤d P ′ ��	�� P � A�
�� ����$ ����	�	�� *�� �	�� �	�� i = 1, . . . , n$ Bi ∧ A/MA � �� �	
���
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�
�
��� Mi� 0�	�� �� ��	(���� �$)�0 � ��� �	���
	� �
 �� ��������� �

P × M1 × · · · × Mn � A�

)����� 
 ��
�*�� Mi � Bi$ �
 P ×M1× · · · ×Mn � A ��	�� Mi Ci = 1, . . . , nD
��� ��� �	���
	��

����	�	�� *�� �� ��	(���� � ��� �	���
	� Qi Ci = 1, . . . , nD� <	�� ���	��
��
������� ��	���� *�� P ×M1× · · · ×Mn � A� �!����� ��� ��	��
���� 
� A$

� ��� ��S���� 
� ��	���� *�� MA ≤d P ×M1×· · ·×Mn ≤d P ×Q1×· · ·×Qn�

��
�*�� P ×Q1 × · · ·×Qn � A$ 	� � MA ≤d P ×Q1 × · · ·×Qn� �!�����
2� 2���� '����$ �	�� �	�� i = 1, . . . , n$ MA ≤d Qi� �!����� 2� 2���� '���&$
�	�� �	�� i = 1, . . . , n$ Qi � A/MA� 3�
� Qi � Bi$ 
	�� Mi ≤d Qi� �!�����
2� 2���� '����$ 	� � P × M1 × · · · × Mn ≤d P × Q1 × · · · × Qn�

:� � MA ≤d P × Q1 × · · · × Qn� �!����� 2� 2���� '����$ MA ≤d P �
�� ����$ 
!����� �� ����� '���&$ �	�� �	�� i = 1, . . . , n$ MA ≤d Mi ���
Mi � A/MA� �!����� 2� 2���� '����$ 	� � MA ≤d P × M1 × · · · × Mn� �

�! !� '��
,���

�
 �(����
���


���� �� ����%���8�$ �	�� ���	�� 
���
�� 
�� �	��7������� 
!���	����� ����7

�� *�
 ���������� 
� ���
�-�
�� ��� 8��	�8���� 
� �8�	���� '���'�

�����	�
� �&�&� �	
� A = 〈A, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ����
�
(
����
� :� 

� *�� A ��� ������
	
��� �
$ �	�� �	�� q ∈ Q∃$ 	� � |δ(q)| ≤ 1�

'����(�� �&�&" �	
� P �� ��	������ �� A �� ���	���� ����
� 
�����
7
�
���� ���� �� ?�� 
!��������
	� G(A, P )$ 
� �6
��� ��������� ��� ������%
�
*�
 ���� =��� %�%������ <����	
��$ A ���� ��	
� ����
���� �	
����� ,� �M��$
�	
� Aa �� ���	���� �
���� 〈A, Q, {q0}, {q1}, q0, δ, Q

ω〉 ���� δ(q0) = {ε, q1}
�� δ(q1) = {(a, q0)} ∪ {�b: b �= a}� 2�� �	
���� 
� Aa �	�� ��� ��	������
����� ��
*������ 
�� a7�����
�
	���

)�
�
��	�
� �&�&# �
 �� ���	���� ����
� 
�����
�
��� A � �� �	
���$
��	�� 
� � �� �	
��� �
�
��� MA�

)����� 
 "� �	
��� �
�
��� ���� =��� �M���
������ ������� ) �!��� �!��
*��
�	
��� C� �� �����
	� =d ����D 
� �!���	���� 
�����
�
��� A− 	(���� ��
�?	����� 
��� �!���	���� A$ �	�� �	�� q ∈ Q∀$ �a∈ δ(q) �
 →a /∈ δ(q)� �

5����*�	�� *�� �� ���
��	*�� �!��� ��� ���
� ,� �M��$ �!���	���� Aa∨Ab

C�	
� 5����*�� '���+D � �� �	
��� �
�
��� C�� ��	������ ���� �����
�
	��D$
��
� �!��� ��� �*�
������ � �� ���	���� 
�����
�
����

)�
�
��	�
� �&�&�% �	
� A �� B 
��6 ���	����� ����
�� 
�����
�
���� ��
P �� ��	������� 2�� ���	����� A ∧ B �� A/P �	�� ��6 ����
 
�����
�
�����
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 ���
	�� ���

)����� 
 :� ���� ���
 �� *�� �	�� ��	�� 
� �
 
��� �� ����
	� ��'�� 
� ��
����
� ��' �� *�	�
��� A/P *�
 ����� 
�����
�
��� �
 A ��� 
�����
�
���� �

�����	�
� �&�&�� �	
� A = 〈A, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ����
��
:� 

� *�� A ��� ��	
��� �
 A ��� ������
	
��� �� �	�� �	�� q, q′, q′′ ∈ Q ��
a ∈ A ��� *�� (a, q′) ∈ δ(q) �� (ε, q′′) ∈ δ(q′)$ �
 →a ∈ δ(q′′) ��	�� →a ∈ δ(q)�

)�
�
��	�
� �&�&�� �	
� A �� ���	���� ����
� �	�
*�� ���� �� �	
���
�
�
���MA� �	�� �	�� �	
��� P 
�A �� �	�� ��	������ Q$ �
 MA ≤d Q ≤d P
��	�� Q ��� �� �	
��� 
� A
)����� 
 �	
� A = 〈A, Q, Q∃, Q∀, q0, δ, Acc〉 �� ���	���� ����
� �	�
*��
���� �� �	
��� �
�
���MA = 〈A, Λ, SM , sM

0 , eM , λM〉� �	
� P = 〈A, Λ, S, s0, e, λ〉
�� �	
��� 
� A �� Q = 〈A, Λ, S ′, s′0, e

′, λ′〉 �� ��	������ ��� *�� MA ≤d Q ≤d

P � �	
� u �� �	� 
��� A∗ ��� *�� e′(s′0, u) ��� 
� �
 �� �%��� � s′� 0�	�� e(s0, u)
��� 
� �
 ��� Q ≤ P $ 

�	�� e(s0, u) = s� ��
�*�� A ��� 
�����
�
���$ u �	�7
����	�
 � ��� ��
*�� ��
�� 
� �����
�
	�� 
� A$ 

�	�� q0q1q

′
1q2q

′
2 · · · qnq′nqn+1

	Q q′i ∈ Q∃ �� qi ∈ Q∀� 2� ��	��
��� Q ≤d P �� �� -�
� *�� (qn+1, s) ��� ���
�	�
�
	� %�%����� 
��� �� ?�� G(A, P ) ��� ��S���� �	�� ��	���� *�!
� �!� �
��� 
!��=�� 
���
� (qn+1, s

′) ���� ⊥ 
��� �� ?�� G(A, Q) �
 �a∈ δ(qn+1) 	� �

�a,b∈ δ(qn+1) 	� �
 ��a,b∈ δ(qn+1)� ����	�	�� ��
������� *�� →a∈ δ(qn+1)�
��
�*�� A ��� �	�
*��$ �
 →a∈ δ(qk+1) ��	�� →a∈ δ(qk)� �	��$ �	�� �	��
k = 1, . . . , n$ →a∈ δ(qk)� 3�
� MA � A$ 
	�� eM (sM

0 , ua) 
	
� =��� 
� �
�
"	��� MA ≤ Q$ e′(s′0, ua) 
	
� =��� 
� �
� O
��������$ 	(����	�� *�� ���
�8��
�� 
� �
� 
���
� �� �	�
�
	� 
�
�
��� 
��� �� ?�� G(A, Q) �	�����	�
���
� 
�� ��
��� 
!����� 
� �!���	���� *�
 �	�� ����
 ������ 
� ?�� G(A, P )� 0
��
$
��� ��
��� ���
�-	�� �� �	�

�
	� Acc� �

,-�
���� �&�&�� �
 A ��� �	�
*�� ��$ �
$ �	�� �	�� i$ Bi ��� 
�����
�
���$
��	�� �� ��	(���� �$)�0 ��� 
��

�(���

)����� 
 0��� ��� ��	�	�
�
	�� '���9$ '����� �� '�����$ 	� ���� -��
������
���
 �� *�� ��� 8��	�8���� 
� �8�	���� '���' �	�� ���
�-�
���� �

2�� ���	����� 
�����
�
���� ���������� 
!	(���
� 
�� ����
 ���
	�� �	��
��� �	��������� 
������������� ��� �!���=�8��� ��� 
� ����
 �� �� �����(��

!���������� 
��	������(��� �� �� �����(�� 
!���������� 
�	(�����(��� 	�
��� ����
�
	� 
!���������� 
�

������(��� C�	
� ��� �6������ �����$ ����� ��
�����D� ,� �M��$ ��� ���	����� ���� ���� �6
�����
�� C
��� Q∃ = ∅D �	�� �*�
7
������� � 
�� ���	����� 
�����
�
����� :� ���� ����
 
� �
� 
�� �	����
����

����
*��� �	��� ��6 �6������ ����� �� ������ "����
��� �� ��� 	Q 
��6
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���������� �� ������� =��� �	������ �� �=�� ����� �� ���� =��� ����
 �
��� �� ���	���� 
�����
�
��� C�	
� �6����� �����D�

2�� ���	����� �	�
*��� ������� ��������� 
� ����
 �� *�� ��� �	��	���7
�����  �
� 
!�� ������� ������
�� P ×Q ����
�� �� ���%��%� ��*�
� LR ��
�
����� 
��� �� ���%��%� �
�
��
(�� LA )

LR ≤ L(P × Q) ≤ LA

�� -��� �	���-	
� *�� ��� ���%��%�� LR �� LA �	
� 
�� ���%��%�� ��%��
��� ����
��� ��� 6��� �	�� ����$ ����	�	�� *�� ��� �	��	�������� �
�
��
(��� �	
���

���
� ��� �� ��	������ Ad = 〈A, Sa, s

a
0, ea〉 �� *�� ��� �	��	������� ��*�
�

�	
� 
� �
� ��� �� ��	������ Re = 〈A, Sr, s
r
0, er〉� :� 
� �
� ��	�� A(Re, Ad) =

〈A, Q, ∅, (Sr×Sa)∪Sa, (s
r
0, s

a
0), δr,a, Q

ω〉 �� ���	���� �
���� ��� *��$ �	�� �	��
s ∈ Sr �� s′ ∈ Sa$ δr,a(s, s

′) �	��
��� )
Y {→b, (b, (er(s, b), ea(s

′, b))} �
 er(s, b) �� ea(s
′, b) �	�� 
� �
��

Y (b, ea(s
′, b)) �
 er(s, b) �!��� ��� 
� �
 �� ea(s

′, b) ��� 
� �
�
Y �b �
 ea(s

′, b) �!��� ��� 
� �
�
,�$ �	�� �	�� s′ ∈ Sa$ δr,a(s

′) �	��
��� (b, ea(s
′, b)) �
 ea(s

′, b) ��� 
� �
 �� �b

�
�	�� :� ���� ���
 �� *�� A(Re, Ad) ��� �*�
������ � �� ���	���� �	�
*��
C��� ����� �6
�����
��� 	�� ?���� ��� �����
���D$ *�� ��� �����
�
	�� K�6
%���L
�	�� ������ 
� ��	������ Re �� *�� ��� �����
�
	�� 
����

��� �	�� ������ �	��
���*������ Ad �!��� ��� 
� �
�

'�� ����3����	����� ��	 �����		�	

<	�� ��	�� �� 
��� �� �8��
��� & *�� �� ��	(���� 
� �	������ 
�������7
�
�� ���� ���������� 
�	(�����(��� 	� 
�

������(��� ��� 
�
��

�(��� �� �!���

	�� ��� �	��
(�� 
!�M������ �!	�����
	� 
� *�	�
��� 
!���	����� �	�� ���
���	����� ����
�� �	��� ���� � ��� �������� �	�� ��� ���	����� �
����� ��
�8��
��� ��

���� ����� ����
�$ �	�� �������	�� �� ��� 	Q 
� ��� �	��
(�� 
!�M������
����� 	�����
	� 
� *�	�
��� 
!���	����� ����
��� �� �!�%
� 
� �	��

���� *��
��� �����
�
	�� 
!�� ��	
�
� P × Q 
� 
��6 ��	������ �� ������� �!�M������
*�� 
��� �����
�� ��� 
���
�� �� ����%���8� ��
�����

�!�! +�
����� ���������

�����	�
� �&�&� �	
� π = {N, L, A1, . . . , Ap} ∈ ΠA �� π′ = {N ′, L′, A′
1, . . . , A

′
k} ∈

ΠA C�	
� <	���
	� �����D�



����8�	�
���
	� 
�� ��	������ ��&

:� �	�� C1(π, π′) �� �	�

�
	� )
�� �6
��� k0 ∈ ]p] ��� *�� Ak0 ∩ L′ �= ∅ ��

k⋃
i=1

A′
i ⊆ N ��

p⋃
j=1
j �=k0

Aj ⊆ N ′

:� �	�� C2(π, π′) �� �	�

�
	� )
�	�� �	�� j ∈ ]p]$ Aj ∩ L′ = ∅ �� �	�� �	�� i ∈ ]k]$ 
� �6
��� j ∈ ]p] ��� *�� )

A′
i ⊆ Aj ∪ N 	� A′

i ⊆ L ∪ N

�����	�
� �&�&� �	
� P = 〈A, Λ, S, s0, e, λ〉 �� R = 〈A, Λ, S ′, s′0, e
′, λ′〉 
��6

��	������� :� 

� *�� �� ��	������ P×R ��� �
�	 ��	����	
�� �
 �	�� �	�� ����
������
(�� (s, s′)$ �� �	�

�
	�C1(ΠP (s), ΠR(s′)) 	� �� �	�

�
	�C2(ΠP (s), ΠR(s′))
C�	
� �� �
�
	� �����D ��� ���
�

'����(�� �&�&� ,� 
!������ ������$ P ×R ��� (
�� ����8�	�
�� C�	
� ����

��  %��� '��D �
 )

Y �
 
� �6
��� a ∈ A ��� *�� a ∈ DP (s)∩DR(s′)$ e′(s′, a) = s′ �� e(s, a) �= s
��	��$ �	�� �	�� b ∈ DP (s)∩DR(s′)$ e′(s′, b) = s′ �� �	
� e×e′((s, s′), b) =
e × e′((s, s′), a) 	� �	
� e × e′((s, s′), b) = (s, s′)�

Y �
 �	�� �	�� a ∈ ∈ DP (s) ∩ DR(s′)$ Ce′(s′, a) �= s′ 	� e(s, a) = sD$
��	�� �	�� �	�� b, c ∈ DP (s) ∩ DR(s′) ��� *�� e′(s′, b) = e′(s′, c)$ 	� �
e(s, b) = e(s, c)�

,-�
���� �&�& �	
�A �� B 
��6 ���	����� ����
��� �� �6
��� �� ���	����
����
�$ �	�� A/syn/B$ ��� *�� P � A/syn/B �
 �� ��������� �
 
� �6
��� R � B
��� *�� P × R � A �� P × R ��� (
�� ����8�	�
���

$
�
������ �&�&! 2!���	���� ((((A/syn/Bn)/syn/Bn−1) · · ·/syn/B2)/P )∧B1

� �� �	
��� �
 �� ��������� �
 �� ��	(���� 
� �	������ 
��������
�� �$)0�

� ��� �	���
	� Q1, Q2, . . . , Qn ��� *��$ �	�� �	�� i = 2, 3, . . . n$ Qi ×Ri−1 ���
(
�� ����8�	�
�� ���� Ri−1 = Q1 × · · · × Qi−1�

)����� 
 �	
� i < n� �!����� �� �8�	���� '����$ 	� � �	�� �	�� k < i$
Qk � Bk ��

P × Q1 × · · · × Qi−1 × Qi � (((A/syn/Bn)/syn/Bn−1) · · · /syn/Bi+1)



��' "�� 
��

�(���

(s, s′) (s, s′)

A1

(s1, s
′) (s1, s

′
1)

A1
Ap

	�

(s2, s
′
2)

A2

A0 A0

(sp, s
′
p)· · ·

0��� s′i �= s′j �� s′i �= s′0��� s1 �= s

,� A0, A1, . . . , Ap ⊆ A

,� Ai ∩ Aj = ∅

���� '�� Y P × R (
�� ����8�	�
��

�
 �� ��������� �
 
� �6
��� Qi+1 � Bi+1 ��

P × Q1 × · · · × Qi × Qi+1 � (((A/syn/Bn)/syn/Bn−1) · · ·/syn/Bi+2)

�� Ri × Qi+1 ��� (
�� ����8�	�
��� �

<	�� ����	�� 
��� ��� ����
	�� '���& �� '���' 
��6 ����
���
	�� 
� �8�	7
���� '�����

�!�!� .�#������ �� �(����
��� A/syn/B
�����	�
� �&�&� �	
� A = 〈A, QA, QA∃, QA∀, qA0, δA, AccA〉 ��
B = 〈A, QB, QB∃, QB∀, qB0, δB, AccB〉 
��6 ���	����� ����
�� �	�
�����
7
�
���� � ���
��� <	�� ����	�	�� *�� A �� B �	�� �	������ �� �	����������
����
 �� C�	
� �� �
�
	� ��+�9D� :� ����	�� 
� ���� *�� B ��� ���%�� C�	
�
�� �
�
	� ��+���D �� ���
 � ��� �	�

�
	� ��
������ ) �	�� �	�� a ∈ A ��
q, q1, q2 ∈ QB 	� � )

�
 (ε, q1) ∈ δB(q) �� (a, q2) ∈ δB(q1) ��	�� q2 �= q C'����D

��
�
 (a, q′2), (b, q

′
3), ��a,b∈ δB(q′1) ��	�� q′2 �= q′3 C'����D

C�� ��S� �	�� ���� 
� 
���
*��� �����
�� ����� 
� BD

�	
� A/syn/B = 〈A, Q/, Q
∃
/ , Q

∀
/, q

0
/, δ/, Acc/〉 �� ���	���� 
� �
 �	��� ��
� )

Q∃
/ = QA∃ × QB∃ ∪ QA∃ × QB∀ ∪ {q⊥}



����8�	�
���
	� 
�� ��	������ ���

Q∀
/ = QA∀ × QB∀ �� q0

/ = (qA0, qB0)

Acc/ =
{
(q0, q

′
0)(q1, q

′
1) · · ·

∣∣ q0q1 · · · ∈ AccA �� q′0q
′
1 · · · ∈ AccB

}
Y �	
� (q1, q

′
1) ∈ Q∀

/� :� �	�� D(q1, q
′
1) �� �	�?	���
	� 
�� �	�

�
	�� ��
7

������ )
Y �
 →a∈ δA(q1) ��	�� →a∈ δB(q′1)
Y �
 �a∈ δA(q1) ��	�� �a∈ δB(q′1)
Y �
 �a,b∈ δA(q1) ��	�� C�a,b∈ δB(q′1) 	� �a, �b∈ δB(q′1)D�

Y �	�� �	�� ���� �6
�����
�� (q, q′) ∈ Q∃
A×Q∃

B$ δ/(q, q
′) �	��
��� (ε, (q1, q

′
1))

�
 (ε, q1) ∈ δA(q) �� (ε, q′1) ∈ δB(q′) �� D(q1, q
′
1) ��� ���
�

Y �	�� �	�� ���� �6
�����
�� (q, q′1) ∈ Q∃
A×Q∀

B$ δ/(q, q
′
1) �	��
��� (ε, (q1, q

′
1))

�
 (ε, q1) ∈ δA(q) �� D(q1, q
′
1) ��� ���
�

Y δ/(q⊥) = ∅

�	
� (q1, q
′
1) ∈ Q∀

/ � :� �	�� C(q1, q
′
1)$ C1(q1, q

′
1) �� C2(q1, q

′
1) ��� �	�

�
	��

��
������ )

C(q1, q
′
1) ≡ {a ∈ A :→a, ��a∈ δA(q1) �� →a, �a∈ δB(q′1)} �= ∅

C1(q1, q
′
1) ≡ �	�� �	�� a, b ∈ A$ �
 →a,→b∈ δA(q1)$ ��	�� �a, �b∈ δB(q′1)

�� �
 ��a, ��b∈ δA(q1)$ ��	���a,b∈ δA(q1)�

C2(q1, q
′
1) ≡ �	�� �	�� a, b ∈ A$ �
 �a,b∈ δB(q′1) �� →a,→b∈ δA(q1)$ ��	��

�a,b∈ δA(q1) 	� �a, �b∈ δA(q1)�

�� �
��	�� ��
������� ��� �����
�
	�� 
���
� �� ���� ��
������ (q1, q
′
1) ∈ Q∀

/ �
δ/(q1, q

′
1) �	��
��� )

Y →a$ �
 →a∈ δA(q1)
Y �a$ �
 �a∈ δA(q1)
Y �a,b$ �
 �a,b∈ δA(q1)
Y �a$ �
 �a ∈ δA(q1) �� →a ∈ δB(q′1)
Y ��a,b$ �
 ��a,b∈ δA(q1) �� C�a,b∈ δB(q′1) 	� �a, �b∈ δB(q′1)D

�� ����$

Y �
 C(q1, q
′
1) ��� ���
 �� C1(q1, q

′
1) ��� ���
$ ��	�� δ/(q1, q

′
1) �	��
��� )

��a, (a, (q2, q
′
1)) �
 (a, q2),→a, ��a∈ δA(q1) �� �a∈ δB(q′1)�

Y �
 C(q1, q
′
1) ��� -��6 �� C2(q1, q

′
1) ��� ���
$ ��	�� δ/(q1, q

′
1) �	��
��� )

(a, (q2, q
′
2)) �
 (a, q2),→a, ��a∈ δA(q1) �� (a, q′2),→a, ��a∈ δB(q′1)�

Y �
�	�$ δ/(q1, q
′
1) �	��
��� {(ε, q⊥)}�



��+ "�� 
��

�(���

�!�!& -����� / '� P � A/syn/B ����
 �� �%�
�� R � B ���

)�� P × R � A �� R × P �
� ���� 
��������
�

����	�	�� *�!
� �6
��� ��� ������%
� %�%����� σ/ : (Q∃
/ ×SP )×H → Q∀

/ ×
SP ���� �!8
��	
��H 
��� G(A/syn/B, P ) �	�� �� ��	������ P = 〈A, SP , s0

P , eP 〉
���� �� -	���
	� 
� �
�� � ?	�� hist : H × (Q/ × SP ) → H �

*���� �&�&� �	
� (q1, q
′
1, s) ∈ Q∀

/ × SP ��� �	�
�
	� 
� ?�� G(A/syn/B, P )

������
(�� ��� �� ������%
� σ/� �
 C(q1, q
′
1) ��� ���
 �� C1(q1, q

′
1) ��� ���
$ ��	��

�� �	�
�
	� (q1, q
′
1, s) � �6�������� �� ��
*�� ���������� 
��� Q∃

/ × SP 
� ��
-	��� (q2, q

′
1, s)�

)����� 
 �!����� �� �	�

�
	� C(q1, q
′
1)$ 
� �6
��� a ∈ A ��� *�� →a, ��a∈

δA(q1) �� →a, �a∈ δB(q′1)� ��
�*�� A ��� �	�����$ 
� �6
��� q2 ��� *�� (a, q2) ∈
δA(q1)�

�
 
� �6
��� b ∈ A ��� *�� →b, ��b∈ δA(q1)$ 
!����� �� �	�

�
	� C1(q1, q
′
1)$

��	�� �a,b∈ δA(q1)� ��
�*�� A ��� �	�
�����
�
���$ �
 (b, q3) ∈ δA(q1) ��	��
q3 = q2� �� ����$ →a,→b, �a,b∈ δA(q1) 
���
*�� *�� →a,→b, �a,b∈ δ/(q1, q

′
1)�

"	��� (q1, q
′
1, s) ��� ��� �	�
�
	� %�%����� 
� ?�� G(A/syn/B, P )$ eP (s, a)

�� eP (s, b) �	�� 
� �
� �� �%��6� �

�
 σ/((q, q
′), s, h) ��� 
� �
$ ��	�� 	� ���� �
��
 
� �
� ��� ��
*�� ��
�� *��

�!	� �	�� Seq(q, q′, s, h) )

(q, q′, s, h) →σ/
(q1, q

′
1, s, h1) →A2 (q2, q

′
1, s2, h2)

→σ/
(q3, q

′
1, s2, h3) →A4 (q4, q

′
1, s4, h4)

· · ·
→σ/

(q2k+1, q
′
1, s2k, h2k+1)

· · · C'����D

��� *�� )
Y σ/((q, q

′), s, h) = ((q1, q
′
1), s)

Y σ/((q2i, q
′
1), s2i, h2i) = ((q2i+1, q

′
1), s2i)

Y �	�� �	�� a, b ∈ A2i$ 	� � →a,→b, �a,b, (a, q2i), (b, q2i) ∈ δA(q2i−1)�
Y �	�� �	�� a /∈ A2i$ 	� � �a∈ δA(q2i−1)�
Y h2i+1 = hist(h2i, (q2i, q

′
1), s2i) �� h2i = hist(h2i−1, (q2i−1, q

′
1), s2i)

*���� �&�&"

Y 2� ��
�� Seq(q, q′, s, h) ��� 
� �
� �
 �	�� �	�� k > 0$ C(q2k+1, q
′
1) ���

���
 �� C1(q2k+1, q
′
1) ��� ���
�



����8�	�
���
	� 
�� ��	������ ��9

Y 2� ��
�� Seq(q, q′, s, h)  �
 �� (q2k+1, q
′
1, s2k, h2k+1) �
 C(q2k+1, q

′
1) ���

-��6 �� C2(q2k+1, q
′
1) ��� ���
�

)����� 
 �
$ �	�� �	�� k$ C(q2k+1, q
′
1) ��� ���
 �� C1(q2k+1, q

′
1) ��� ���
$ ��	��$


!����� �� �����$ �� ��
�� Seq(q, q′, s, h) ��� 
� �
�� �
�	�$ 
� �6
��� k > 0 ���
*�� C(q2k+1, q

′
1) ��� -��6 �� C2(q2k+1, q

′
1) ��� ���
$ ���$ ���������$ σ/ ����
�7


��
� �� �	�
�
	� ���
���� (q⊥, s2k) 
� ?�� G(A/syn/B, P )� �

��
�*�� B ��� ���%��$ �	�� �	�� ���� q′ ∈ QB∀$ 
� �6
��� �� ��	������ Rq′ =
〈A, Sq′, s

0
q′, eq′〉 ��� *�� Rq′ � Bq′ 	Q Bq′ ��� �!���	���� B ���� �!���� 
�
�
��

�8��%� �� q′� �� �
��	�� ��
������� �� ��	������ R�

�����	�
� �&�&# �	
� R �� ��	������ 〈A, SR, s0
R, eR〉 ��� *��

SR =
⋃

q′∈QB∀
Sq′ ∪

{
(q, q′, s, h) ∈ Q∃

/ × SP × H
∣∣∣σ/((q, q

′), s, h) ��� 
� �
�
}

���� s0
R = (qA0, qB0, s0

P , h0) �� eR : SR × A → SR ��� 
� �
� �	��� ��
� )

�� �	�� �	�� a ∈ A �� (q, q′, s, h) ∈ SR 	Q σ/((q, q
′), s, h) = ((q1, q

′
1), s)$ 	�

� )
Y �
 �a∈ δB(q′1) ��	�� eR((q, q′, s, h), a) �!��� ��� 
� �
��
Y �
 →a, �a∈ δB(q′1) ��	�� eR((q, q′, s, h), a) = (q, q′, s, h)
Y �
→a, ��a∈ δB(q′1) �� �� ��
�� Seq(q, q′, s, h) ��� 
� �
�$ ��	�� eR((q, q′, s, h), a) =

s0
q′2
���� (a, q′2) ∈ δB(q′1)�

Y �
→a, ��a∈ δB(q′1) �� �� ��
�� Seq(q, q′, s, h)  �
 �� (q2k+1, q
′
1, s2k, h2k+1)

���� �a∈ δA(q2k+1) �� C�	�� �	�� b ∈ B$ �
 →b∈ δA(q2k+1) ��	��
��a,b∈ δA(q2k+1)D$ ��	�� eR((q, q′, s, h), a) = s0

q′2
���� (a, q′2) ∈ δB(q′1)�

Y �
→a, ��a∈ δB(q′1) �� �� ��
�� Seq(q, q′, s, h)  �
 �� (q2k+1, q
′
1, s2k, h2k+1)

�� C→a∈ δA(q2k+1) 	� 
� �6
��� b ∈ A ��� *�� →b∈ δA(q2k+1) ��
�a,b∈ δB(q′1)D$ ��	�� eR((q, q′, s, h), a) = (q2k+2, q

′
2, s2k+2, h2k+2) ����

Y (b, q2k+2) ∈ δA(q2k+1)
Y (b, q′2) ∈ δB(q′1)
Y eP (s2k, b) = s2k+2

Y h2k+2 = hist(h2k+1, ((q2k+1, q
′
1), s2k))

�� �	�� �	�� a ∈ A$ q′ ∈ QB∃ �� r ∈ Sq′ 	� � eR(r, a) = eq′(r, a)�

*���� �&�&�% �
 P � A/B ��	�� 
� �6
��� ��� ������%
� %�%����� 
���
G(B, R) 
���
� (qB0, (qA0, qB0, s0

P , h0))�

)������ <	�� ���	�� ��
������� 
���
�� ��� ������%
� %�%����� σB 
���
G(B, R)� ����	�	�� *�� (q′, (q, q′, s, h)) ��� ��� �	�
�
	� 
� ?�� G(B, R) ���



��� "�� 
��

�(���

*�� σ/(((q, q
′), s), h) ��� 
� �
� �� �%��� � ((q1, q

′
1), s)� 0�	�� σB(q′, (q, q′, s, h)) =

(q′1, (q, q
′, s, h))�

����	�	�� *�� �� ��
�� Seq(q, q′, s, h) C�	
� '����D ��� 
� �
� �
 
� �6
���
a ∈ A ��� *�� →a , ��a∈ δB(q′1)$ �	��� B ��� �	����� ��$ 
!����� �� 
� �
7
�
	� 
� eR$ ��	�� 	� � ��� ��=�� 
� (q′1, (q, q

′, s, h)) ���� �� �	�
�
	� %�%�����
(q′2, s

0
q′2

) 	Q (a, q′2) ∈ δB(q′1)� �� ����$ 
!����� �� 
� �
�
	� 
� eR$ 
� �!� �
��� 
!��=��� 
���
� (q′1, (q, q

′, s, h)) ���� ⊥ �	��*�� �a , �a∈ δB(q′1)� �	��
(q′1, (q, q

′, s, h)) ��� ��� �	�
�
	� %�%������

����	�	�� *�� �� ��
�� Seq(q, q′, s, h)  �
 �� (q2k+1, q
′
1, s2k, h2k+1)� ����	7

�	�� *�!
� �6
��� ��� ��=�� 
� (q′1, (q, q
′, s, h)) ���� (q′3, (q2k+2, q

′
2, s2k+2, h2k+2))�

0�	�� 
� �6
��� a ∈ A ��� *�� (a, q′3) ∈ δB(q′1) �� 
� �6
��� b ∈ A ��� *��
eR((q, q′s, h), b) = (q2k+2, q

′
2, s2k+2, h2k+2) ����→b�a,b δB(q′1)� �	�� (b, q′2)��b∈

δB(q′1)� �	�� (a, q′2),→a, ��a∈ δB(q′1)� �	�� q′2 = q′3� �	�� �!��=�� 
���
�
(q′1, (q, q

′, s, h)) ���� (q′2, (q2k+2, q
′
2, s2k+2, h2k+2)) 
��� �� ?�� G(B, R) �	����7

�	�
 � �!��
*�� �8��
� 
���
� �� �	�
�
	� ((q1, q
′
1), s) ���� �!8
��	
�� h ����

�� �	�
�
	� ((q2k+2, q
′
2), s2k+2) ���� �!8
��	
�� h2k+2 �	����
(�� ���� σ/ �� hist


��� �� ?�� G(A/B, P )� 2�� �8��
�� 
� �
� 
��� �� ?�� G(B, R) �	�� 
	��
%�%���� ��
�*�� ��� ���
��� *�
 ������
����� �	�� ��� �=��� *�� ������ 
� ?��
G(A/B, P )�

�� ����� � ��	���� *�!
� �!� � ��� 
!��=�� ���� ⊥ 
���
� (q′1, (q, q
′, s, h))� 2��

��� 	Q →a, �a, �a∈ δB(q′1) �	�� 
�� �	���*������ 

����� 
� �� 
� �
�
	� 
�
eR� 2�� ��� 	Q ��a ��a,b∈ δB(q′1) �	�� 
�� �	���*������ 

����� 
�� ��	��
����
'���� �� '����� ����	�	�� *�� →a,→b, �a,b∈ δB(q′1)� �
 eR((q, q′s, h), a) = s0

q′2
�� eR((q, q′s, h), b) = s0

q′3
��	�� q′2 = q′3 ��� B ��� �	�
�����
�
����

����	�	�� *�� eR((q, q′s, h), a) = (q2k+2, q
′
2, s2k+2, h2k+2)� 0�	��$ 
!�����

�� 
� �
�
	� 
� eR$ �	
� →a∈ δA(q1) 	� �	
� 
� �6
��� c ∈ A ��� *�� →c∈ δA(q1)
�� �a,c∈ δB(q′1)� ���� �� ����
�� ��� eR((q, q′s, h), a) = eR((q, q′s, h), b) ���

� �
�
	� 
� eR �� 
��� �� 
��6
��� ��� eR((q, q′s, h), a) = eR((q, q′s, h), c) =
eR((q, q′s, h), b)� �

*���� �&�&�� �
 P � A/B ��	�� 
� �6
��� ��� ������%
� %�%����� 
���
G(A, P × R) 
���
� �� �	�
�
	� (qA0, (s0

P , (qA0, qB0, s0
P , h0))) �� R × P ���

(
�� ����8�	�
���

)������ <	�� ���	�� ��
������� 
���
�� ��� ������%
� σA 
��� G(A, P ×R)�
����	�	�� *�� (q, (s, (q, q′, s, h))) ��� ��� �	�
�
	� 
� ?�� G(A, P ×R) ���

*�� �� ������%
� 
��� �� �	�
�
	� ((q, q′), s) 
� ?�� G(A/B, P ) ���� �!8
��	
��



����8�	�
���
	� 
�� ��	������ ���

h ��� 
� �
� �� σ/((q, q
′), s, h) = ((q1, q

′
1, s)� 0�	�� �� ������%
� σA 
���
�

(q, (s, (q, q′, s, h))) ��� 
!����� ���� (q1, (s, (q, q
′, s, h)))�

����	�	�� *�� (q2k, (s2k, (q, q
′, s, h))) ��� ��� �	�
�
	� 
� ?�� G(A, P ×R)

��� *�� �� ������%
� 
��� �� �	�
�
	� ((q, q′), s) 
� ?�� G(A/B, P ) ���� �!8
��	
��
h ��� 
� �
� �� σ/((q, q

′), s, h) = (q1, q
′
1, s)� �� ����$ 	� �	��

��� *�� �� ��
��

Seq(q, q′, s, h) C�	
� '����D ����
�� (q2k, q
′
1, s2k, h2k) ���� σ/((q2k, q

′
1), s2k, h2k) =

(q2k+1, q
′
1, s2k) � 0�	�� �� ������%
� σA 
���
� (q2k, (s2k, (q, q

′, s, h))) ��� 
!�����
���� (q2k+1, (s2k, (q, q

′, s, h)))�

�	
� (q, (s, (q, q′, s, h))) ��� �	�
�
	� 
� ?�� G(A, P×R) ������
(�� ��� σA�
����	�	�� *�� �� ��
�� Seq(q, q′, s, h) ��  �
 ��� �� (q2k+1, q

′
1, s2k, h2k+1) ��

*�!
� �6
��� ��� ��=�� 
���
� (q2k+1, (s2k, (q, q
′, s, h))) ���� (q′′, (s′′, r))� 0�	�� 
�

�6
��� a ∈ A ��� *�� (a, q′′) ∈ δA(q2k)$ eP (s2k, a) = s′′ �� eR((q, q′s, h), a) = r′′�
"	��� A ��� �	�
�����
�
��� �a /∈ δA(q2k+1)� "	��� A ��� �	����������
����
 �$ →a ��a∈ δA(q2k+1)� :� �� �	�

�
	� C1(q2k+1, q

′
1) ��� ���
 
	�� �a∈

δB(q′1) �� 
	��$ 
!����� �� 
� �
�
	� 
� eR$ 	� � r′′ = (q, q′, s, h)� �	��$ 
� � �
��� ��=�� (q2k+1, (s2k, (q, q

′, s, h))) ���� (q′′, (s′′, (q′, q′, s, h))) 
��� G(A, P×R)
�� ��� ��=�� 
� ((q2k+1, q

′
1), s2k) ���� ((q′′, q′1), s

′′)) 
��� �� ?�� G(A/B, P )�
3	���	�� *�!
� �!� � ��� 
!��=��� ���� ⊥ 
���
� (q2k+1, (s2k, (q, q

′, s, h)))�
Y ����	�	�� *�� �a∈ δA(q2k+1)� �
 →a∈ δB(q′1) ��	�� �a∈ δ/(q2k+1, q

′
1)

�	�� eP (s2k, a) �!��� ��� 
� �
��
Y �
 →a, ��a∈ δA(q2k+1) ��	�� →a∈ δ/(q2k+1, q

′
1) ��$ 
!����� �� �	�

�
	�

C1(q2k+1, q
′
1)$ �a∈ δB(q′1)� �	�� eR((q, q′, s, h), a) = (q, q′, s, h)� �� ����

��a∈ δ/(q2k+1, q
′
1) ��� C(q2k+1, q

′
1) �� C1(q2k+1, q

′
1) �	�� ���
�� �	��$

��
�*�� ((q2k+1, q
′
1), s2k) ��� ��� �	�
�
	� %�%����� 
� ?�� G(A/B, P )$

eP (s2k, a) ��� 
� �
� ��
� ��� �%��� � s2k�
Y �
→a, �a∈ δA(q2k+1) ��	���a∈ δ/(q2k+1, q

′
1)∩δB(q′1)� �	�� eR((q, q′, s, h), a) =

(q, q′, s, h) �� ��
�*�� ((q2k+1, q
′
1), s2k) ��� ��� �	�
�
	� %�%����� 
� ?��

G(A/B, P )$ eP (s2k, a) = s2k

Y �
 →a,→b, �a,b∈ δA(q2k+1)� �	�� �a,b∈ δA(q2k+1, q
′
1) ��$ 
!����� ��

�	�

�
	� C1(q2k+1, q
′
1)$ �a, �b∈ δB(q′1) ��$ ��
�*�� ((q2k+1, q

′
1), s2k) ���

��� �	�
�
	� %�%����� 
� ?�� G(A/B, P )$ eP (s2k, a) = eP (s2k, b)�
Y �
 →a,→b, ��a,b∈ δA(q2k+1)� �!����� �� �	�

�
	� C1(q2k+1, q

′
1)$ �a, �b∈

δB(q′1)� �	�� ��a,b∈ δA(q2k+1, q
′
1)$ 
	�� eP (s2k, a) �= s2k

�	
� (q, (s, (q, q′, s, h))) ��� �	�
�
	� 
� ?�� G(A, P×R) ������
(�� ��� σA�
����	�	�� *�� �� ��
�� Seq(q, q′, s, h) C�	
� '����D  �
 �� (q2k+1, q

′
1, s2k, h2k+1)

�� *�!
� �6
��� ��� ��=�� 
���
� (q2k+1, (s2k, (q, q
′, s, h))) ���� (q′′, (s′′, r))� 0�	��


� �6
��� a ∈ A ��� *�� (a, q′′) ∈ δA(q2k)$ eP (s2k, a) = s′′ �� eR((q, q′s, h), a) =
r′′� "	��� A ��� �	�
�����
�
��� �a /∈ δA(q2k)� "	��� A ��� �	����������



��� "�� 
��

�(���

����
 �$ →a∈ δA(q2k)� �� ���� �� �	�

�
	� C(q2k, q
′
1) ��� -����� 
	�� �a /∈

δB(q′1)� �	�� 
� �6
��� q′2 ��� *��→a ��a, (a, q′2) ∈ δB(q′1) ��$ 
!����� �� 
� �
�
	�

� eR$ r′′ = (q′′, q′2, s

′′, h′′) ���� h′′ = hist(h2k+1, ((q2k+1, q
′
1), s2k))� �	��$ 
� � �

��� ��=�� (q2k+1, (s2k, (q, q
′, s, h))) ���� (q′′, (s′′, (q′′, q′2, s

′′, h′′))) 
��� G(A, P×
R) �� ��� ��=�� 
� ((q2k+1, q

′
1), s2k) ���� ((q′′, q′2), s

′′)) 
��� �� ?�� G(A/B, P )�
3	���	�� *�!
� �!� � ��� 
!��=��� ���� ⊥ 
���
� (q2k+1, (s2k, (q, q

′, s, h)))�
Y ����	�	�� *�� �a∈ δA(q2k+1)� �
 →a∈ δB(q′1) ��	�� �a∈ δ/(q2k+1, q

′
1)

�	�� eP (s2k, a) �!��� ��� 
� �
��
Y �
→a, ��a∈ δA(q2k+1) ��	��→a∈ δ/(q2k+1, q

′
1)∩δB(q′1)� ��
�*�� �� �	�

7

�
	� C(q2k+1, q
′
1) ��� -�����$ ��a∈ δB(q′1)� 2� �	�

�
	� '���� ������ 
�

�!������� *�� eR((q, q′, s, h), a) �= (q, q′, s, h) ��$ ��
�*�� ((q2k+1, q
′
1), s2k)

��� ��� �	�
�
	� %�%����� 
� ?�� G(A/B, P )$ eP (s2k, a) ��� 
� �
��
Y �
→a, �a∈ δA(q2k+1) ��	���a∈ δ/(q2k+1, q

′
1)∩δB(q′1)� �	�� eR((q, q′, s, h), a) =

(q, q′, s, h) �� ��
�*�� ((q2k+1, q
′
1), s2k) ��� ��� �	�
�
	� %�%����� 
� ?��

G(A/B, P )$ eP (s2k, a) = s2k

Y �
 →a,→b, �a,b∈ δA(q2k+1)� �	�� �a,b∈ δA(q2k+1, q
′
1) �� C�a,b∈ δB(q′1)

	� �a, �b∈ δB(q′1)D� "	��� ((q2k+1, q
′
1), s2k) ��� ��� �	�
�
	� %�%�����


� ?�� G(A/B, P )$ eP (s2k, a) = eP (s2k, b)� �� ����$ �	��� A �� B
�	�� �	����� �� �	�
�����
�
���$ 
� �6
��� q2, q

′
2 ��� *�� (a, q2)(b, q2) ∈

δA(q2k+1) �� (a, q′2)(b, q
′
2) ∈ δB(q′1)� �	�� eR((q, q′, s, h), a) = (q2, q

′
2, s2k, h2) =

eR((q, q′, s, h), b)�
Y �
 →a,→b, ��a,b∈ δA(q2k+1) ��	�� →a,→b∈ δB(q′1)�
�
 �a,b∈ δB(q′1) 	� �a, �b∈ δB(q′1) ��	�� ��a,b∈ δA(q2k+1, q

′
1)� "	���

((q2k+1, q
′
1), s2k) ��� ��� �	�
�
	� %�%����� 
� ?�� G(A/B, P )$ eP (s2k, a) �=

eP (s2k, b)�
�
 ��a,b, ��a, ��b∈ δB(q′1) "	��� B ��� �	����� �� �	���������� ����
 �$
�� ��	��
��� '���� �	�� ������ eR((q, q′, s, h), a) �= eR((q, q′, s, h), b)�

�

�!�!� -����� / '� �� �%�
�� R � B ��� )�� P × R � A ��

R × P �
� ���� 
��������
� ����
 P � A/syn/B
*���� �&�&�� �
 R � B �� P ×R � A ��	�� 
� �6
��� ��� ������%
� %�%�����

��� G(A/B, P ) 
���
� ((qA0, qB0), s0)�

)������ �	
� P = 〈A, SP , s0
P , eP 〉 �� σA ��� ������%
� �	�
�
	������ %�%�����


��� G(A, P ×R)� �	
� R = 〈A, SR, s0
R, eR〉 �� σB ��� ������%
� �	�
�
	������

%�%����� 
��� G(B, R)�

<	�� ���	�� ��
������� 
���
�� ��� ������%
� σ : (Q∃
/×SP )×SR → Q∀

/×SP

���� �� -	���
	� 
!8
��	
�� hist : SR × (Q/ × SP ) → SR 
��� G(A/B, P )�



����8�	�
���
	� 
�� ��	������ ���

����	�	�� *�� ((q, q′), s) ∈ Q∃
A × Q∃

B × SP �	
� ��� �	�
�
	� 
� ?��
G(A/B, P ) ���� �!8
��	
�� s′ ��� *�� ��� ������%
�� 
��� ��� �	�
�
	�� (q, (s, s′))

� G(A, P×R) �� (q′, s′) 
� G(B, R) �	
��� 
� �
�� �	
� (q1, (s, s

′)) = σA(q, (s, s′))
�� (q′1, s

′) = σB(q, s′)� 0�	�� �� ������%
� σ 
���
� ((q, q′), s) ��� 
!����� ��
((q1, q

′
1), s) ���� hist(s′, (q, s)) = s′�

����	�	�� *�� ((q, q′1), s) ∈ Q∃
A × Q∀

B × SP �	
� ��� �	�
�
	� 
� ?��
G(A/B, P ) ���� �!8
��	
�� s′ ��� *�� �� ������%
� 
��� �� �	�
�
	� (q, (s, s′))

� G(A, P × R) ��� 
� �
� ���� (q1, (s, s

′)) = σA(q, (s, s′)) �� (q′1, s
′) ��� ���

�	�
�
	� ������
(�� ��� �� ������%
� σB� 0�	�� �� ������%
� σ 
���
� ((q, q′1), s)
��� 
!����� �� ((q1, q

′
1), s) ���� hist(s′, (q, s)) = s′�

5����*�	�� 
!�(	�
 *�� D(q1, q
′
1) ��� ���
 ��� ��� �	�
�
	�� (q1, (s, s

′)) ��
(q′1, s

′) �	�� %�%������ �� 
	�� σ ��� (
�� 
� �
� C�
 hist ��� (
�� 
� �
�D�
3	���	�� ��
������� *�!
� �!� � ��� 
!��=�� 
���
� ((q, q′1), s) ���� (q⊥, s)


��� G(A/B, P )�
����	�	�� *�� C(q1, q

′
1) ��� ���
� �	�� 
� �6
��� a ∈ A ��� *�� →a, ��a∈

δA(q1) ��→a, �a∈ δB(q′1)� :� ��� �	�
�
	�� (q1, (s, s
′)) �� (q′1, s

′) �	�� %�%������
e(s, a) �= s �� e′(s′, a) = s′� "	��� R×P ��� (
�� ����8�	�
��$ �	�� �	�� b ∈
A$ Ce′(s′, b) = s′ 	� e′(s′, b) �!��� ��� 
� �
�D �� �	
� e× e′((s, s′), b) �!��� ���

� �
�$ �	
� e× e′((s, s′), b) = (s, s′) 	� �	
� e× e′((s, s′), b) = e× e′((s, s′), a)�
�	��$ ��
�*�� ��� �	�
�
	�� (q1, (s, s

′)) �� (q′1, s
′) �	�� %�%������$ �
 →a,→b∈

δA(q1) ��	�� �b�a∈ δB(q′1) �� �
 ��a, ��b∈ δA(q1) ��	�� �a,b∈ δA(q1)� �	��
C1(q1, q

′
1) ��� ���
�

����	�	�� *�� C(q1, q
′
1) ��� -��6� �	�� �	�� �	�� a ∈ A �
→a, ��a∈ δA(q1)

��	�� � a /∈ δB(q′1)� :� ��� �	�
�
	�� (q1, (s, s
′)) �� (q′1, s

′) �	�� %�%������$ 
	��
e(s, a) �= s �� e′(s′, a) �= s′� "	��� R × P ��� (
�� ����8�	�
��$ �	�� �	��
b ∈ A$ �	
� e × e′((s, s′), b) �!��� ��� 
� �
�$ �	
� �
 e′(s′, a) = e′(s′, b) ��	��
e(s, a) = e(s, b)� �	��$ ��
�*�� ��� �	�
�
	�� (q1, (s, s

′)) �� (q′1, s
′) �	�� %�7

%������$ 	� ���� ���
 �� *�� C2(q1, q
′
1) ��� ���
�

�	
� ((q1, q
′
1), s) ∈ Q/ ×SP ��� �	�
�
	� ������
(�� ��� σ ���� �!8
��	
�� s′�

�
 
� � � ��� ��=�� 
���
� ((q1, q
′
1), s) ���� ((q2, q

′
2), s2) ���� q′2 �= q′1� 0�	��


� �6
��� a ∈ A ��� *�� (a, q2),→a ∈ δA(q1) �� (a, q′2) →a ∈ δB(q′1) ��
e(s, a) = s2� ��
�*�� (q′1, s

′) ��� %�%�����$ e′(s′, a) ��� 
� �
�$ 

�	�� �%��� �
s′2� �	�� 
� � � ��� ��=�� 
���
� (q1, (s, s

′)) ���� (q2, (s2, s
′
2)) 
��� G(A, P ×

R) �� ��� ��=�� 
���
� (q′1, s
′) ���� (q′2, s

′
2) 
��� G(B, R)� :� 
� �
� ��	��

hist(s′, ((q1, q
′
1), s)) = s′2�

�
 
� � � ��� ��=�� 
���
� ((q1, q
′
1), s) ���� ((q2, q

′
1), s2)� �� ���� 
� �6
���

a ∈ A ��� *�� (a, q2),→a ∈ δA(q1) �� →a �a∈ δB(q′1) �� e(s, a) = s2�
��
�*�� (q′1, s

′) ��� %�%�����$ e′(s′, a) ��� 
� �
� �� �%��� � s′� �	�� 
� � � ���
��=�� 
���
� (q1, (s, s

′)) ���� (q2, (s2, s
′)) 
��� G(A, P × R)� :� 
� �
� ��	��



��� "�� 
��

�(���

hist(s′, ((q1, q
′
1), s)) = s′�

�� ����� � ��	���� *�!
� �!� � ��� 
!��=�� ���� ⊥ 
���
� ((q1, q
′
1), s) 
���

G(A/syn/B, P )�
Y �
 �a∈ δ/(q1, q

′
1) ��	�� �a∈ δA(q1) �� →a∈ δB(q′1)� ��
�*�� (q′1, s

′)
��� %�%�����$ e′(s′, a) ��� 
� �
� ��$ �	��� (q1, (s, s

′)) ��� ��� �	�
�
	�
%�%�����$ e(s, a) �!��� ��� 
� �
��

Y �
 →a, �a∈ δ/(q1, q
′
1) ��	�� →a, �a∈ δA(q1)� ��
�*�� (q1, (s, s

′)) ��� ���
�	�
�
	� %�%����� 
��� G(A, P × R)$ eP (s, a) = s�

Y �
 →a, ��a∈ δ/(q1, q
′
1) ��	�� →a ��a∈ δA(q1) �� �a∈ δB(q′1)� ��
�*��

(q′1, s
′) ��� %�%�����$ eR(s′, a) = s′� 0�	��$ ��
�*�� (q1, (s, s

′)) ��� ���
�	�
�
	� %�%����� 
��� G(A, P × R)$ eP (s, a) �= s

Y �
 →a,→b, �a,b∈ δ/(q1, q
′
1) ��	�� →a,→b, �a,b∈ δA(q1)� 0�	��$ ��
�*��

(q1, (s, s
′)) ��� ��� �	�
�
	� %�%����� 
��� G(A, P × R)$ eP (s, a) =

eP (s, b)�
Y �
 →a,→b, ��a,b∈ δ/(q1, q

′
1) ��	�� →a,→b, ��a,b∈ δA(q1) �� C�a, �b∈

δB(q′1) 	� �a,b∈ δB(q′1)D ��
�*�� (q′1, s
′) ��� %�%�����$ eR(s′, a) = eR(s′, b)�

0�	��$ ��
�*�� (q1, (s, s
′)) ��� ��� �	�
�
	� %�%����� 
��� G(A, P ×R)$

eP (s, a) �= eP (s, b)�
�

�!�!� $%�
��� / ��
�������� ���6���

�	
� A1
O, A2

O, . . . , An
O ⊆ A 
�� �	�� �����(��� 
!���������� ���� *�� )

A1
O ⊆ A2

O ⊆ . . . ⊆ An
O ⊆ A

���� F5
���G$ ����8��� 5
�
A�% �	���� *�� �� �	������ 
��������
�� ���� ���7
������� 
�	(�����(��� ��� 
��

�(�� �
$ �	�� �	�� i$ �� �	�������� Qi �� ����
	(������ *�� ��� ���������� Ai

O$ �!��� � 

�� Qi � A(Ai
O) 
!����� �!�6�����

������

:� ���� 

���
 �� �� ��� � �� ��� ����
���
�� 
� �	��������� (
�� ����8�	7
�
����

�	
�$ �	�� �	�� i ∈ ]n]$ B(Ai
O) �� ���	���� ���� ���������� 
�

����7

��(��� ����� �� ���� ���� ��
������ q 
� ���
�� ����� �� �� -	���
	� 
� �����
7
�
	� )

δ(q) = {(a, q) : a ∈ A} ∪ {��x,y, ��x: x ∈ A, y /∈ Ai
O}

5����*�	�� *�� �	�� �	�� ��	������ P $ 
� �6
��� �� ��	������ Q (
�
�
��
��
��� *�� Q � B(Ai

O)� <	�	��$ �	�� �	�� i ∈ ]n]$ Ci �!���	���� B(Ai
O)∧A(Ai

O)�



����8�	�
���
	� 
�� ��	������ ��&

*���� �&�&�� �	
�$ �	�� �	�� i ∈ ]n]$ 
�� ��	������ Qi = 〈A, Λ, Si, s
′
0,i, e

′
i, λ

′
i〉

���� *�� Qi � Ci� 0�	��$ �	�� �	�� i = 2, 3, . . . n$ Ri−1×Qi ��� (
�� ����8�	�
��
���� Ri−1 = Q1 × · · · × Qi−1�

)����� 
 �	
� Ri−1 = 〈A, Λ, S, s0, eR, λ〉� �	
� (si, s) = (si, s1, s2, . . . , si−1) ��
���� 
� Qi × Ri−1� �
 eRi−1

(s, a) = s ��	��$ ��
�*�� Qk � A(Ak
O) �� Ak

O ⊆ Ai
O

�	�� �	�� k < i$ 	� � ei(si, a) = si� �	��$ �
 ei×eRi−1
((s, si), b) ��� 
� �
 ��
�

�!��� ��� �%��� � (s, si)$ ��	�� eRi−1
(s, b) �= s� �� ����$ ��
�*�� Qi � B(Ai

O)$ �

ei(si, b) �� ei(si, a) C���� a �= bD �	�� 
� �
�$ ��	�� ei(si, b) �= ei(si, a)� �	�� ��
�	�

�
	� C2(ΠRi−1

(s), ΠQi
(si)) ��� ���
� �	�� Qi×Ri−1 ��� (
�� ����8�	�
��

C�	
� �� �
�
	� '����D� �

2� �	�	���
�� '���& ������ 
� �	������ *�� �� �	������ 
��������
�� ���

��

�(�� ���� �� �	����
��� ��	�	��� 
��� F5
���G�

�!�!� $%�
��� / �� ��������

"	��

��	�� �� ��� 
� �
���
�� C�	
�  %��� '��D� �	
� A1, A2, . . . , An ⊆ A

�� �	�� �����(��� 
!���������� 

�?	
����

· · ·
A0 An−1 An

Q1 Q2 Qn

A1 A2

���� '�� Y �
���
�� 
� n �	���������

2� �	������� Qi$ �	
� �
� �� ��������� 
��� Ai ���	�� ��� �� �	��������
Qi−1 C	� ��� �!���
�	������ �	�� Q1D$ �	
� ���	
� �� ��������� 
��� Ai+1

�� �	�������� Qi+1� �� ����$ 
� �� �	
� ��� ��� ���������� Ak �	�� k < i ��
k > i + 1�

�	
�$ �	�� �	�� i ∈ ]n]$ D(Ai−1, Ai) �� ���	���� ���� ���������� 
�

�7
�����(��� ����� �� ���� �6
�����
�� q0 �� 
�� ����� ��
������� {qa

i−1, q
a
i : a ∈ A}$

�	�� 
� ���
�� ������$ �� �� -	���
	� 
� �����
�
	� )
Y δ(q0) = {(ε, qa

i−1) : a ∈ Ai−1} ∪ {(ε, qa
i ) : a ∈ Ai}

Y δ(qa
i−1) = {(a, q0)} ∪ {�x: x ∈ Ai}

Y δ(qa
i ) = {(a, q0)} ∪ {�x: x �= a}

<	�	��$ �	�� �	�� i ∈ ]n]$ C′
i �!���	���� )

B(Ai−1 ∪ Ai) ∧ D(Ai−1, Ai) ∧
∧
k<i

A(Ak) ∧
∧

k>i+1

A(Ak)



��' "�� 
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J	
� �!�6����� 
� �� ����
� '���& �	�� �� 
� ��
	� 
� B(Ai−1∪Ai) �� �!�6�����
����� �	�� �� 
� �
�
	� 
� A(Ak)�

*���� �&�&� �	
�$ �	�� �	�� i ∈ ]n]$ 
�� ��	������ Qi = 〈A, Λ, Si, s
′
0,i, e

′
i, λ

′
i〉

��� *�� Qi � C′
i� 0�	��$ �	�� �	�� i = 2, 3, . . . n$ Qi×Ri−1 ��� (
�� ����8�	�
��

���� Ri−1 = Q1 × · · · × Qi−1�

)����� 
 �	
� Ri−1 = 〈A, Λ, S, s0, eR, λ〉� �	
� (si, s) = (si, s1, s2, . . . , si−1)
�� ���� 
� Ri−1 × Qi�

�
 eRi−1
(s, a) = s ��	�� a ∈ Ai ∪ Ai+1 ∪ · · · ∪ An ��� Qk � B(Ak−1 ∪ Ak)

�	�� �	�� k < i� �
 a ∈ Ai+1∪ · · · ∪An ��	�� �	
� ei(si, a) = si 	� ei(si, a) �!���
��� 
� �
� �
 a ∈ Ai �� ei(si, a) ��� 
� �
 ��	��$ �	��� Qi � D(Ai−1, Ai)$
DQi

(si) = {a}� �	�� �� �	�

�
	� C1(ΠQi
(si), ΠRi−1

(s)) ��� ���
�
�
 a ∈ A ��� *�� eRi−1

(s, a) ��� 
� �
$ 	� � eRi−1
(s, a) �= s ��	�� a ∈

A0 ∪A1 ∪ · · · ∪Ai−1� �
 a ∈ A0 ∪A1 ∪ · · · ∪ Ai−2 �� ei(si, a) ��� 
� �
 ��	��
ei(si, a) = si� �
 a, b ∈ Ai−1 �� ei(si, a) �� ei(si, b) �	�� 
� �
�$ ��	��$ ��
�*��
Qi � B(Ai−1∪Ai)$ ei(si, b) �= ei(si, a)� �	�� �� �	�

�
	� C2(ΠQi

(si), ΠRi−1
(s))

��� ���
� �	�� Qi × Ri−1 ��� (
�� ����8�	�
��� �

2� �	�	���
�� '���& ������ 
� �	������ *�� �� �	������ 
��������
�� ���

��

�(�� �	�� �� �
���
���

'�� 7������� �!�� �������� ������ ��� �� ��1
������ 	�����

���� ����� ����
�$ �	�� �	���	�� �	����� 
� �
� �!	�����
	� 
� *�	�
���

!�� ���	���� ����
� ��� �� ���	���� �
���� C�� ��� ����
���
�� ��� 
	��
�� *�	�
��� 
� 
��6 ���	����� �
�����D�

�!&! +�
����� ���������

,-�
���� �&�&� �	
� ≤A �� 	�
�� �	���� ��� A� �	
� A �� ���	���� ����
�
�� C �� ���	���� �
���� ����
� ��� ����	�� � ≤A C�	
� 
� �
�
	� ����+D� ��
�6
��� �� ���	���� ����
� A/C ��� *�� )

P � A/C �
 �� ��������� �
 
� �6
��� Q̂ � C ��� *�� P × Q � A�

C�	
� �� �
�
	� ����� �	�� �� �	���
	� Q̂D�

:� ���� �� 
�
�
�� �
������ *�!
� ��� �	��
(�� 
� -�
�� �� *�	�
��� 
!��7
�	���� ����
� ��� �� ���	���� �
���� �	��� �!�S��� �� �	�	���
�� ��
�����



;�	�
��� 
!�� ���	���� ����
� ��� �� ���	���� �
���� ���

$
�
������ �&�&� �	
� A �� ���	���� ����
� �	�
�����
�
��� �� B �� ��7
�	���� �
����� �� �6
��� �� ���	���� ����
� A/B ��� *�� )

P � A/B �
 �� ��������� �
 
� �6
��� Q � B ��� *�� P × Q � A�

)����� �� �
�
������ �&�&� �	
� C �!���	���� �
���� ��
�
� R(B̂) C�	
�

� �
�
	�� ����& �� ������D� �!����� �� �8�	���� ������$ P̂ � R(B̂) �
 �� �����7
���� �
 P̂ � B̂� �!����� �� ��	�	�
�
	� ����'$ P̂ � B̂ �
 �� ��������� �
 P � B�
�!����� �� �8�	���� '����$ 
� ��S� 
	�� *�� �!���	���� ����
� A/B �	
� �!��7
�	���� A/C = A/(R(B̂))� �

<	�� ���	�� ��
������� 
��	����� �� �8�	���� '�����

�!&!� .�#������ �� �(����
��� A/C
�����	�
� �&�&� �	
� A = 〈A, QA, QA∃, QA∀, qA0, δA, AccA〉 �� ���	����
����
� �	�
�����
�
��� � ���
��� <	�� ����	�	�� *�� A ��� �	����� ��
�	���������� ����
 � C�	
� 
� �
�
	� ��+�9D �� *�� �	�� �	�� a ∈ A ��
q, q1, q2 ∈ QA 	� � )

�
 (ε, q1) ∈ δA(q) �� (a, q2) ∈ δA(q1) ��	�� q2 �= q C'����D

C�� ��S� �	�� ���� 
� 
���
*��� �����
�� ����� 
� AD

�	
� C = 〈A, ΠA, QC, QC∃, QC∀, qC0, δC, AccC〉 �� ���	���� �
���� �	�
����7
�
�
��� ��
�
� � ���
��� :� ����	�� *�� C ��� ���%�� C�	
� 
� �
�
	� ��+���D
�� *�� �	�� �	�� q ∈ Q∀

C$ π = {N, L, A1, . . . , Ap} ∈ ΠA �� i ∈ ]p] C�	
�
�	���
	� �����D$

δC(q, π) ∩ (Ai × Q∃
C) �= ∅

C�� ��S� 
!�?	���� 
�� �����
�
	�� 
��� Ai×QC ���� �� �	���� ���� %�%����D�
�� �6
��� 
	�� q′ ∈ Q∀ ��� *�� C�	
� �	���
	� �����D )

δC(q, π) ∩ Ai × QC = (min≤A
{x ∈ Ai}, q′) C'����D

,� �$ 	� ����	�� *�� �	�� �	�� a, b ∈ A �� q, q1, q2 ∈ QC$ 	� � )

�
 (a, q1), (b, q2) ∈ δC(q, π) ��	�� q1 �= q2 C'����D

C�� ��S� �	�� ���� 
� 
���
*��� �����
�� ����� 
� CD

�	
� A/C = 〈A, Q/, Q
∃
/, Q

∀
/, q

0
/, δ/, Acc/〉 �� ���	���� 
� �
 �	��� ��
� )

Q∃
/ = QA∃ × QC∃, Q∀

/ = QA∀ × QC∀ × ΠA �� q0
/ = (qA0, qC0)

Acc/ =
{
(q0, q

′
0)(q1, q

′
1, π1) · · ·

∣∣ q0q1 · · · ∈ AccA �� q′0q
′
1 · · · ∈ AccC

}
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Y �	�� �	�� ���� �6
�����
�� (q, q′) ∈ Q∃
/ $ δ/(q, q

′) �	��
��� (ε, (q1, q
′
1, π))

���� π = {N, L, A1, . . . , Ap} �
 )
Y (ε, q1) ∈ δA(q)
Y (ε, q′1) ∈ δC(q′, π)
Y L = {a :�a∈ δA(q1)}
Y �
 →a∈ δA(q1) ��	�� a /∈ N
Y �
 �a∈ δC(q1, π) ��	�� a ∈ N
Y �	�� �	�� i ∈ ]p] �� a, b ∈ A$ 	� � a, b ∈ Ai �
 �� ��������� �


�a,b∈ δA(q1)�
Y �	�� �	�� ���� ��
������ (q1, q

′
1, π) ∈ Q∀

/ ���� π = {N, L, A1, . . . , Ap}$
δ/(q1, q

′
1, π) �	��
��� )

Y (a, (q2, q
′
2))$ �
 →a∈ δA(q1)$ (a, q2) ∈ δA(q1) �� (min≤A

{x ∈ Ai}, q′2) ∈
δC(q′1, π)

Y →a$ �
 →a∈ δA(q1)
Y �a$ �
 �a∈ δA(q1) �� a /∈ N
Y �a$ �
 �a∈ δA(q1)
Y �a,b$ �
 �a,b∈ δA(q1)

�!&!& -����� / '� P � A/C ����
 �� �%�
�� R̂ � C ��� )��

P × R � A!
����	�	�� *�!
� �6
��� ��� ������%
� %�%����� σ/ : (Q∃

/ ×SP )×H → Q∀
/ ×

SP ���� �!8
��	
�� H 
��� G(A/C, P ) �	�� �� ��	������ P = 〈A, SP , s0
P , eP 〉

���� �� -	���
	� 
� �
�� � ?	�� hist : H × (Q/ × SP ) → H �

��
�*�� C ��� ���%��$ �	�� �	�� ���� q′ ∈ QC∀$ 
� �6
��� �� ��	������ Rq′ =
〈A, Sq′, s

0
q′, eq′〉 ��� *�� Rq′ � Cq′ 	Q Cq′ ��� �!���	���� C ���� �!���� 
�
�
��

�8��%� �� q′�

�����	�
� �&�& �	
� R �� ��	������ 〈A, SR, s0
R, eR〉 ��� *��

SR =
⋃

q′∈QC∀
Sq′ ∪

{
(q, q′, s, h) ∈ Q∃

/ × SP × H
∣∣∣σ/((q, q

′), s, h) ��� 
� �

}

���� s0
R = (qA0, qC0, s0

P , h0) �� eR : SR × A → SR ��� 
� �
 �	��� ��
� )

�� �	�� �	�� a ∈ A �� (q, q′, s, h) ∈ SR 	Q σ/((q, q
′), s, h) = ((q1, q

′
1, π), s)

���� π = {N, L, A1, . . . , Ap}$ 	� � )
Y �
 a ∈ N ��	�� eR((q, q′, s, h), a) �!��� ��� 
� �
�
Y �
 a ∈ L ��	�� eR((q, q′, s, h), a) = (q, q′, s, h)
Y �	�� �	�� i$ �
 a ∈ Ai �� →a /∈ δA(q1) ��	�� eR((q, q′, s, h), a) = s0

q′2
���� (min≤A

{x ∈ Ai}, q′2) ∈ δC(q′1, π) Cs0
q′2
��� �!���� 
�
�
�� 
� Rq′2D�
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Y �	�� �	�� i$ �
 a ∈ Ai �� →a∈ δA(q1) ��	�� eR((q, q′, s, h), a) =
(q2, q

′
2, s2, h2) ���� )

Y (a, q2) ∈ δA(q1)
Y (min≤A

{x ∈ Ai}, q′2) ∈ δC(q′1, π)
Y eP (s, a) = s2

Y h2 = hist(hist(h, ((q, q′), s)), ((q1, q
′
1), s))

�� �	�� �	�� a ∈ A$ q′ ∈ QC∃ �� r ∈ Sq′ 	� � eR(r, a) = eq′(r, a)�

*���� �&�&! R ��� (
�� 
� �
�

)����� 
 �	
� π = {N, L, A1, . . . , Ap}�
�!����� �� ��	��
��� '����$ �	�� �	�� i$ 
� �6
��� q′2 ��� *�� (min≤A

{x ∈
Ai}, q′2) ∈ δC(q′1, π)�

��
�*�� A ��� �	�����$ �
 →a∈ δA(q1)$ 
� �6
��� q2 ��� *�� (a, q2) ∈ δA(q1)�
:� ��
�$ 
� ���� *�� �� �	�
�
	� ((q1, q

′
1, π), s) ��� %�%����� 
��� �� ?��

G(A/C, P ) ��� ���� ��� ������
(�� ��� �� ������%
� σ/� :� →a∈ δA(q1) 
���
*��
→a∈ δ/(q1, q

′
1, π)$ 
	�� 
� �6
��� s2 ��� *�� eP (s, a) = s2� �

*���� �&�&� �	�� �	�� (q, q′, s, h) ∈ SR 	Q σ/((q, q
′), s, h) = ((q1, q

′
1, π), s)$

	� � ΠR(q, q′, s, h) = π�

)����� 
 :� � (ε, (q1, q
′
1, π)) ∈ δ/(q, q

′)� �	
� π = {N, L, A1, . . . , Ap}�
�	
� a, b ∈ Ai �� →a ∈ δA(q1)� �!����� ��� �	�

�
	�� ���������� ���

�����
�
	�� 
���
� δ/(q, q
′)$ 	� � �a,b∈ δA(q1)� :� A ��� �	���������� ���7

�
 �$ 
	�� →b ∈ δA(q1)� "	��� A ��� �	�
�����
�
���$ �
 (a, q2) ∈ δA(q1)
�� (b, q3) ∈ δA(q1) ��	�� q2 = q3� �� ����$ �a,b∈ δ/(q1, q

′
1, π)� ��
�*�� *��

((q1, q
′
1, π), s) ��� ��� �	�
�
	� %�%�����$ 	� � eP (s, a) = eP (s, b)� �	�� eR((q, q′, s, h), a) =

eR((q, q′, s, h), b)
�	
� a ∈ Ai �� b ∈ Aj ���� i �= j� 2� �	�

�
	� '���� �	�� ������ *��

eR((q, q′, s, h), a) �= eR((q, q′, s, h), b)�
�	
� a ∈ Ai �� b ∈ L� 2� �	�

�
	� '���� �	�� ������ *�� eR((q, q′, s, h), a) �=

eR((q, q′, s, h), b)� �

*���� �&�&� �
 P � A/C ��	�� 
� �6
��� ��� ������%
� %�%����� 
��� G(C, R̂)

���
� (qC0, (qA0, qC0, s0

P , h0))�

)������ <	�� ���	�� ��
������� 
���
�� ��� ������%
� %�%����� σC 
���
G(C, R̂)� ����	�	�� *�� (q′, (q, q′, s, h)) ��� ��� �	�
�
	� 
� ?�� G(C, R̂) ���
*�� σ/(((q, q

′), s), h) ��� 
� �
 �� �%��� � ((q1, q
′
1, π), s)� 0�	�� σC(q′, (q, q′, s, h)) =

(q′1, (q, q
′, s, h))�

0 � 
� ��	���� *�� σC ��� %�%�����$ ����	�	�� 
!�(	�
 *�!
� � � ��� ��=�� 
�7
��
� (q′1, (q, q

′, s, h)) ���� (q′3, (s
0
q′2

)) 
��� G(C, R̂)� ��� 
� �
�
	� 
� eR$ q′3 = q′2



��� "�� 
��

�(���

�� (q′2, (s
0
q′2

)) ��� ��� �	�
�
	� %�%����� ��
�*�� Rq′2 � Cq′2 �

����	�	�� *�� �!	� � ��� ��=�� 
���
� (q′1, (q, q
′, s, h)) ���� (q′2, (q2, q

′
3, s2, h2)))


��� G(C, R̂)� �	�� 
� �6
��� a ∈ A ��� *�� (a, q′2) ∈ δC(q′1, π)$ �� eR((q, q′, s, h), a) =
(q2, q

′
3, s2, h2)� ��
�*�� C ��� ��
�
�$ 
!����� �� ��	��
��� '����$ 
� �6
��� i ���

*�� a = min≤A
{x ∈ Ai} ��$ 
!����� �� 
� �
�
	� 
� eR$ 	� � (a, q2) ∈ δA(q1)$

(min≤A
{x ∈ Ai}, q′3) ∈ δC(q′1, π) �� eP (s, a) = s2� �	��$ ��
�*�� C ��� �	�
�7

����
�
��� q′2 = q′3 ��$ 
� ����$ 
� � � ��� ��=�� ((q1, q
′
1, π), s) ���� ((q2, q

′
2), s2)


��� G(A/C, P )� 0
��
$ ��� �8��
�� 
!��� ����
� �	����
(�� ���� σC 
���
G(C, R̂) �	�����	�
��� ��6 �8��
�� 
!��� ����
� �	����
(�� ���� σ/ 
���
G(A/C, P )�

�� ����� � ��	���� *�!
� �!� � ��� 
!��=�� ���� ⊥ 
���
� (q′1, (q, q
′, s, h))�

Y �
→a∈ δC(q′1, π) ��	��$ ��
�*�� C ��� ��
�
�$ a /∈ N � �	�� eR((q, q′, s, h), a)
��� 
� �
�

Y �
 �a∈ δC(q′1, π) ��	��$ 
!����� ��� �	�

�
	�� ���������� ��� �����
�
	��

���
� δ/(q, q

′)$ 	� � a ∈ N � �	�� eR((q, q′, s, h), a) �!��� ��� 
� �
�
�

*���� �&�&" �
 P � A/C ��	�� 
� �6
��� ��� ������%
� %�%����� 
��� G(A, P×
R) 
���
� �� �	�
�
	� (qA0, (s0

P , (qA0, qC0, s0
P , h0)))�

)������ <	�� ���	�� ��
������� 
���
�� ��� ������%
� σA 
��� G(A, P ×R)�
����	�	�� *�� (q, (s, (q, q′, s, h))) ��� ��� �	�
�
	� 
� ?�� G(A, P ×R) ��� *��
�� ������%
� 
��� �� �	�
�
	� ((q, q′), s) 
� ?�� G(A/C, P ) ���� �!8
��	
�� h ���

� �
 �� σ/((q, q

′), s, h) = ((q1, q
′
1, π), s) ���� π = {N, L, A1, . . . , Ap}� 0�	��

�� ������%
� σA 
���
� (q, (s, (q, q′, s, h))) ��� 
!����� ���� (q1, (s, (q, q
′, s, h)))�

0 � 
� ��	���� *�� σA ��� %�%�����$ �����*�	�� 
!�(	�
 *�!
� �� ���� ��	
�

!��=�� 
���
� (q1, (s, (q, q

′, s, h))) ���� ��� ��=�� 
� �� -	��� (q2, (s2, s
0
q′2

))� ,�
�M��$ �
 �!���
� �� ���$ 
� �6
�����
� a ∈ A ��� *�� (a, q2) ∈ δA(q1) ��$ ��
�*��
eR((q, q′, s, h), a) = s0

q′2
$ 	� ����
� →a /∈ δA(q1)� �!	Q �a∈ δA(q1) �� ��	��

δA(q1) ∩ ({a} ×QA) = ∅ CA ��� �	���������� ����
 �D$ �� *�
 ����
� �	����7


��	
�� ���� (a, q2) ∈ δA(q1)�

����	�	�� *�� �!	� ��� ��=�� 
���
� (q1, (s, (q, q
′, s, h))) ���� (q2, (s2, (q3, q

′
2, s3, h2)))�

0�	�� 
� �6
��� a ∈ A ��� *�� (a, q2) ∈ δA(q1)$ eP (s, a) = s2 �� eR((q, q′, s, h), a) =
(q3, q

′
2, s3, h2)� ��� 
� �
�
	� 
� eR$ 
� �6
��� i ∈ ]p] ��� *�� a ∈ Ai$→a∈ δA(q1)$

(a, q3) ∈ δA(q1) $ (min≤A
{x ∈ Ai}, q′2) ∈ δC(q′1, π) �� eP (s, a) = s3� �	��

s2 = s3 ��$ ��
�*�� A ��� �	�
�����
�
���$ q2 = q3� �� ���� ���
 ������

� �	������ *�!
� � � ��� ��=�� 
���
� ((q1, q

′
1), s) ���� ((q2, q

′
2), s2) 
���



;�	�
��� 
!�� ���	���� ����
� ��� �� ���	���� �
���� ���

G(A/C, P )� 0
��
 ��� ����
� �	����
(�� ���� σA 
��� G(A, P × R) �	����7
�	�
 � ��� ����
� �	����
(�� ���� σ/ 
��� G(A/C, P )�

�� ����� � ��	���� *�!
� �!� � ��� 
!��=�� ���� ⊥ 
���
� ((q1, (s, (q, q
′, s, h))�

Y ����	�	�� *�� →a, �a∈ δA(q1)� �!����� ��� �	�

�
	�� ���������� ���
�����
�
	�� 
���
� δ/(q, q

′)$ a ∈ L� �	�� eR((q, q′, s, h), a) = (q, q′, s, h)�
�� ���� �a,→a∈ δ/(q1, q

′
1, π)� :� ((q1, q

′
1, π), s) ��� ��� �	�
�
	� %�7

%����� 
� ?�� G(A/C, P )$ 
	�� eP (s, a) = s�
Y ����	�	�� *�� →a, ��a∈ δA(q1)� 0�	��$ 
!����� ��� �	�

�
	�� ������7
���� ��� �����
�
	�� 
���
� δ/(q, q

′)$ a /∈ N ∪L� �	�� 
� �6
��� i ∈ ]p] ���
*�� a ∈ Ai �� eR((q, q′, s, h), a) ��� 
� �
� �� ���� →a∈ δA(q1) 
���
*��
*�� →a∈ δ/(q1, q

′
1, π) �� *�!
� �6
��� q2, q

′
2, s2, h2 ��� *�� eP (s, a) = s2

�� eR((q, q′, s, h), a) = (q2, q
′
2, s2, h2)� 2� ��	��
��� '���� �	�� ������ *��

(q, q′, s, h) �= (q2, q
′
2, s2, h2)�

Y ����	�	�� *�� �a,b,→a,→b∈ δA(q1)� �!����� ��� �	�

�
	�� ������7
���� ��� �����
�
	�� 
���
� δ/(q, q

′)$ 
� �6
��� i ��� *�� a, b ∈ Ai� �	��
eR((q, q′, s, h), a) = eR((q, q′, s, h), b)� �� ���� �a,b∈ δ/(q1, q

′
1, π)� :�

((q1, q
′
1, π), s) ��� ��� �	�
�
	� %�%����� 
� ?�� G(A/C, P )$ 
	�� eP (s, a) =

eP (s, b)�
Y ����	�	�� *�� ��a,b,→a,→b∈ δA(q1)� ��
�*�� A ��� �	���������� ���7
�
 �$ �a,b /∈ δA(q1)� �!����� ��� �	�

�
	�� _ ���������� ��� �����
�
	��

���
� δ/(q, q

′)$ 
� �6
��� i, j ��� *�� i �= j �� �	
� Ca ∈ Ai �� b ∈ AjD$
�	
� Ca ∈ Ai �� b ∈ LD$ �	
� Ca ∈ L �� b ∈ AjD� ���� �	�� ��� ���$
eR((q, q′, s, h), a) �= eR((q, q′, s, h), b)�

Y ����	�	�� *�� �a∈ δA(q1)� �
 a ∈ N ��	�� eR((q, q′, s, h), a) �!��� ���

� �
� �
 a /∈ N ��	��$ 
!����� �� -	���
	� 
� �����
�
	� δ/(q1, q

′
1, π)$

�a∈ δ/(q1, q
′
1, π) 
	�� eP (s, a) �!��� ��� 
� �
�

�

�!&!� -����� / '� �� �%�
�� Q̂ � C ��� )�� P × Q � A ����


P � A/C!
*���� �&�&# �
 Q̂ � C �� P × Q � A ��	�� 
� �6
��� ��� ������%
� %�%�����

��� G(A/C, P ) 
���
� ((qA0, qC0), s0)�

)������ �	
� P = 〈A, SP , s0
P , eP 〉 �� Q = 〈A, SQ, s0

Q, eQ〉� �	
� σA ��� ������7
%
� �	�
�
	������ %�%����� 
��� G(A, P × Q)�

�����	�
� �&�&�% �	
� R �� ��	������ 〈A, SR, s0
R, eR〉 ��� *�� )

Y SR = (SQ × QA × SP ) ∪ SQ �� s0
R = (s0

Q, q0
A, s0

P )



��� "�� 
��

�(���

Y �	�� �	�� s′ ∈ SQ$ s ∈ SP �� q ∈ QA$ DR(s′, q, s) = DQ(s′) �� DR(s′) =
DQ(s′)�

Y �	�� �	�� s′ ∈ SQ$ s ∈ SP $ q ∈ QA ��� *�� σA(q, (s, s′)) = (q1, (s, s
′))

�� a ∈ DR(s′, q, s)$ 	� � )
Y eR((s′, q, s), a) = (s′2, q2, s2) �
 →a, ��a, (a, q2) ∈ δA(q1)$ eQ(s′, a) = s′2
�� eP (s, a) = s2�

Y eR((s′, q, s), a) = (s′2, q, s) �
 →a , �a∈ δA(q1) �� eQ(s′, a) = s′2�
Y eR((s′, q, s), a) = s′2 �
 �a∈ δA(q1) �� eQ(s′, a) = s′2
Y eR(s′, a) = eQ(s′, a)

*���� �&�&�� R̂ � C

)����� 
 ,� �M��$ ��
�*�� DR(s′, q, s) = DQ(s′) �� DR(s′) = DQ(s′)$ R ��
Q 	�� �� �=�� 
���
�%� �� C ��� �� ���	���� �
���� 
	�� C ������� �	�� ���
��	������ �� (
�
�����
	� ���� �!�� 
� ��� �	
����� �

�	
� σC ��� ������%
� �	�
�
	������ %�%����� 
��� G(C, R̂)�
<	�� ���	�� ��
������� 
���
�� ��� ������%
� σ/ 
��� G(A/C, P )� ���7

�	�	�� *�� ((q, q′), s) �	
� ��� �	�
�
	� 
� ?�� G(A/C, P ) ��� *�� ��� ������7
%
�� 
��� ��� �	�
�
	�� (q, (s, s′)) 
� G(A, P × Q) �� (q′, (s′, q, s)) 
� G(C, R̂)
�	
��� 
� �
� �	
� (q1, (s, s

′)) = σA(q, (s, s′)) �� (q′1, (s
′, q, s)) = σC(q, (s′, q, s))�

0�	�� �� ������%
� σ/ 
���
� ((q, q′), s) ��� 
!����� �� ((q1, q
′
1, π), s) 	Q π =

ΠR(s′, q, s) = {NR(s′, q, s), LR(s′, q, s), A1, . . . , Ap}�

3	���	�� �	�� 
!�(	�
 *�� σ/ ��� (
�� 
� �
 W �!��� � 

�� *�� (ε, (q1, q
′
1, π)) ∈

δ/(q, q
′)�

Y :� � (
�� (ε, q1) ∈ δA(q) �� (ε, q′1) ∈ δC(q′, ΠR(s′, q, s))�
Y �
→a ∈ δA(q1) ��	��$ ��
�*�� �� �	�
�
	� (q1, (s, s

′)) 
� ?�� G(A, P×Q)
��� %�%�����$ eQ(s′, a) ��� 
� �
 
	�� eR(s′, a)$ 
	�� a /∈ NR(s′, q, s)�

Y �
 �a ∈ δC(q′1, π) ��	��$ ��
�*�� �� �	�
�
	� (q′1, s
′) 
� ?�� G(C, R̂) ���

%�%�����$ eR(s′, a) �!��� ��� 
� �
$ 
	�� a ∈ NR(s′, q, s)�
Y �
 �a∈ δA(q1) ��	��$ ��
�*�� (q1, (s, s

′)) ��� ��� �	�
�
	� %�%����� 
�
?�� G(A, P × Q)$ eQ(s′, a) = s′ 
	�� a ∈ LR(s′, q, s)� �
 �a /∈ δA(q1)
��	��$ ��a∈ δA(q1) ��$ ��
�*�� (q1, (s, s

′)) ��� ��� �	�
�
	� %�%�����

� ?�� G(A, P × Q)$ �	
� eQ(s′, a) �= s′ 	� �	
� eP (s, a) �= s� �	��
LR(s′, q, s) = {a :�a∈ δA(q1)}�

Y �
 �a,b∈ δA(q1) ��	��$ ��
�*�� (q1, (s, s
′)) ��� ��� �	�
�
	� %�%�����


� ?�� G(A, P × Q)$ eP (s′, a) = eP (s′, b) �� eQ(s′, a) = eQ(s′, b)� ��
����$ �	��� A ��� �	�
�����
�
��� �� �	�����$ �
 (a, q2)(b, q3) ∈ δA(q1)
��	�� q2 = q3� �	�� 
� �6
��� i ��� *�� a, b ∈ Ai� �
 �a,b /∈ δA(q1) ��	��
��a,b∈ δA(q1) ��$ ��
�*�� (q1, (s, s

′)) ��� ��� �	�
�
	� %�%����� 
� ?��



"	�����
	� ���

G(A, P × Q)$ eP (s′, a) �= eP (s′, b) 	� eQ(s′, a) �= eQ(s′, b)� �	�� �	��
�	�� i$ {a, b} �⊂ Ai�

0 � 
� ��	���� *�� σ/ ��� %�%�����$ ����	�	�� *�� �!	� � ��� ��=�� 
�7
��
� ((q1, q

′
1, π), s) ���� ((q2, q

′
2), s2)� �	�� 
� �6
��� i ∈ ]p] ��� *�� a ∈ Ai$

eP (s, a) = s2$ →a, (a, q2) ∈ δA(q1) �� (min≤A
{x ∈ Ai}, q′2) ∈ δC(q′1, π)�

��
�*�� �� �	�
�
	� (q1, (s, s
′)) 
� G(A, P ×Q) ��� %�%�����$ eQ(s′, a) ���


� �
$ 

�	�� s′2 �� 
	�� 
� � � ��� ��=�� 
���
� (q1, (s, s
′)) ���� (q2, (s2, s

′
2))


��� G(A, P × Q)�
�� ����$ ��
�*�� a ∈ Ai$ �	�� �	�� b ∈ Ai$ 	� � �a,b∈ δA(q1)� "	���

A ��� �	�
�����
�
��� �� �	�����$ �	�� �	�� b ∈ Ai$ (b, q2) ∈ δA(q1) �� 
	��
(min≤A

{x ∈ Ai}, q2) ∈ δA(q1)�
��
�*�� �� �	�
�
	� (q1, (s, s

′)) 
� G(A, P × Q) ��� %�%�����$ 	� � �	��
�	�� b ∈ Ai$ eP (s, b) = eP (s, a) = s2 �� 
	�� eP (s, min≤A

{x ∈ Ai}) = s′2�
�	�� 
� � � ��� ��=�� 
���
� (q′1, (s

′, q, s)) ���� (q′2, (s
′
2, q2, s2)) 
��� G(C, R̂)�

�� ����� � ��	���� *�!
� �!� � ��� 
!��=�� ���� ⊥ 
���
� ((q1, q
′
1, π), s) 
���

G(A, P × R)�
�
→a∈ δ/(q1, q1, π) ��	��→a∈ δA(q1)� ��
�*�� (q1, (s, s

′)) ��� ��� �	�
�
	�
%�%����� 
��� G(A, P × Q)$ eP (s, a) ��� 
� �
�

�
 �a∈ δ/(q1, q1, π) ��	�� �a∈ δA(q1) �� a /∈ NR(s′, q, s) 
	�� eR(s′, q, s)
��� 
� �
� �	��$ ��
�*�� (q1, (s, s

′)) ��� ��� �	�
�
	� %�%����� 
��� G(A, P ×
Q)$ eP (s, a) �!��� ��� 
� �
�

�	�� ��� ��	��
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